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000000000000000000000000000000C0 2000000000000000
000000000000 00000000000000000000000000 20000000
0000000000000 0000000000000000000000000000000000
ooooo

00 3000000000000000000000000D00D00O0O0DOO0DOOaOn
(1,1,2),(1,1,3),(1,22) 0 0(1,1,0) 0 O0(0,22) 0 0000000000000 N-OOOOOO
00000000000(L23)00000000000000N-0000000000000000 P-
0000000000000 00000000000000(L4,5)0 (24,6)00000 POOOOOO
0000000000000000000(5,7,9)0PO00000 (152330)0 POOO0O0O00

000000000000 0000000000000000000000000000000000
000000O0O0nm-sumd0000000000000000000000000000000 PO
O00ON-O0DO0OO0OO0O0000000000000000

1.2.2 nim-sum

20000000 nim-sumdObase2Z10 0000000000000 0000O0ODOOOOOOO

D000000 xO0OOO 100 base 20 X = Xm2™+ Xm12™ 1+, 4+ X2+ % (MOOO0D0;0 x 0 00 1)
D00D0000000000 (XnXm-1...X1%), 0000000 022=1-16+0-8+1-4+1-2+0-1 = (10110}
000000200000 nim-sumOO200000000000000000000 mod200000
dooooooooooooad
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m Definition  (Xm...X0)2 O (Ym...Yo)2 O him-sumO O (Zn...Zp)2 O O (Xm...X0)2 @ (Ym.--Yo)2 = (Zm...Z0)2 0 O O
O0000KkOOOOOzZ = X+Y(mMoR) 000000 +Ww=100 z=1000000000 =0
0000000010110 (110011) = (100101) 0000000 22951=370000000000
dooooooboooooboooooooon

22 = 101106
51 = 11001%
nim-sum = 10010%

nim-sumd Omod20 000000000000 (.e.xe(y®2 = (xey)ez2 00000 (i.e. Xdy = y®X)
0000000000 UU00oOoorderD00U00ODOO0UOUOXeyZzOOOOOOOOOOOODOO
D00 Oex=x)00000000000000 (xex=000000000000xey=xez00O0O
O0y=z0ODOOODODDODOOOOOODOOxexey=xexezO0OOOOOOOOO

O00O0O0Onim-sumd 0000000000 CO0O0O0000000O0OOOOOOOOOgame of nim
00000000 00oU0U0oo0U00o00UoooUoUooooon0 Cl.Bouton(19020 000
ggagogoobon

mtheoreml nimO0O (X, X, X)) OOOO0OO0OO0OO0O0O 19%éX=000000nm-sumO0000 00O

ooooooPODOOOO

10000000(X,%,X%3)=(13128)0 000000000000 POODOOOODODOOOOO
000000000000000 131280 nim-sumO0O000000

13 = 110%

12 = 110G

8 = 100G
nim-sum = 100%L

O000nm-sumd 90 0000000000000 10000000 N-OOODOOOOOOOOOO
00000o00o0O0ooOO0oOoooOoo0ooOoooooooO0D 100D0D0bO0o0o0 PODOOOOODOO
00000000000o0oDo0o00 1000001300000000090000000000D40
O00000Onim-sumd 0000000000

4 = 100

12 = 110G

8 = 100G
nim-sum = 000G

O000000000001200000000 700000005000000000000000000
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000000Doo0oo30000000000000000O0O000080UUUUOoOD 700000
100000

123 00000O00ODOO nim

10000000 nimO00O0000002000000003000000000000004000
0000000000000 000000000000000 1000000000000000000
0040000000 nmOO000 (X, X, X, X) 00X @%@ Xs@x=00000000P0000
0000000000000 0000000000000000

1.24 BoutonOOQOQOQOO

P 0 nim-sumd 0000 nimOO0O0O0O0ONOOOOOOOOO nimsumO0O0O0000000O0O
00001300000 300000upoooooooo

(1)) OO0 tergetpositio 0P OO0 0000000000 OOONIMOO terminal positiond 00O O
000000000000 o0o0o0o0O00e0e...=0

QNODODODODOODOPOODOOO0D0O00O00O0OO0O000000O0O0 Nim-sumOO0O0100000
00000l00000000000dD0oDOoooo00oo0oDO0DO0 10D0D0DOooDOoooon
0000d0000000o0oooooooooooooOoooD 100000 UOOoOODOOOO
0000000000000 o00oooooo0ooDoPO000000000

S UUUPUUOLOOOOOCOUONOOOOOOOOOD(X,X%..)O0PO0000X0O X;<x 00
DX’1DDDDDDDDDX1€BX2€B...=0=X’169X2€B...DDDDDDDDDDDDDDDDDDD
DDDDDDDXlzxiDDDDDDDDDDDDDDDDDX’l@Xzea...iODDDDDD(X’l,XZ...)
ONOODOODDODOoOoooooo

(2U0U0OnmOO N-OOOOOOOOOOO0OO0OO0OO0O00OOCOOO0 1000000000000 1000
godd0l10000000O00OooOdO0oOOo0bOod0oOo0o0bDOoOo00ooDOooooOOoUoDogboooo
goo

1.25 Misére OO OO nim

misere00 0000 nmO0O00000000000O0000O0O0O0O0O000O0OO0O0OO0OOOO0O0O
00000ooooO00oooooO0oooOoo0U0oooOoooU0ooooOUoD 1000oooooOoooon
000000000000000 misere0000 nimOOO0OO0OO0OO0O0OO BoutonOOOOOOoOGOO
00000 2000000000 200000000000000 NMOOOOOOOOOOOOO0O
00000000ooooD 2000000000 1000000000000 O0O0O0DO0OOODO OO 1
O0000Do00oo00oooon0D 10000000o00oooooooon
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nmO0000000002000000000 100000000000000nim-sum0 0000
O00o00d00moo0 2000000000 2000 000000DOOOOO0DODODOOOOODOO
00000000 2000000000 100000000000000000000O0000O00OOOOA0O
googno

0000000000000000000000000000 mistre0 0000000000000
0000000000000000 300400000 KaylesOOOOO Dawsonn OO OO0 OOO0O
000000000000 000000Omisere0 0000000000 OOOOOOOOO

1.2.6 Exercise.

1. (@)270 170 nim-sumO 00O
27=(11011),17= (10001 O O O

27 = 1101%
17 = 1000%
nim-sum = 101G
nim-sum= (1010) = 10
(b)380 x0O nim-sumO 250 0000x00000
38=(100100),25= (11001 0 OO
38 = 100100
X =
nim-sum=25 = 1100%
000 x=(111101) =71
2. nmO00000000000000
(120019002700 3000000
12=(1100),19=(10011),27 = (11011> 0O DO
12 = 1100
19 = 1001%
27 = 1101%
nim-sum = 100,

nim-sumd 0000000 OBoutond 00000000 O0 N-OOOODOOOD0OO0O00O000 1
000000000001200000000 40000000 8000000000
(0)1300170019002300 4000000

13 = (1101}, 17 = (10001}, 19 = (10011}, 23 = (10111 0 O O
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13 = 110%
17 = 1000%
19 = 1001%
23 = 1011%
nim-sum = 11000

O000OBoutond 00000000 O0O0O0O0D 30000170000000008000000
09000000 1900000000080000000 11000000000 2300000
000080000000 15000000000

()OO Omisere0 000 nimOOOO0O00(@)(b)DOO0ODO0O0
200000000010000000000000000000000000

. Nimble

nimble0000,1,2,3.0000000000000000000000O0O0OOOOOOOO0O0O
000000000oo0o0O00l100000000 2000000000000D00O00C00O00O00O0O0O
000 1000000000000 0D00000000000000O00DODO0DODOoo00o0Od
gobboooobobobooooobobboooobobboooobobboooobbboooon
0000000 Oo000000000o0oU0DOoU0O0OOoO000Oo00OooUooDoUoooOoOooOo
000000000000 NimO0000000000000600000000O0O0000O0O0O
gooboboooobobbboooooboboooobobboooobboooobobboboooon
gobooboooooboog

0000000 nO00000000 100000nO00O0O0O0OO0OO0OODO 100000000
godooooobooooooooootoooooooooooooooobooouoooooon
0000000000000 b0000DL0000L00O0U0DLD0O0O0DODNMOOO0ODOO0O0ODOOnDO
J00000o0ob00o0ooooOobobooUo 40001008000 2009000 10010000
10013000 1000 e0000000O00O0O0O0OOOO4000DDODOO0O 1008000000
020090000000 100100000000 100130000000 10000 6000
0000 nimO0 0004 = (100),8 = (1000, 9 = (1001}, 10 = (1010}, 13 = (1101 00 O
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4 = 100

8 = 100G

8 = 100G

9 = 100%

10 = 101G

13 = 110%
nim-sum = 1010

nim-sum-0000000000N-O0000D000000000000O0O0O0OO0 BoutonO
0000 400008000000000 20000009000 0D0O0O0OO0 300000010
000000000 0000000300 oooooo 7000D0O0ODOOO

4. Turning Turtles
HW.LlenstradOOOOOOODOODOOODODOOODOODOOODODODODOODODOOoOOoOoOOoOoo
0000000000000 0000o00U00U00oDooO0Odd Tuming TurtleD0OOOCOOOO
oo
nd00000000000000000ooD00ooooooO00ooDooooDoO 1o0000on
do0ddoo0ododdoodoodooOddoo0ooOo0odobOO0 l100dooooooooo
0000000000000 Od0On=13000000000

T H T TH T T TH H T H T
1 2 3 4 5 6 7 8 9 10 11 12 13

HOO (Headg TOO (Tail) DO OO

000000000000 100000090000 00000000DO000O0O0OoooOoO40
gobooboooboooboboobboobboooo
(@nOo0o0000HONODONMOOOODODODOO0O000000000000 nimOOO0O00O0O
goooobood
NnJOD0O00D0DHONOONmOOOOOODODO0O0OO00O000000000000000Nn0O0O0OO
gbooboobogoboobbuoobboobooobuoobboobboooboooboobn
ooOnO0OOOOOCODOOO0OODDOODODOOODODODOOODDOOODbDDOOODDbDOOObDO
0000000000000 0000000000000000000000020000000
000000000000000000000000000NMO0O0O000000000000
00000 200000000nim-sum0000000000000O0 nimO POOOOOOOO
o000 POO0ODOODDOODmM1I0000DOO00DOOOO0OOOODOO0ODOOODOPOOO N-O
00000000 NnimO000000000000000000000000000 nimOOO
gooogobod

(M@UoOoooOo000D0ooooo00ooooooooooooon



18

2 = (10), 5 = (101), 9 = (1001}, 10 = (1010}, 12 = (1100p 0 0 O

2 = 10,

5 = 10%

9 = 100%

10 = 101G

12 = 110G
nim-sum = 1000

nim-sum-000000000 N-OOOBoutonD OOOOOOOO0OO 300009000000
O000000ooO0ooO00Do0loooo0ooooooooooooooooooo1oo 2
0000000000000 000000l20000000000000D00DO040000000
dooooooooooooooo

(D000 0D0DO00DO00U00OO0O000 httpy/www.chlond.demon.co.y€oins.htmlO O 0O 0 0O O
oo

. Northcott's Game

NorthcottO 0D OD0O 0000000 10000000000000000D00OO00OOOOOO0OO0
00000 ODO00000oooOooooOODO0000000000 100000000 000000
goooobooobooboboobbooboooboooboobbooboooboobo
0000000000000000D0000000 httpy/www.chlond.demon.co.ykorthcott.html
goooobogn
20000000000000
1.00000000000000000000000000000000partizangamé& 000
2. 00000001.1.2(6)0 the Ending Conditioml 0 0 0 0000000000000 O0OO
gobooobogn
O0000nNnmO0O000000000000000000O0O0O0O0O0O0O0O00000000O0O0
gbooooboooboobboobooobooboboooo
000000 terminal positiord 0000 2000000000000000000000O0OO
gbboobogobuoobbuodobboobooobuoobboobobooboooboobon
goboooboboobobboooboo obbooobboooobooobbooobobOoon
000000 terminal position] 000000000000 0OOCOO0O0 POOOOOOOOO
00o0000o0oooo0o0Uoooooo0oU0ooDooo0UooooooooUoooDooogo o
gbbogobogoboobbuoobboobooobuoobboobboooboooboobn
42353621 000000000000000000000000 nimO000000O0O0OO0O
gooboobogobooobboobboobooobooobooboboooboooboobo
O000nm-sumOO000000000OPOO0OO0O0O000OOO0OO0O1I000000000000
O000POO0O0OO0OO0O0OODOOOOO0O0OOOOO NmOOOOOOOOOOOOO
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1= (1), 2 = (10),3 = (11), 4 = (100), 5 = (101), 6 = (110} 0 O O nim-sum= (110, 00000
OON-ODODODODO0O0000000D00000000

. Staircase Nim (Sprague(1937))

Nn00000000000000000000000 (Xg,X%,--X)00j000 x(j=21.n)000
D0O00000000Ostaircase ninl D000 jO00000000000000 j-1000
D00000000 (0U0)0000000000000000j0000 x00O0DO00oOoO00oO
j-100000000000j000 x-x000000000j-1000 X4+Xx00000
D0000000000000000000000000000000000000000000
00000000000000000000000

(X1, %3, .. x)(NO 0000 k=n000O00 Kk=n-1)0000000000000000000
NMOODOO0 POOO0OO00 (X, X,.. %) 00PO000000000O

. Moore’s Nim

O0O0000O0 NmOOOODOOEHMoore(1910J 0D O0O0OODONmMOOOOOON
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0000000000000 0000000000o0Uo0 koo)ooooooooooo
0000000000000 00dgdoOnmOC0O0O0DOO0OU0OOOoOoooooOooooOoo
010000000000000k=10000000 nimOO0O0ONim; O0O0O0ONimy O
httpy/www.math.ucla.edutonyGamegMoore.htmliD O O 0 00000

MooreO O 000 (X, X2,..%) DO nim-sumO 00000 x 00 x,DO0O0O0O0O00O00000OO0
Omodk+1) 000000000000 O0UMIUOOO0OOO0OUOUOUOD 1000 k+10000O
O000U0O0Uoooooo@mNmgO POOCOOO

(a)Exercise3] NimbleD O OO OO O0O0O00O00O00O000 100 2000000000000
000000000000 Moored NimO k=2000000000Moore0 0000000
Exercisedl NimbleOO OO N-ODOO0OO0OOOCOUOUOOPOOOO0O0OO0OOODOOOCOOO

4 = (100), 8 = (1000),9 = (1001}, 10 = (1010),13=(1101» O 0O O Moore 0 0O 0O U O 0O mod3
gooooooono

= 100G
= 100G
= 100G
= 100%
10 = 101G
13 = 110%
2212

© 0 00 M
|

O00ON-OO0D0ODODODODOOOOPOOOOOOO0OOO8O 130000000 7000000
90 130000000 60000008000 20000000000 70200000000
oono



(b)MooreC DO OO OO OO
(c)Moore NimyO misere0 000000000000 O0O

21
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1.3 Graph Games.

0000000000000 00000000000o0000D000O00D0DO0o00000o01.1.200
dooooobooooboooboboooooooooooooooooooooooooooon
0000000000000 DOdoD POOONODDODOODODOODODOOODODOODOODOO
0 Sprague-Grundy OO O0O000000O0O0O0O0OO00OO

131 0O0000O0O0O0ODOOOO0ODODOOO
O0000000o0oo0o000000ooo

m Definition0 0000 GUOOOOOOOOOOOOODOO XOOO XsxOOOODOOXOOoOoo
0OXoFXDOOOODOO FOODOO (X,F)OOODOOX>xO0O0OOOF(XOOXxO0O0OO0OO0OOOO
000000000000 (xO follower D000 O0)JOD0O0OFR(X)OODOOOOOXO terminal position
gogd

200000000000000000000 X>xOOoooooooooooooooG=(XF)O
Joooooooooooon

(HOOOOOOUO xOoOooooooo

(20oo0o0cooooooooo

(3)00 xO0ODOD0OO0000000D000000yeF(X)OOOO

AHooooooooooo terminal position D 0000000000000 O0O0OO0OOOOOOO
ggd

OO0 graphgameS OO0 00000000000 COOOO0O0O0OO0OOOOOOOOOOOOOOOO
00000000000 000 0000 OOxO0oooooooooo n00ooboooo ngogo
D000000000000dx eF(x)(i=1,..mMOO0O0O00)0000 X, X1, Xp,.. 00000
O000dU0Ooooooooo progressivelyboundedd DO OO0 XOODOOOOOOOODOOO (OO
Xo = Xm O O X, X1, o0y Xmea(M>3) 00000000 X X1,....,Xn 000 0)00000C0OOOO

00000000000 S={,23j000000 (L.l100000)OnO00000O000000O0O0O
000000000000 U0UoOooX={01.,nf0000000CC0000000U0UOOOO4dd terminal
ODO0O0O0OF0)=00000000 FA)={0,F)={0,1}002<k<n0000F(K) ={k-3,k-2k-1}
000odoooooooooooobooooon

gooboboboboboboobobobobooooooDooDoooooooooooooooo
000000000000 ooOoOooDO0oOoo0oDoO0On 1.3.100l100o0ooooooooooo
subtractiongama 0000 0O0O0O0oooOoOoOOd
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O 1.3.1 The Subtraction Gam8 & {1, 2, 3})

1.3.2 Sprague-Grundy O O

O0000POOON-O00O0O00OO00O0O0O00OO0ODOO0OO0O0O0O0OOSprague-Grundy 000000
gboooobogoo

m Definition Sprague-Grundy 00O 00O (X,F) O Sprague-Grundl O O OXOOOOOOOOOO
0b0boo0dgooboboooboobobooboo

gx) =minfn>0:n=g(y) for yeF(x)} (1.2)

g(x) O O x 0O follower O Sprague-Grundg 000 0000000000000 0O0O0O00O00OO0O
000000000000000000000000 minimalexcludentD 000 mexdOOOOOOO
0o

9(x) = mexg(y) : y € F(x)} (1.2)

googad

gX) 0000000000000 gX O0OxO0O00OO followeryOODOOOg(y)DODOOOODOOO
O00000000000000000000terminal 00 xOOFXOOOOOOOOg(x)=000O
O00oooOood xO followerO terminalD 00 0OterminalD 00 xOOg(X) =100 00000000
O000g(X)O0O0O0O0O00000000000o0o00o00Ooooooo progressively bounded O O O
O0000000000000Sprague-Grundy OO 00 1000000000000000O00O0OO
000134000 00000000000000000D0O0OOO0O0O0OO0

0000 Sprague-Grundy 0 g0 0000000000000 OCO0OOO0OO0OOOOOODOOOO
gx)=000000 xOPOOOODODODODOOOOON-OODOOOOODOODODODOOOOOOOOO
Sprague-Grundy 0 0000 000000000000 O00OO0O0O0OO0O01.13000000000000
gooooooooooon

(1))O 0O x0O terminal positiord 0O g(X) =0

@ogx)=0000 xOOOOOO followeryOOg(y) #00000

B)agx #0000 xOOOOg(y)y=000O0OoOOfolloweryOOOOOO 10000
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Sprague-Grundy 00000 PON-OOODOOOOODOOOOOOOOOO00OO0OOODOODOOOOOO
0000000000000 400 Sprague-Grundy 00 000000000000 sumO0OO000O0O
goobooboooboobobooboobo

133 O

1.SGU (SGUUOUOUOOO0DO0OOO0)00000UoO0oO0O000oooo0O0OnO 1.3.200000
Oo0o0ooO0ooO0osSGUUOOO0OO0OO00OD0OD0O0O0O00()D0ODO (2DoSGUUUOUOOOO
gbooboobogoboobbooboooobg

0132

0000000 terminal positiond SGU O 00000000 CO0OO0OO0OOOOO400 terminal
positon0 000000000 followerJ 10000000 a00000O00O0O0OOO follower
0000000000 100000000000o0o0o0 followero SGOOOOOOOOOOO 2
0000 bOcOOOUOOO bOOOO 1000 followerDOOOOO2000000000 cOO
SGUO 10 follower0 OO O01000000000000O0O0 OO0OOOOOCcO SGOO O
00000000000 followerd SGOOOODODODOOOOO 300000000000 SGO
gogoooooooboboboboboboboooood

2. subtraction sef = {1, 2,3} O subtractiongamé& SGO OO OO0 terminalD 00 00 0SGO O
000D 100g(0)=000000000000000¢g(l)=10000 2009(0)=0,g(1)=10
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00 0010000000¢g(2)=20000 300¢g0)=0,g(1)=1,g(2)=2000 00102000
000 g(3)=300000400SGO0 1020300000 10203000000000 g(4) =00
0000000000000O0

x 01 2 3 45 6 7 8 9 10 11 12 13 14
g 0 1 2 3 0 1 2 3 0 1 2 3 0 1 2

0000 g(X)=x(modkd)DOg(X) O xO 40000000000000

3. At-Least-Half
0do0doo0doodbOdoodoDdooOdooOooDO0 100000 oDOoooDOooDOoOooOoon
terminal positiord 00 0OO0OOCOUOO SGUOOOOOOOOOO

x 01 2 3 4 5 6 7 8 9 10 11 12
g 0 1 2 2 3 3 3 3 4 4 4 4 4

gx)00g(X) =mink: 2> x0000x00000000 2000000000000000
000000000000 00000000000000000000000000000000
000000000000 00000000000000000000000 SGO0O00O0O0
ooooooO
0000000000000000100000000000000000000000000
0000000000000 0000000000000000000000000000000
0000 nim-addiion0 0 000SGOOO0OOOOOOO

134 000OO0OO0O0OO0DOOO0O Sprague-Grundy O O

progressively bounded 0 0 00000000000 O0OO0OO0O000OD0OO0OOO0OO0OO0OOOOOOOO
000000000 Othe graph be progressively bounded is weakened to requiring only that the graph
be progressively fint€ 0 0000 0000000000000 000O00OO00OOOOOOOO0OO
progressively finteOO O OO O0OO0OO0OO0OO0ODOO 1.1.2(6)d the Ending Conditoml D O OO OO OO
gddogdgoooooobon

progressively finité] O O progressively bounded 0 0O 000000 0OnmOOO0O0 00000000
0000000000000 000DO0 1.3300000000000noooooooooooooo
O0000O0OoooooOo progressivelyfintel OO OO O000O00O0O0O000OO0OOCOOO0OOO
00000000 progressively bounded O 0O O

Sprague-Grundyl O O O O progressively finite] 0 0 0000000000000 transfinited O O O
O00000000o0DoOo0n 133000000000 sGoouoouonoooouonoooooooo
000000 w000000000000SGO0 w+lw+2,...,20,..,0% ..., 0.0 NimO0O0000
O000OExercise@1 00000 transfinite S 0 0000000000000 O0O0O0OO
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0 1.3.3 progressively boundedl O progressively finitél 0 0 O

O0oo000o00O00000000000000000000DODUDO@UUuOUOD SGooooOO
goooobooboboobboobboooboobobo0oboooboooboobbooobooboo
00000000 SGUOO0O00000DONDDoDOOooO0000DooDoooooOooooooon

0134000000

O0000000the Ending Conditiol OO OO0 OODO0OO0OO0OO0OO0OOOOOOOOOOOOOOOOO
do00oddoobooooboooooooooboooooboooooooooooooon

OO0 e000000O0SGUO OUedOdOOO 100 followero OO OdO SGODO 10000Oc
0000000000000 0000000d0odD000o0000o0o00000o0o0 1000000
000 ad0OO000O0OD0 200000000000 cOOOOODOO0OO0OOOOODOOODOOOOOOOO
0000 abcabc..0 0000000000000 00OO0ODOOOOOO ab,c0d0d00OC0COCOOOO (tied
position\D 0O OUOOOOOO0O Sprague-Grundy 00O 0OooonO

Sprague-Grundy) 0 000 0000000000000 O000OCO0O0OOO0OOOOOOOOOOO
0000000000000 0000000O0Exercise W 000000000 O0OO0ODOO0OOOOO
Sprague-Grundy 0000 000000000000 O0SGUU OUO0OO0OOOOOOUOOSGUO 0O
gooodoooooooooboodooooooooooboooooooo oooboooooon
O000000000000000000000200 Exercise 31 Northcott's Gamel DO OO OO0 0
do0o00ooobooooobooooooooooooooooooooooooooooooooon
O00O0U0oUdooooSprague-Grundy 0000000000000 OOOOOFraenkel(20020 000
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1.3.5 Exercises.

1. Sprague-Grundg OO OO OO

O 135

2. subtraction seb = {1, 3,4} O O O subtraction gamél Sprague-Grundy OO0 00O
terminal positiord 0000 O00g0)=0010000000000000¢g(1)=102001000
00000009(2)=00300020000000¢9(3)=104000,1,30000000g9(4)=20
ooooobood

x 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14
g 0 1 0 1 2 3 2 0 1 0 1 2 3 2 0

0 0O O O Sprague-Grundig O

0  (X(mod7)=0,2)

1 (x(modr) = 1,3)

2 (x(modr) = 4,6)

3 (Xx(mod7) = 5)

3. 0000000000000 0D0000DLD00D00D00DO0UOD 10000 0oOooDOoOooDog
000000000000 100000000000000Oterminal positiord 000 10000
Sprague-Grundy DO OO0 0O
terminal positior] 00,10000¢g(0)=0,g(1)=00200100000000009(R2Q)=10300
20000000000¢9(3)=004002,30000000¢g(4)=2000000000

g(x) =



x 01 2 3 45 6 7 8 9 10 11 12 13 14 15 16
g 0 0 1 0 2 1 3 0 4 2 5 1 6 3 7 0 8

4, (2000000010 n0O000NnN0O0OC cOOUOOOOOOOCO 100000000000
O000000012000000001,2,3,46,121 0000000000000 100 terminal
positionT 000 0O 0 0O 0 OO Winning Waysl ODim* 0 0 0 00 O Sprague-Grundy 0 0 0000

x 01 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
g 0 1 2 1 3 1 2 1 4 1 2 1 3 1 2 1 5

MoOoODoDooo0000D00000000000000oDoo00o0ooooOooogoaon Sikver-
man(1971) 0 000 0OAliquotgamel D 00U OO0DUOO0OO0OOD 1200000000000
123460 0000000000000 100 terminal positiorid 01 0 O O O Sprague-Grundy
gooooao

x 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
g¥) 0 1 0 2 01 0 3 0 1 O 2 0 1 0O 4

5. Wyghdt’'s Game(Wythd(1907))
wythof 000000000000 00000000000000000000000000000
0oodooooboboooooooooboboobobodddooobobooddoooooboogoao
ggooobobbooooooobbb oo ooobbboooooooobbboooo
ggooooooobobobbooboboboobbtbdodddooooooobobobbbbbobobo
000000000000 graphgamel 0008x80 000000000 OO Sprague-Grundy
0000000000 Sprague-Grundy 0 OO0 00O

7/8(6]9|0]| 1 5
6|7/8[1({9/10| 3 |4
5/3(4|0|6| 8 |10]|1
4,/5|3|2|7]/6]9]0
3/4/5|/6|2,0| 1|9
2/0(1|5|3| 4| 8|6
112|045 3|7 |8
0(1(2|3|4| 5|6 |7

6. Two-Dimensional Nim
Two-DimensionalNimD 000 0000000000000 D0O00O0O00D0O0ODOO0O00O00O0
0o00oddooboooooboooobooooooooooooooooooooooooa
0000000000000 0000000oo0o0o0o000o0o0oo0ooDoOooDOo0D 2400
Exercise 31 NimbleO OO O OO OO
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(a)Sprague-Grundy O O OO O

ORI N W|h&~l O
WIN| P O|INIO

OO | N|O|PF
alhiN| O || O

NITW IOk | O |

RlOjlwWwiN| O &

(oOoOOoOoDO0D0D0D00O000000000000000000DO0O0000DO0oOoOOO000O0
00000 POOOON-O0OOO OON-ODDOODOOODODOODOO OOOOODOODOOO
gboooobodg boobbooboooboobobo

(c)0ooOoO0O000L0O00U000000000D000000o00oooo0o0o0ooooooooon
oooooooooon

7. 00000 subtraction sefl subtraction gamé OSprague-Grundy 0 00000000 OC0OOO
ggad

8. Impatient subtraction games
Subtraction gamé& OimpatientC 0 0 0000000000000 0O00O0O0OOO0OO subtrac-
tonsetSO0 sOU0OU00O0O0D0DU00OU0OCOO0OO0OO0OU0OO0OUODUOOOUOOOUOOUOOOOY(X) OO
subtraction sef O subtraction gamél Sprague-Grundyl O O O O Og*(x) O O subtraction se$ O
impatient subtraction ganié Sprague-Grundy 0000 0g"(X) =g(x-1)+1forallx>100
googga

9. 00000U0UUUUOUOOOOprogressively finitel 0000 OO OP-N4O OO Sprague-Grundy
dooooooooooon
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1.4 Sums of Combinatorial Games.

gooooooooboboboboobbboobboddddoooooooooooobobooboboooooo
ggodoooooooobooobboboobotbddddoooooooob bbb bboboboooo
000 100000000000000000000000000000oooo0oOoooDoOoooOoo
O0000000000000000000000 terminalpositor 00000000000 0000OO
gdooooooobobobobobobboboobobbobdddddooooooooooobooboobooooooo
OO0 (disjunctive(CO0O0))sumO 0000000000 sumOOOO0O0O0O0OO0O0O0O0OoOoOooOoOooOO
0000 Sprague-Grundy O O 0 sumO Sprague-Grundy 000 0000000000000 0OO0O
000 00R.P.Sprague (1936-7) P.M.Grundy (1939 00000000

1.4.1 The Sum of n Graph Games.

G1 = (X1, F1),Gy = (X2, F2),...,Gn = (X, Fn) DO O nO0O progressively bounded DO OO0 OO
000000000000 000000000 G =XF)O00G:,Gy,....Ga O sumOOO0OOG =
G1+G+..+G, 000000000 XO0OOO X=X3xXxXx..xX, OOOOOOOOO0OO n-tupleh
0) (X, Xg)st.x eX (i=1,2.,n000000000 X=(X,..., %) € X O follower0 000 0O
gooooooood

F(X) = F(Xg, ..., Xn) = F(X) X {X2} X ... X {Xn}
U {X1} X Fa(X2) X ... X {Xn}
U..
U {X1} X {X2} X ... X Fn(Xn)

O000X=(X,..%) 0000000x 010000 follower Fi(x) DO OO0 1000000GOO0
00004 graph gamél O graph gamés, ...,G, 0 sumOd O O O
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000000 GjOoprogressively bounded O OsumG OO 0O 00O OO progressively bound O 0O O
00 x=(,...%) 00000000000000000000000000O000O sumOOOO

O000O0OnmO 3000000000000nmO 10000000 300 sumO000000000
doodooobooooobooooooooobooooo sumdoooooooooa

1.4.2 Sprague-Grundy O 00 O

0000000000000 0 Sprague-Grundyl 00000 ODO OO O Ograph gamel sumO
Sprague-Grundy 00 000000000000 0O0U0O0OOCUOOO0OOO0OOOO nimsumdOOO0O0O
O0graphgamel sumO0 0000000000000 O0000O Sprague-Grundy OO nim-sumd O O
O0000000000000 10 BoutonDOOOOOOODOOODOOODOODOOODOOOODO 10
goooooono

m Theorem?2 O0O0g O Gi(i=1,..,n)0 Sprague-Grundg 0 000G =G+, ...,+G, 009(X) & ... ®
On(Xy) OO0 Sprague-Grundya OO OO O

00)X= (X X)) D XOOOOOOO0O00b=01(%)®...0 () 000000 g(X,... %) 0000
000200000

(1) 0000000 a<b00O0O00gOOO0 addO (X,...,%,) O followerd 00O
(29000 bOOO (Xg,...,%,) O followerO 0O OO

00 followerD 100000000000000 SGOOODO xO SGOOObOOOOODODOOO
(1)0000000d=aeb000d0 200000000000 kOoDOOODO 2t<d<200
d0D0000 KkOOOOOOD 10000a<b000b0O0 KkOODDOOO 100a00000 00000
b=g(%)@..00(%) 00000000 100 g(x)0 20000000k000 1000 x0000
000i=100000deg(x) <) 0000x0000:(X,)=deg(x)000 x,000000
0000 (X1, %5000 %) 00 (XX, s %) 000 000sumGO 0000000000000

01(X}) ® G2(X2) ® ... ® Gn(Xn) = d @ G1(X1) ® Go(X2) B ... B Gn(Xn) =d @b =2a

000 UU000000(x,...%) 000 gOO0O followerOOOOOOOCOODODOOODOOOOOOO
(X35 X2, ..oy Xn) O (X1, X2, ..., Xn) O follower 0 0 0 O O [91(X))@G2(X2)®...8Gn(Xn) = 91(X1)®02(X2)®...00n(Xn)
000000000000000000006(X)=0(x)0000000000000 SGOO follower
dooooooooooodm

00000 10000000000000sumO000C00O0000OCOO00 progressively bound
00 impartialgamed 00000 nmO0OO0O0000000000O0O0O0O0O0O0O0OO sumOOO0O0O0O
O000Ooooooo (Sprague-Grundi) D nimO00CO0000000D0O0OCOOOOO0OOOO
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O00O0OoOoouooooooo (progressively bounded O O)impartialgameéd OO OO OO nimO 00O
00o0o0oboooboobobooobo

1.4.3 Applications.

1. Subtraction gamé&l sum
subtractionseb, = {1,2,.m0 100000000100 mOOOODOOOOOOOOOOO00OO
0O subtraction gam&(m) O O Sprague-Grundiyl O gm(X) = x(mod m+ 1)(0<gn(X) <m 0000
300 subtractiongamé sumO0O0OCO0100000000m=30 9000000000004
200000000m=50 100000000300 000000m=70 14000000000
O0000000GR)+G(B)+G(7)0 000000 (9,10,14)0000000000000000
0000000000 Sprague-Grundy O 0 g(9,10,14) = g3(9) 2 95(10)® g7(14)= 1o 406 =3
O000U000ooOo 1000G6(7)0ouoon Sprague-Grundy O 50000000000000
00001400000000 1000000 13000000000000 1000000000
O00000000 (G@) D000 Sprague-Grundy 0 200 00000000000000 9
00000000 3000000 e6e00UoUUoUooooO)U
O0O0O0Sprague-Grundy 00000000000 0OOOCO0OO0OODO 100000000000
Sprague-Grundy 0 0000 0000000000000 0O 100000000000 1000
OnmOOO0OO0O0O00O0OOOOSprague-Grundy 00 0000000000000 sumdOO0Qd
dooooogobooooooooo

2. Evenif Not All - All if odd.
(Hooooooooooooooooooooo
(2 000000000000 UUOUOUD0O0ODDO0COO0UOOOUOoOoon
000 ()0 (uooOU0ooo0o0oo0 1000000000000 000200 terminal
positon0 00000 200000000000000

x 0 1 2 3 45 6 7 8 9 10 11 12
g 0 1 0 2 1 3 2 4 3 5 4 6 5

000092k =k-19g(2k-1)=k(k>1)0000000000

000000 10,152000 300000000000 D0D0OD0OO0ODO0DOOOOOOOOSGOO
9(10)=4,9(15)=7,9(20)=9000046769=10000000000000 N-OODODOOOO
O00DoOoooosSGLO o9UU3000nuooooonDoo2000000000 1200000
000g8)=3000 8000000000000

3. A Sum of Three Dfferent Games

30000000 Take-awaygam@ D0 00000000001 0000000 1800000
000000000000 EvenifNotAl-Allifodd D OO0 020000000 17000000
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000000 At-Least-Half(Example 3.3.3) 00030000000 700000000000
0000 nNnmO0D00000030000000 SGUOOOOO 8570000000 nim-sum
01000N-000000100000000 SGUO 20000000000P-00000O0O
0000000000300 6000000000 0OO0ODOOODOOOO1800 3000000
0001800 600000000D0OCOOU0ODOOOUOOOI8OO0ODOOOOD 1200000
ode0O00OOoOoOOoOO

1.4.4 Take-and-Break Games.

0000000000000 0000UOoO0g impartidlO 000000000 OO0OO Take-and-
Break GameSl D OO 0OO0OO0OO0OO0OCOOOO GreenHackenbushOO OO 100 impartialD 00O OO
00000000000 Take-and-Break GamesO D 000000000 (A0000O0O0O0OOO0O0O
00002000000 00000000000000C000DO0000OO0OCOOO0)000ODOOOOOn
goood

1. Lasker's Nim

Take-and-Break Gamés 0 nim 0 0 0 0 0 0O Emanuel Laskenn 00 18940 00 19210000
O0000000000000000000000000000Brettspiele der dlkerO 183-1960
O00000oooooo0oooooouoooo@nmOUd0 1000000000000 00
O00dU0ooo@UuUoOo0 2000000 10000000 20000000000000
O @oO0o0o0oooooo)oooooooooooooo

0000 100000000000 Sprague-Grundy 00 0g0)=00 g1)=1000002
O followerd OO 10 (L,1)D0000000O0O Sprague-Grundyg 0 0,1, 000 1e1=00
O0O00o0ooodg(2=2000030 followerO 0,1,20 (1,2)0 00 O Sprague-Grundyl O
0,12192=3000000¢g@R@)=4000000000000000000

x 0 1 2 3 4 5 6 7 8 9 10 11 12
g¥) 0 1 2 4 3 5 6 8 7 9 10 12 11

000000000 k=000000g(4k+1) = 4k+1, g(4k+2) = 4k+2, g(4k+3) = 4k+4, g(4k+4) =
4+30000000

000ddooooooooobobbobobo0ooooooooog
(1000000000000 00 4k+10 followerO0 OO0 O 4k O Sprague-Grundy! O O
D0200000000000 4k+10 followerd (4k, 1), (4k — 1,2),....,(2k+ 1,2k D OO OO
Sprague-Grundg OO OO 00000 0Og(4k+ 1) =4k+ 10

(1000000000000 00 4k+20 followerO0 OO0 O 4k+10 Sprague-Grundy O O
00200000000000 4k+20 followerd (4k +1,1),(4k, 2), ..., (2k+1,2k+ 1) 00100
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00 40000000 Sprague-Grundy 0000000 D OO0 gk + 2) = 4k + 20
(c)looooooUoooooooO 4k+30 followero 00O O 4k+ 20 Sprague-Grundy O O
00200000000000 4k+30 followerd (4k +2,1), (4k +1,2),...,(2k+ 2,2k + 1) 0 0 O
00 Sprague-Grundy D 00000 gdk+2,1)=4k+300000 0094k + 3) =4k + 40
(D00 100000000000000 4k+40 follower0 000 O 4k+20 4k+40 Sprague-
GrundyD OO O0OO0200000000000 4k+40 follower(4k+3, 1), (4k+2, 2), ..., (2k+2, 2k+2)
00000 I(modd) DO O DOOOOO Sprague-Grundy 00 000 00O 0O O Og(4k+4) = 4k+30
257000000 30000000 Laskersnimb 0000000000 00CO0O00O0OO0OOO
O0O0O0O0o0ooO0 Sprague-Grundy 0000 O 25800 0000000000 300000
nim-sumO 150 0 0 O Sprague-Grundy] O 8 0 0 O O Sprague-Grundy) 0 70000000
00000000000 70000000 100600 2000000000000O0O00OO
O0000000000000 1,25600 40000000 Laskersnmd 0000000 0O
Sprague-Grundy O OO0 OO OPOOOOOO0

. The Game of Kayles

000000010000 Sam Loyd(Mathematical Puzzles of Sam Loyd vol2., 1960, Dover Publi-
cations)d H.E.Dudeney(The Canterbury Puzzles and Other Curious Problems, 1958, Dover Publica-
tions, NewYork\{D OO OOOOOOO20000000020000000000000000
1300000000000000000000000000000000000O0O0000O 10

O kayle-pinD0 00000000 200 kayle-pinD 0000000000 O0OO0OO0OO0OOOOO
oo oooooooooood

0000000000 obOO00o0oooo0ooo0ooDo0ooooo0oooDoooooooono 1
0000000000000 0000 2000000000000000000 100 200000
doooooobooooooooao

00000000000 100000000000000000O0000o0obO00o0ooOoooo
0000200000 10000000000000000D0000O00O0O0OO0OO0O020000
goooooooooao

000000 Sprague-Grundy OO 0000000 100 terminal positiorD 000000000
g0)=000001000000000000000000000000000O0g(1)=10000
2000000000000100000000000000000¢g(2)=20300000000
0000l2000000 (SGUO 1,2) 00 1000000 2000000 (SGU )OO UO
O000g(3)=30 00000000000 4.10 Sprague-Grundy OO 0O0O0
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0 4.1 KaylesU SGOOOOOO g(y+2

yvz{0 1 2 3 4 5 6 7 8 9 10 11
00 1 2 3 1 4 3 2 1 4 2
1214 1 2 7 1 4 3 2 1 4 6
2414 1 2 8 5 4 7 2 1 8 6
6|4 1 2 3 1 4 7 2 1 8 2 7
48 14 1 2 8 1 4 7 2 14 2

604 1 2 8 1 4 7 2 1 8 6
7214 1 2 8 1 4 7 2 1 8 2 7

Xx=720000SGO0O 12000000000000000000DO0DODOO0OO0OO0OOO0O
000000000 o0o0odD 4000000000000 000000DO00D000DO0ODOO0
Ox=7000000000000 SGOOOOOUOOODODOOOOODODODOOOOOODOOOOO
ggad

. Dawson’s Chess

Five Classics of Fairy Chess by Dover] 0 0 O O Caissa’s Wild Roses(1935) 0 0 OT.R.Dawson
0000000 1000000 (000000000000 0)000000 give-awayd 0000
000000000000 20000000000 30000000000 500000000nN
O00000000O0Whitetoplayatlosinggamé] DO 0000 (00000000000 OOOO
0000000000000 000000)000000000000000000000000
gdooooooooon

0000000000000 00000D0D0000000D0oDO0ODOoDODn XoO00OnO
000000 miséred tic-tac-toeJ D0 0000000000000 OCO0O0O0O0OOOOOOOO
000000 XO00O0OO0ODOO0ODO0ODODOooOOooooooo0oo0000000 Xo00o00 (0o Xooo
d000U0ouooooooooo)o

00000000000 0D00000000010000000 200000000000000
0000000000 n=1000n=0000100000000000000000n>100
0000000 XOOODODOooOooooDooooo 2000000000000000000
0200000000000000000000000C00 100000 XODO0Ooooooooo
0030000000000 000000000O0000DO00000O 100 XoOooooodad
00000 30000000000000000 20000000000000000000000O
O000dU0Uoooo@UuUuioooo0oU0U0uoooooolodooooooooo@Eouooo
000000 200000000000 UUUO0ODOo00O00 3000000 oooOoOOo
o0o00oooooo 2000000

Dawson0 0 OO0 OO0 Sprague-Grundy D 00000000 OOO
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x 0 1 2 3 45 6 7 8 9 10 11 12 13 14 15
g9 0 1 1 2 0 3 1 1 0 3 3 2 2 4 0 5

0000 3400000000700000000000000N=510000018000000
O000000000000000 Sprague-Grundp 0000000000000 O0O0O000OOO
gboooobogoboboobboobooboboon

. Grundy’s Game

GrundyO OO OOUOOOODOOOOOOOOO 10000000 200000000000 20
O00000000000000000000 100 terminal positiorD 100 200000000
OOSprague-Grundy 0 000 0000000000000 0O0O0O0OO0OOCOOOCO (Exercise 10
O00)Do0o0ooO0O0OooooooooOSprague-Grund OOOOCOOOO0OO0OO0OOO 2002
00000 20000000000000000000000DO000

1.4.5 Exercises

1.(1) 0000000000000 00o00000oo0@E)o00 1000000000000

000000000000 take-awaygame& OO0 OO0 100 terminal positiond 000 OO
Sprague-Grundy D OO Q000
OO000000ooOoO0oooooooooOo sSGUOOOODOoOoOOoOoOoooooon

x 01 2 3 456 7 8 9
g 0 1 1 0 2 2 3 3 4 4

0 0 O O Sprague-Grundy O

0 (x=0,3)
gx)=¢ 1 (x=12)
k  (x=2k2k+1)k=234..)

.()00D000000000000030000000000000()00000000 2(mod)

0 (2,5,8,. )00 0000000000CC000000000 10000000C0COCOOOO0O0O
terminal positior] 0 0,1,30 U 0O 0O Sprague-Grundyg 0 0000 O
000000 o000 sGUoooooooon

x 01 2 3 45 6 7 8 9 10 11 12 13
g 0 0 1 0 1 2 1 2 3 2 3 4 3 4

0 0 O O Sprague-Grundy O
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0 (x=0)
gx) =4 k (x=3k+1,3k+3)
k+1 x=3k+2)k=0,1,2..)

3.30000000 subtractongame D 000000000 OC100000000O 18000000
0 Exercisel ] 0000200000000 170000000 ExerciseZI 0000300000
000 70000000000 nmO000OOOOOO0O Sprague-Grundy OO00O0000O0O
goooooon
100000000 SGUOOEXxerciseld 0 90200000000 SGO OO Exercise2] O 60
300000000 SGUUO70000000000 SGUOO9¢67=8
000000000010 0000000 SGUO 900 1000000000 ooOoloooon
00000 le0000D00D20000000000

4. Dudeneyd LoydO KaylesO OO OOOO130 000000000 000000O0O0OO0OO2000
O000000000000000000@)UOO N-OODDODODOO0DOO0O000 410000000

0 1.4.1 Dudeneyl Loyd O KaylesO O

O

00000000000 1001100 20000000000000000000 4100 SGO
00000 1,600001e6=7000000 N-0000O00O
(MooooooDOD0ooooooooooooog
6000 100000000100 300 70000000000 4.1000SGUOUODODO 1,3,2
O0001e392=00 PODOOODOO
(c)httpy/chlond.demon.co.yKayles.htmlD OO OO OO 000 410000000000000
gooooaao

5, 00000000000 (D100 200000000000 @)1IOo0UOU0DOoOUOOOOOOO
0000 20000000000000000000000
(@)Sprague-Grundy OO0 Q000
terminal positiord 00 00OCOg0)=0010000000000000C0Og(1)=102000,100
0000009(2)=203001,2,(1,1)0000000011=00009(8)=304002,3,(1,2)
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000000001e2=30009g4)=0100000000

x 01 2 3 45 6 7 8 9 10 11 12 13 14
g9 0 1 2 3 0 1 2 3 0 1 2 3 0 1 2

0000 Sprague-Grundyl O g(x) = x(mod4)

(15000000 10000000000000000000000000000000
(000915 =3000000 SGU0 0000000 DN0N0NONDNDON1I000O00Od
(1,13),(3,11),(5,9),(7, 0000 2000000000000000000000

000000000000 (H)UOUUUOO00O00 1000010000000 @)20000000

0000000000000o0oooo0o0oO0D 2000000000000 0000000O0
00 Sprague-Grundig 0D OO OO0

terminal positiord 000 00g0)=00100000000000000g(1)=102000000
0D0000000g(2)=103001,2000000009(3)=204000,1,2,(1,100000000
1¢1=00009(4)=205000,1,2,3,(1,2),(1, A0 0000000¢g(k)=3000000000

x 01 2 3 45 6 7 8 9 10 11
g 0 1 1 2 2 3 4 4 5 6 6 7

00 00O Sprague-Grundi O

0 x=0)
) (x=1)
90 =9 (x = 3k+2)

k+l (x=3k3k+1)(k=0,12.)

.0000000000001000000000c000000000 (c=1(mod)000000

000000000000 200000000000 Sprague-Grundy OO0 Q000

terminal positiorl 00 0O0O0g0)=00100000000000000Og9(1)=102001000
00000000g(2)=003002,1,1)000000009(3)=104000,3,(1,2)000000
00g(4)=205001,4,(1,3),2,200000000g(5) =30

x 0 1 2 3 45 6 7 8 9 10 11 12 13 14
g 0 1 0 1 2 3 2 3 45 4 5 6 7 6

0 0 O O Sprague-Grundig O
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0 (x=0)
1 x=1)
Kk (x=4k+2)

90=1 ki1 (x=ak+3)

k+2 (x=4k+4)
k+3 (x=4k+5)k=0,1,2..)

8. Rims
RmsOOUOOOOUOUOOODOOUOUOODODOUOUOUOOOOUOU0ODOO0UOOoOooooooogouooo
O000000oooooooooooo0o0oUO00OoUoOoOo(@oOoocoo l0)oooooooo
000odooooooooboobobobobbbooobodddddoooooooooooo oo
(0000000000 NimOO0O0O00OO0OOO00
goodbodobotbooobootboobobuob oo o0 obuoboLobUoboboo
0000000 2000000000000000000000D0O0000O000DOOOO0OO0O0
00000000 2000000000 nimO0OOCOOOO0O0OOO
(p)OoooUoOUooUOooODOoOoOoOOOo

0 1.42Rims 00O

(000000000000 Un0 345000000000000000000000 SGOO
34500003945=200000 N-OOOODODOOOOO0OOODOOOOOOSGO 3010
00o000oooo0oOo3000000ooO 2000000010 0DODODO0OOODOODOOO
goooobogoo
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9. WinningWays 17000 0RmsO00000000000000000O00OOOOODOOOO0O

10.

11.

000 1000RaylesD0D 000000000000 RmsOODOODO0ORaylesDOOO0OO000O0O
000000 100 2000000000000000

(000000 KaylesOOOooooooooooo

RimsO nmOIO000000000 100 200000000000000000000000
440 20 KaylesDOOOOoOOOOoOooooooOoooooooO

()0 1420000 KaylesOOO OO OOoOooOOoooooooQo
0410000030000000 SGOOOOOOO3,140000000 SGUUOUO39194=6
O00000OooopooopoooSGOh 40 2000000000000 0O0OD S0D00000O
0010000000000 100 300 200000000000000000000000
gooooboogooboonboog

Grundy’s Game

(14400 40 n000O0CO (n=12..13)0 Grundy’s gamel Sprague-Grundyl O 0 0O O
ood

terminal positior] 01,20 000¢g(1)=9g(2)=00300(1,2)00000000000¢93)=104
00(1,3)0000000000094)=00500(1,4),(23)00000000¢g(5)=200000
godad

x 1 2 3 45 86 7 8 9 10 11 12 13
g 0 0 1 0 2 1 0 2 1 0 2 1 3

(OO DDO 58,1300 30000000 Grundy'sgamel 0000000000000 0O0O0OO
goo

()0 00005,8,130 SGUOUOODODO 2,2,3129203=300000000N-0000000
00 00000000O0SGO 30 0000000000130 000000 (B8 DUOOOO
000SGU 20 100000000050000000 (2,3)0000080000000 (2,6)
gboobogoo

000000000000 (U)00ooooo0o0o0oooooo0o0o0ooooo0ooooooon
gboobooboooboobboobbooboooboooboobbooboooboobo
0000000000000 ooo 1000000000000 oooooooooOooooo
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0000000000000000000000000O0O0O00000
(QNODO00000 Sy(n+1000000000 10000000000 n00000)0 Sprague-
GrundyD 0O 000
0000000100000000000000000C0000000000000000000
0000000000000000 SGOOOOOOO0000

n 0 1 2 3 4 5 6 7 8
gnp 0 1 2 1 2 1 2 1 2

0 0 O O Sprague-Grundig O

0 (n=0)
gx)=4 1 n=2k-1)
2 n=2k(k=12.)
(bnO0000N+1000000 Ly O Sprague-Grundyy 00 00O
0000000100 20000000000020000000000000 20000000
00000000 00oo0U0Dooooooooooooon sGoooooooooo

x 01 2 3 45 6 7 8 9 10 11 12 13 14 15
g 0 1 2 0 1 2 3 0 1 3 4 0 1 2 4 1

(ch00000NOOUOOOO C,0O Sprague-Grundy D OO0 00O
C;0CGUUUiUii00o00U0UUUo0ooooUUUUOooo Cy(n=3)0000oooooun
O000L,,0000000D0SGOOOOOOOOOO

x 0 1 2 3 45 6 7 8 9 10 11 12 13 14 15
g9 0 1 1 0 0 1 0 0 01 0 O O 1 0 O

(20000 (2000000000 10000000000)0 Sprague-Grundyl 00000
(e)()3x3T 0000000000 (ii)tic-tac-toed boardDO OO OO OO

0143
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()oooooooooooooooOoC,O0O0D0O0O00C4,0 SGUO (oo ooooooOog P-
gbobooboobooboobobobobobobo
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1.5 Coin Turning Games

Exercise2.4] Turning TurtlesO 000000 nimO0OO0000000000000O00O0O0O0OOO0O
nmOO00000000000000000000000000000000O0HW.Lenstral OO0
O0000d0o0o0od0odU0oo 200000000nmUO0CO0O0O0O0O0O0O0O0OO0OO0OOOO0O0
NMmOO0000000000000000000

CoinTurmingGameS D 00000 0000000000000 O00O0ODOOO0OO0O0OOOODOOOOO
ggodgoooobobobooobboboobbbotboddddoooooooooobobobobooobooboooo
ggodogooooboobobooobobooobobtbdddddooooooooobbb bbb bbbobo
0o0oodooooooobooobobbobobbodddddoooooooooooooboobooooooo
O0000000000000 (the Ending Conditionn OO OO0 000

ggodooooooboobooobboboobbtbddddooooooobo oo bobbooboobooo
guobbodgooboboooobbooboooob bbb ooobuoobbb bbb boooo
000000 impartdlD 0000000000000 0O0O0OOOO

0000000000 Tumning TurtlesO 000 0O0D0D0OO0OO0DO0OO0OO0O0OO0OO0O0OOOUOOOOOOOO
O000000000x,.,.x0000000kOOOOOOO0OO0Oj=1,.,k0 x,000000
00000 joo00o0o0 sumdO0OO0O0O0OOTHHTTHOOOOOOOOTHOTTHOTTTTTH O
003000000 sumO0OO00000000000 Sprague-Grundyl 0000000000 10
O0000o0o00 Sprague-Grundy O 00000 0O0O0O00OO0OO0OOU0OOOOOODOOOOO
g(THHTTH) = g(TH) @ g(TTH) @ g(TTTTTH) OO0 OO0 O00DO00D0O0O0O0O0OO00DO00

151 O

1. Subtraction Games

O0000000000000000000 impartialD 00000000 coin turning gamél 0 0O
0000000000000 0000Ocointurninggamel 0000 0000000000O0O0OOO
0000000000000 00000000U00000UUUnSubtractiongama ddOOd
goooooooooo

1110000 1000 30000000000000000 take-away gamé O 0O O O 0O O coin
turninggameé 00 000000000000 00000000000000000000000
000000 nidobdooboooooooxoooooooooooooooooooao
000000000x<300000000x-1,x-2,x-30000000000 100 200
00000000000 00000000D000OXx<3000000200000000000
goooooon

13300000000000 Sprague-Grundp 0000000100000 00000000O
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O00000oQoOo0o0ooOoOoOooooooOoOosGoOO 10000200000000100000
O00000000000000000SGO0O0 200000000000000000C0O0O00OO

posionx 1 2 3 4 5 6 7 8 9 10 11 12 13 14
g9 1 2 3 01 2 3 01 2 3 0 1 2

doooooobooooboooooooooooooooooooooooon

00 subtractiongam@ OO0 OO O0OOO0OO0O SO subtraction sefl O O coin turning gamel O
000000 xO00O0OO00ODO000O000000 zeSOODOO x-z=0000O000y=x-20
000000000000 000000 200000000000 00000000000O00OA0
goood

subtraction gamél cointurninggamél D 0000000 100000000000000 20
0000000000000 0000000000000000000000000yYyeSOOO
0000000000000 000do0O0oDOooooU0o0oOo0O l000doOoooouoooon
o000d000000o00oDO0oDOoD o000 O00OO0b00D0O0OD ID0DODODO
S={1,23000000000000000000000003terminal positiord 0000 SGO
0O0000100000000000000D000D000DO000O00000 SGO 100000
O0000dOoOoooogpositionx=00 g0)=0000000(1.1)000 Sprague-Grundy O
goog

(1.1)

. Twins

Turning TurtlesD 0O 0000000000000 TwinsOOODOOOOONmOOOOOOOO
tuningturtlesD 0000000000000 00O0O0U0O0OOO100 200000000000
O0TwinsOOOOOU0OO0OO0O0OOO0O000000ooooo0o0oo0oOo20000000000000
00000000000000 00000000000 USprague-Grundy 00 g(x) = x0O Onim
goggoooono

. Mock Turtles

000000000000000000000000 cointurninggamé@ 00000000000
00000000 Turning TurtlesD 00 00030000000000000000000000
000000000000 0000000001,2,30000000000000 Sprague-Grundy
0000000000000000000000000000000000000000000
000000000000000Oterminal positord 000000000SGH 10000100
0000000000000 0C0terminal positord J00000SGO 200002000000
001000000 (SGO 2)000000000 (SGO 1)0000 1000000 (SGO 3)00
terminal positor] 00000 O00000SGO 400000000000000

positonx 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14
g 1 2 4 7 8 11 13 14 16 19 21 22 25 26 28

0000000000 gxX)0O 2x0 2x+10000000000000000000 000000
2x0 200000000 10000000000000200000 1000000000000

(12)
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O00OCOCOCOodiousDO0O0O0OOO00O0O0O0OCOC evilDOOOOOOOOOO,24,700000
002000 0,10,100,1111 0 0O Oodiousd 0 0 00,3,5,60 DevilD OO (2000 0,11,101,110)
(1.2)00g(x) 0000000000000 0O00o0diousD 000000000 (1.2) 000000
OO0 odiousDO0O0O0O0OO0OOUOOO0O0O0g(X)OO2x0O odiousO O 2xO0OevilOO 2x+100
ggooooooboboboboboobobbobooobooood

00000000200 evilOODOOO200 odiousd O OO nim-sumO evilOOOOOOOOO
evilODO OO odiousd OO O nim-sumd JodiousD 000 0000000000000 0OOO

evileevil=odiouspodious=evil
eviloodious=odiouspevil=odious

(1.2 00 sGUUUUOODO odiousDOOOO00O0O0O0OO0ODO0OOOOOUOOOODDOOOOOO
00000 xO0O0OODOD0O0OOO0O00ooooo0oooooooog(x)ooU odiousDOOoooOnO
00000000 xODOOooOoooooooooooosSGo ooooopnooooDnooxo
000000 20000000000000000C00000O0 OO0 evilDOOOOOOOO
0200 odiousD OO0 nim-sumOOO0O0O00C0O0O0O0OC evilDOODODOODOOOOOOOQ
0000200 odiousD OO0 sumd evilOOOOOO odiousD D OOO0OO0OOOCOCOOOOOO
oooooooooooboooo

00 Xg, X2,....,. % 00000 Mock TurtlesD OO0 Ogx)@...e9(%) =00000PO0000
O000OU0O0OnOOodiousD OO0 sumd odiousC 000000000000 O0OO0OOOOOOO
O0D00000D0D0 g(X) O odiousD 0000000 ODOOgX DO 10000 2x000000
X18..0% =000000000000000 X16...6% =000n00000 09(X)®...e9(X,) =0
00000000 Turning TurtlesO O POOOOOOCOOOOOOOOOO

Mock TurtlesD O POOOU00O0O0O0OO0OO0OO0OOOOOOO0OOOOO nimOd POOOOCOO
{1,2,3l00nm0O0O POOOO0OO0O0OOMockTurtlesD 000000000000 O0O0O{0,1,2,3}
O Mock TurtlesOD O POOODOO0OO0OODOOUOOOOOOOMock TurtleD DD OO0 OOOO
Mock TurtleO OO0 POOOOOOO Sprague-Grundy 000000000 O0O0OOCOOOOO
gogodoooobon

. Ruler

O000Ocointurninggameé] 00000000000 1000000000000000000
ggooobboooodooooobbbbobuoooooob bbb ouobbbbouUo o
O000000000000001000000000000000000 Sprague-Grundy 00O
Joooooooooooon

g(n) = mex0,g(n-1),gln-1)dg(n-2),...,9(n-1) .. g(1)}
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godoooooooouooooooooooouooonod
posionx 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
g9 1 2 1 4 1 2 1 8 1 2 1 4 1 2 1 16

(1.3)
000090 xO0OOOOoOOoOoOoo2000000000000000g(xOoooooooo
0000 Rulero 00O (Sprague-Grundy 0 O ODIm* 0 O00000)

. Grunt

4A4000000000000000000 1000000000000000000000000
0000000000000000Grundy'sgamél J000000000000000000 0
0000000 10 2000000 00 terminal positon] SGO 00000x>3000000
OO0x<n/2000 xO0OOO Oxn-xO0O0O0OOO00O000000000000000000SG
000000000 N00000000000200000000000000000 Grundy's
gamed 0 00O

1.5.2 2000 Coin Turning Games

cointurninggamé& 2000000000000 0000C00000000000000000000
0000 (0,00000000000 (xy)(x>=0,y>000000000000
000000000000000000000000000000000000((XYy)00000
000O00000000000 1000000000000000000000000000000
{(ab):0<a<x 0<b<y)0O0O0OOOOODO0O0OOOOOOOOOOOOOO

1. Acrostic Twins

0000000000000 0oDOo0oooooooooooog 200000000000000
Sprague-Grundy D OO0O0O0O00O0

a(x,y) = mexg(x,b),g(@ay):0<b<y0<a<x (1.4)

0000(xy)0000000000000000000000000000000 y=00000
00000 nimOOg(x0)=xO00 g0,y)=y)0000000000000000 g(xy)O0O
0000000000000 00000000000000 mex0OOOOODOO0g(xY)O
nim-sumxeyl00000000000000O0

O 5.1 Acrostic Twingd g(x,y) = x®ey
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o1 2 3 4 5 6 7
ojo 1 2 3 4 5 6 7
1j1 o 3 2 5 4 7 8 9
2/2 3 0 1 6 7 4 5 10 11
3]3 2 1 0 7 6 5 4 11 10
4,4 5 6 7 0 1 2 3 12 13
5/ 4 7 6 1 0 3 2 13 12
6|6 7 4 5 2 3 0 1 14 15
7/7 6 5 4 3 2 1 0 15 14
88 9 10 11 12 13 14 15 1
919 8 11 10 13 12 15 14 1

goboobooobooboboobboobboon

(1.5)

4 a4+
-
4T 444
o e
T4

0000000 (xy)DDODODO0OD0O0000XxO000000yOoOoO0oo0oo0o0o0oo(l,3),3,2),(4,4)
0000 3000000000 0ooooooooooosGon 2,1,00000000000
26019¢0=3000000 N-O000O0D0SGO 20 10000000POC0OO0OO0ODOOOOO
oooo(@,3)0 (l0)uobouoUUodiod0oUooUoUUoUOooUoDoOUoOOoO
000000oooo(d,2)0 (3,1)0000 (3,2)0 (0,2)0000000000000SGO 10
2000000000)

. Turning Corners

ggodooooooobooon
00000000000000400000000000000000(ab),(aYy),(xb),(xYy), (<
a<x,0<b<y)OOOOO0OO0OO0OOO0DOOOODOOOOOOOOO

000000 Sprague-Grundy 00000000000

g(x.y) = mexg(x,b)eg@ay)®g@b):0<sa<x0<b<y} (1.6)

00000000000 00000000000000000000000000000000
000000000000000 xyOOOOOgx0) =90y =000000000000
000 (0000 (x1)00000000000 nimO000000000000)g(1,1)=10
g(x,1)=meXgal):0<a<x=x00000 52000000 (1.6)000000000

0 5.2 Turning Cornersl g(x,y) = X®y
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O 1 2 3 4 6 7 10 11 12 13 14 15
0o/jo0 o o o0 o O o0 o O 0 O o o0 o
170 1 2 3 4 5 6 7 9 10 11 12 13 14 15
2/0 2 3 1 8 10 11 9 12 14 15 13 4 6 7 5
3|/0 3 1 2 12 15 13 14 4 7 5 8§ 11 10
4/0 4 8 12 6 2 14 10 11 15 3 7 13 9 5 1
5|10 5 10 15 2 8 13 3 6 9 12 1 4 11 14
6|0 6 11 13 14 5 38 7 12 10 15 2 4
710 7 9 14 10 13 3 4 15 8 6 1 5 2 12 11
8|0 8 12 4 11 3 7 15 13 5 1 9 6 14 10 2
910 9 14 7 15 1 8 12 11 2 10 3 4 13

10/ 0 10 15 5 12 6 11 14 4 2 8 13
110 11 13 6 12 10 1 9 2 4 15 14 5 3
120 12 4 8 13 1 9 5 10 2 14 11 7 15 3
3|0 13 6 11 9 4 15 2 14 3 8 5 7 10 1 12
140 14 7 9 5 11 2 12 10 4 13 3 15 1

150 15 5 10 1 14 4 11 2 13 7 8 3 12 6

000000 (1.6)0000 g(4,4)0000000(4,4)0000000160000000000
00000000000 100000000000xY)(0<x<y<3)00000000000
SGOOO0O00000000009(44)=mex0,4,8121,1411,3,5,2} = 60

00 (1.5)0 Turning Corners] 0 000 000000SGOOO000 3ele6=40000000
00000000 N-O00000O0SGO 60 20000000000P000000000000

00000000 100(3,3),34),(4,3),4,400000000000000000
T T T T 7T T T T T 7T

T
T
T
T

=4 4 4 -+

T T T
T T T
H T T
T H T

4 4 4 4

T H
T T
H H
T H

-~ T 4 4

H
T
T
T

1.5.3 Nim Multiplication

0520000000000000000000000000000000C0O000(.6)000000
00000 gO0O0nmOOOO0O00O000O000g(xy) 00000 xeyOOOOOOOODOOOOO
xO0O0OO x®0=09x=0000000000 000000000000 xO0OOO x®1=1®Xx=X
000010000 100000000000000 xyOOOOOOOOOOOO0O xey=yexOO
oooo
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gboobooobogoboobbooboooboobbuooboog xy,zDOOOO

X®(Y®2 =(XQy)®z 1.7)

O00nNnmO0O00000000000 xy,zOOOODOOOOOOOOOOO

X®(YD2 =(XQY)® (X®2) (1.8)

000039 (Be6)=3®3=2000B5e[B®6)=15¢13=20000

O0o000D0DOoDooo000OoO0O0DO0oUO0O0D0DO0DOD0DU0OO0DO00O0DO0O0OOD 1000
0000000000 1000000000000000000000000O0020 nimOOOOOO
203=1001BO0000ONmMO0O0O0O0O0O0O0O00 @00 0Me2=30000000107=11,605=9
goooooono

00000000 OnimOOUOO NnimO0O00000000000000000000Lenstra(1977-78)
O00O0Conwayd O (1976)000000000000000000OO0OODOOOOCOOOOO0OOOO
00000 (1.7)0 (1.8)0D0000o0ooo0oo0ooooooooo

ggodooooooboobooobboboobbtbddddooooooobo oo bobbooboobooo
0000000000 24170000000000000000000D000O0O0ODOODOOOOODO2
00000 FermatD OO 22n(n:0,1,2,...)DDDDDDDDDDDDDDD2,4,16,256,65536,.DDDD
0000 (1.77)00000 (1.8 000000 200000000 2000000000000 000O00O

200000 FermatD O0OO0OO0OOCOOOOO nimproductC OO OO0 O0OO0O

(200000 FermatD 00000 nimproductd D0 00000000 200000 Fermatd 3/2
gogogad

O00002016=3200016®16=(3/2)16=2400002417000000

24 17=(1608)® (166 1) = (160 16)® (16® 1)® (8® 16)® (8® 1)
=249 16912898 = 128

0010000000880 000008002000 0000000 nimsumO00OO000O0000O00O
8=240000 200000000 nim-productD 0000000000000 0O0O0OO0

88=(1204)9(204)=202044=306=(201)0 (49 2)
=204 (22)o(1e4)o(1®1)=8030492=13

0520000000000000

1.5.4 Tartan Games

Turning Corner£ . D0 0O O0O0ONmOOU0OO0OOOU0DOO00ODOOOODOOOODOOOOOOOOO
O00O0O0OOOTartan GameSI OO0 Gy1,G, 000 200 1000 cointurninggamel J 000000
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00000000000 2000 cointurninggamél 00 tartangamé; xG, 00000000000
000X, X%,...Xn 00 0000000000000 00G,0000000000YVY1,Y2,...,¥o00000
00000000000 GU0O00000000000NoooMy)(l<isml<j<nOi0OO0
00000000 G xG, 000000000 (000000 UUUooooooooO)a

000000 Turning Corners TwinsxTwinsOO OO OOOOTwinsOOO20000000000
O0000OTurningCorners) 00000000 4000000000000 0TartanGamél0200 1
000 cointurninggamél 00 G xG, 00 0000000000000 000O0

mTartan 000 0O00@g(X) 0O GO Sprague-Grundy O 0 0 gx(X) O G, O Sprague-Grundyl O O O
000G; x G, O Sprague-Grundy O g(x,y) D 0 OO0 nim productD 000

a(x,y) = 91(X) ® ga(Yy)

TwinsO OO OOO0O0OOOSprague-Grundy O OO0 00O g(x) = x0O 0O 0O O Turning CornersTwinsxTwins
0000 TartanO 00O 00 00O O Tarning Corners] Sprague-Grundy 0O 0 g(x,y) =x@yOd 000

m Turning Turtles 0 2 0 (Turning Turtlesk(Turning Turtles)J O O 0O O O O O O Turning Corners] O
0000000 400000000000000000000D000O0 200000000000 200
000000000 100000000000000000000000dTurning Corners1 000
000000000000 O000Turning TurtlesO Sprague-Grundy D00 g(X) = x(x>1)00000
00000000000 1000000000000 0000D0O00O0DOObS200000 0ODOOO
Sprague-Grundy 00O O U000 O0O0o0O(,l) 0000000000000 O0O0DDOOOOOOO

000000 (1.5)0 (Turning Turtles 0 0000000 000SGOOO8®1267=3000000
0000SGO 70 SGU 400000000000 O0O(GS) 00000000000 (1,1))00000
O000000000000)000 SGOO 1e10015=4000 (2,3),(2,5),(5,30 3000000
ggodooobobobobooooobo

T T T T T T T T T T
T T T H T T T H H H
T T T T T — T T T T T
T T H T T T T H T T
T T T T H T T H T T

mRugs OD0O00O0O0OO0O0O0ORugssRuleRulerD00 000000 O0ORulerd0OO0O0OO0O0OOOOOQ
O000000000RugsOD 0000000000000 00D0O00D0O00ORugsOOOO0O sGOoOOd
O00000000RuleroO Sprague-Grundy 00 100000000000 0O1,2,1,4,1,2,1,8,.000
O000U0000RugsO SGUUUOOUOOOOODOOOO nimproductd 0000 5300000 RulerO
0 SGUUOOO0OO00O0O0O nimproductD 0000

O 5.3 Rugsd Sprague-Grundi
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1 2 1 4 1 2 1
111 2 1 4 1 2 1
212 3 2 8 2 3 2 12
111 2 1 4 1 2 1 8
414 8 4 6 4 8 4 11
111 2 1 4 1 2 1 8
212 3 2 8 2 3 2 12
111 2 1 4 1 2 1 8
g§/8 12 8 11 8 12 8 13

O0000ORugsDOOO0OO0 (5000000000000 SGOO08,4,100nim-sumd 130
000000000SGO 80 SGU 50000000000 UOD0OUODODUOOUOOOE,L)O0 (2,4)

02x40000000000000000

O000O0OCCTurnablocklOOO0OO0OOCOOOOUOUOOUOUOUOUOOOOO0OO0OO0O0OOOOOO Ohttpy/thi
nks.confjavgturnablockturnablock.htmD OO O OO0 OO0

m Tartan Games 0 00 tartangaméd 000000000 0O0ODO 100000000OO0ODOOO
0000000000000 00000000000000000000000000000(Mock
Turtlesk(Mock Turtles)D O OO0 2000000000000000000

T
T
T
T
T

H
T
T
T
.I_

.
T
T
T
T

.
T
T
T
T

.
T
N
N
N

.
T
T
T
H

000000000000 0000000000000000000000Mock Turtles SGO O
12478110 00000000000000000O00O0OODO SGOOOOOODOOOOO

0 5.4 (Mock Turtlesj O Sprague-Grundy]

2 4 7 8 11
111 2 4 7 8 11
22 3 8 9 12 13
414 8 6 10 11
717 9 10 4 15
8/8 12 11 15 13 9

000000 200000SGO 2900nim-sumd 11000000000000000000O0O00O0O
0000000000000 SGO 900000000 sGU 2000000000000 O0O0OODOO
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00000000000 Do0oOoooO SGU 900U nDUobDUOooOonooOoDnooD 1ve0noOoOoOO
goooobooboboobbooboooboobboobooobooboboobbooobooboo
0000000000000 Dooood TatanD OO DO O0OOOOO0OOOOOODOOOOOOOO
O (Exercise7d O O)O

O0000000000G xG,00000000SGOO gi(X)eg(y)=vO00000 (xy)0DO0O0
00 SGO vO u0O0DD000000000000000@O00000(XY) =(4,5),01(X) =8,0:(y) =
11lv=9u=2000)00000 30000000000000

Dvi=01(X),vo=gy) DOO0OO0O00 SGU udOdO (vi,V2) DO O Turning Corners1 000000
O00(Luw)0000000000000000 (U ou)® U ev)e(i®u)=ul000

(2)x00 SGU gy(X) 0 SGO wyOOODO0DO0 100000 G 0000 M O0000 (U < gi(X)
0ooo)

(DD SGO goy) I SGU v, ODDO0ODD 100000 G,O0000 MOD0D000 (U < goy)
ooo)

O00D000G xG,0 SG u0 0000 MyxM,O00DD0OOO

(Mock Turtlesf 00 000000 O0O00DDO0OO0OOOOD0OO0DOOOODODOO(V,Ve) =(8,11)00
Wmewae(uell)e(Beu) =2000000 (u,u)(uy <V, <V OOOOOODO10000
000000RBe1l0)eBe1l)e(8®10)=50601=2000000(u,w) =(3,100000 (OO
O (u,uw) =(1,1)00000000000000000000000)000Mock Turtlesd SGO 8
0SGU 300000000000000000g(N)ewR)=192=30001,250000000
O0000000000D00000 MockturtlesO SGO 110 SGO 100 000000000000
O000g(R)eg(B)=2¢8=100002560000000000000000000000000
{1,2,5}x{2,5,6)0 90 0000000000000 0D0OO0DODODODODOODOOOOOOoOooDOn

T T T T H H

T HTTHH
T T T T T T
T T T T T T
T HTTHT

SGU 00000000 UD Belle3e12013012913=0)
0000000000000000000000000 WinningWaysd 14000000000
1.5.5 Exercises
1. 00 cointurninggamel D O OO OO0

T T H T H H T T H
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00 (a-(d00000000000000o0oooooog

(a)Turning Turtles

Turning TurtlesD SGU OO OQ(X) =x(x>1)000000000 SGUUU3e56609 =90
OO00O0SGO 90 00000 UODOO0Oo9DUUDOD0oUDOU0OoODoOUODOoOooOoonoOo
(3e596=0)0

(b)Twins

TwinsO SGOOOOQX) =x(x>0000000000 SGUODO204656¢8=1100000
d00o0ooooo3800uduuoooooooooouon 2e3e94e5=0)0
(2000000000000 OODOODOOOO0OO subtraction seb = {1,3,4} O subtraction
game

O000o00OoOoooooooosGUoOoUOooOooooooog

x 01 2 3 45 6 7 8
g 0 1 0 1 2 3 2 0 1

DO00000ooOo sSGUooO0e2e3el=00000 POOO0OO0O0OOOOOOOOO
(d)Mock Turtles

Mock Turtles SGO (1.2)00000000 SGOOO4e8e11e16=230000 00000
00003800000000000000 (47984 11=0)0
.(@U00000000000000000000000 NOD0O0000000000000ooo
Turning TurtlesO D 0000000 OCO0OO0O0O0OOOOO

00000000000 0D00 1000000000000 00000000000nO00OOO
googad

(b)Mock TurtlesD OO OO OO0

a, oo booooogobobo0 n0bbboobbbboooobbboooo o
ggoooooobobobbooboboboobtbdododooooooooobobobbbbboobo
0000000000 =la=2ah=a1+an2+1(n>3)0000
(cRuler0 D0 0DOODO
()ooUoUooOoOoU0U00O00U0U000U0U000DOU0U0OD0DO000O00O00O0ODOUOUOOoOOd
000000000000 =Lay, =" a+1(n>2)0000a,=2"10000

. Triplets

Mock TurtlesO 0100 2000000000000000O00O0C3000000000OOO
0000000000 0o0ooo Tripletst 000000000000 0OOCOOOOOODOOO
00030000000000000TripletsO Sprague-Grundy O O U O O O Mock TurtlesO
Sprague-Grundy OO O0O0O0O00O0

00000000000 OuOOterminal positiond 00,10000¢g0)=9g(1)=002000,10
O00000oooooooooo0ooogR)=1000000000
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x 0 1 2 3 45 6 7 8
gx) 0 0 1 2 4 7 8 11 13

0000g(X) 0 Mock Turtlesdl Sprague-Grundy D 00000
0 x=0,1)
= { g o2

4. Rulerette
Rulerc 000001000000 000D000CO0OO0OODODOOCOOODOODOOODOOOOODO
0000000000000 0000000D00000000 2000000000000000
Sprague-Grundy 0O 0O O O Rulerd Sprague-Grund OO OO0 OO OO
000000 l00000o000terminal positiom 01000 g(1)=0020010000000
O000000000000g(2)=1030020000000000001,2000000000
0(SGO 1)0000000¢g@)=0000000000

x 1 2 3 45 6 7 8 9 10 11 12
g¥) 0 1 0 2 0 1 0 4 0 1 0O 2

0000g(X) 0 RulerO Sprague-Grundy 0 00000
0 (x=2k-1)
g(x):{ gk (x=2K (k=1.2...)

5. subtractiongam@& O 0O 0O cointurninggamé&l 0000 0000100000000000000
0000000000000 0000000000000100 2000000000000000
0020000000000000000000000OsubtractionseS 0000000000
O0O0O0Oouo Sprague-Grundy O O subtraction seb O subtraction gamél Sprague-Grundy
oooooboogn
subtractiongame@ OO0 00 0100000000000000OCCOO0O0O0000ONnmOOO0O
O00000000000000000000000000000000000 300 Exercise 8
O Impatient subtractionganme 0 00 000000000000 COOO0OQO subtraction gameél
SGUOO g(XOOOoOO

[0 (x=0)
g(x)_{g’(x—1)+1 (x> 1)

6. (@6®2100000
6021l=0294) (16040 1)
=(2016)a(24)a(21)0o(4216)d (44)d (4 1)
=3208020640604
=104
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(b)25 4000000

250 40= (16684 1)® (329 8)
=(16®32)0(1628)»(8®32)0 (82 8)9 (1®32)d (1® 8)
= (16® (16® 16))® 128® (8® (164 16))® 134 320 8
=(16® 16)® (16®16)® 1284 (8® 16)® (8 8)® 134 32@ 8
=24024¢ 1286 1289 1284 139 324 8
=165

(c)150140 0000
05200014®12=15000015014=120
(d)80 nimsquareroo OO0 (DO0OO0OO0OOOONImsquarerool 0000 0O)O
0 5200014®14=800 0080 nim square root] 0 140
eeoxeb6=0000 (CO00xex000)O
D0D0D0(xee)e(xep)=00000000000e,A000000000000000O0ODOO
D0000000Xe(eef)exe(e@ep)=000000000aeeB=Lae®B=6000000
0000 ,00 52000000 =14,=15000000000

7. TatanO OO ODOOOOOODOOODOO
(@\,v2) 0 100000 Turning Comers1 D0 000000SGOOOw®v, 0OOOODOO
0(X) =v,0Y) =000 (xy) 0 100000 G xG,00000000X <xy <yOoOoO
000 (X,y)#(xy)OOTartanD OO OO0 O0O0000O0OTurning Corners1 0SGO ud OO0
0000000000000 GxG, 0 SGUuOOOOooOooooooooooog
bG1xG,000000SGHO »evwOODOOOOOOOO

8. 00000 (Mock TurtleskRulerO tartan gamel 0 0 0 O

T H T T T T T T
T T T T T T T T
T 7T T T T T T T
T T T T T T T T
T T T T T T T H

(00000 Sprague-Grundg 00000000
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1 2 1 4 1 2 1
111 2 1 4 1 2 1
2/2 3 2 8 2 3 3 12
414 8 4 6 4 8 4 1
77 9 7 100 7 9 7 15
8§/8 12 8 11 8 12 8 13

(b)DO0D0D00O SGOO 15000000000000000000000000000
000000000000000 (L,1)0000000

0000000SGO 130000000000000SGO 200000000000

D)V, v2) =(8,8) I T (1) d (WL ®8)e(8®uU)=2000000 (U, u)(Ur <Vi,Up < Vo) OO
O0000(u,u)=(3,3)000000000000

(2)Mock TurtlesD 0SGD 80 3000000000000 g(N)eg(2)=192=30001,2,5
000000000000 00000D0000

(3)Ruler0 0SGO 80 3000000000000 wG)ewg(7)=201=30006,7,8000
000000000000000000
000000{L,25x{6,7,8090000000000000000000D0000O0O

T H T T T H H H
T T T T T H H H
T T T T T T T T
T T T 7T T T T T
T T T T T H H T

. (A0000O000i+j000000 (,j))00000000 Rugs nxnOOOOO0O0O0O0O0O

000000000000000
i+j0000000i,j0000000000000000i#j0000nxn000000000
(bj))0000000000000009G,j)=9(j,)000000000 SGOO 0000000
00000000000000000000

(bi+j000000 (,)000000000000000000O0O0O0O0O0OOOOOO
00000000000000000000(@OO00000000000000000000
oooo

10. G; O subtraction sef = {1,2,3,4}0 2000000000000 subtraction gamél 0O G, O

Ruler0 0 O tartan gaméS; x G, 00000000000 0100x100000000000000
0000 (00000000000000000000)00000(100,1000 (4,1)000000
000000000000000000000000

0000Gy,G,0 SGOODOO0O0G,0 SGOODO gu(X) 00000 (X) = (Xx—1)(mods)(d O
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O000001000000000000)0000000G,0 SGOODO gy(y) 00000 g(Y)
O0yOUOO0OOOO0ODOOO2000000000000(100,1000 (4,1)0 sGoUOOoooOoOO
44=60 3®1=30000

D0o0oooosGU 6000000 DODODOOSGO 300000000

DV, ) =44 00U (WLed)edeu)=3000000 (U, U)(U <Vi,Uu <Vp)00
0D00O0(u,Ww) =(22)000000000000

(2)G100SGOU 40 2000000000000@(97)=200097,1000000000000
goooooooooao

(3G, 00SGH 40 200000000000 00N(97)®g2(98)® 02(99) = 1@2@1=2000
97,9899, 10 000000 DOCUOO0OOOUOOODOOOO
000000{97,100x{97,9899 10000 80000000000 O0OO0OO0OOOOOOOO
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1.6 Green Hackenbush

Hackenbust0 000000000000 OCO0OD0O0O0OOO0OO0OO0O0OODOO0OOOOOOOOOOOO
doodoooboooooboooboboooooooooooooooooooooooooooon
oo oooob oo oooooooooooon

0000000000000 000000000000000000000000 impartiaAlDOO00O
00000000000 0000000000 GreenHackenbushiOOOOOOOOOoOoOoOooooOoO
0 Blue-Red Hackenbusi OO partizanD DO 00000000 00OOCO0O0O00O0OO0OOOOOOOO
00000000000 0impartial0 0O O O Blue-Red Hackenbush O Winning WaysCD 0 OO0 Q000
O00000O0OHackenbusid OO0 0000000000000 0O0O00O0OO0OOOO0O0OOOOOOOO
doooooobooooobooooobooooooooooooa

1.6.1 Bamboo Stalks(O 0 0)

GreenHackenbush OO OO0 000000 1.6 100000000000000000O0000O00O0
gboo0OnOdO0bobOO0OO0bDbOOOnObOUO00bLbO0OO0bOO0 nbboobbooobDbboooobo
o000 1000000000000 0000ooDoOCOCOO000O0D0DOooOoOoOOCOOOoOOoUooooDOo
0000000o00oo00ooooooO0o0oDo0O0OnDOd0D0 1000000000000 00O0 n-1
00 0000000000000 000000000000O0 suMOD0O0O0O0O0O0OONMOOOO0
gooooobogn

O 16.1

000000 30000 0'003,4500000000000nimO0000OO00O0O0O0OO3®4e5=2
000000 N-OOODO300000020000000001000000000000POO00O0O0O
0000000000000000Sprague-Grundyg 00 OPO 00000
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1.6.2 0O 0O Green Hackenbush

bamboo stalk§l D OO0 00 0OGreenHackenbush O OO OO0 nimO 0000000000000
OO0 bamboostalk§ 00 0000000000000 ODO0O0O 1.6.20 30000000 O’ OO
000 0000’ J00000o00ooooo0oooooooooooo 1000 (oooooon)
0do00odooobooooobooooobooooboooooboooooooooooa

0 1.6.2

0o00oddoobodooobooooboooooboooobooooooooooooobooooon
O00impartiadl D 00000000 4000000000000000000000000O00O0 nim0O
O00000000000000 bamboostak§ 0000000000000 O00OO0O00OO0OOOO
000 Sprague-Grundy OO0 O O0O0O0O0O0O

0do00o0ooooooboobooboooooooooooooooooooooboooDoooooDon
0000000000000 000000000 nim-sumOO0000000000000000000
doooooooooooooooao

016200000 bamboostalkl 00D O0O0O000000O0O0O0O0O0O0ODOOOOOOOOOOO
00000020000 200000000000000000000000000O00O0 1000000
2000000010 10 nim-sumd000000200000000 1000000000000000
0000000200 0000000000000000YDODO0OO0ODOOODODDOOODOOODOOO
00YO2000000000000000 16200000 100nmO0O00OCOOOCOOOOO

0000000000000 00000000000000On 1.6.20 2000000000000
000000000000000010 30000 nim-sumd 2000 20000000002000
0020000 100000000000000O00D0 1.63000000000000 1.6.20 2000
0000000000000000000000000000 8000000000000 NIMmOOO
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0000000 1620 300000000000400 nim0O0000OOOOOOOOOOOO0O

O 1.6.3

000 1.6.20 30000 sumd Sprague-Grundy 0 000000019844 =130000000 0
O000000o00oo00oo0ooooooooooogooooooooDoooooo2000000
000000000 Sprague-Grundy! 5000000000000000000000000O0O00OO0O
goooobooooooboobooboboobooooog

01630000000000000 30000 nim-sumd 39266=7000 3,260000000
000000000 S00000000003000010000000000000niIm-sum
40000000000 2e4=6000000000000000000000000000000O0O
O00000003ele6=40000000000 1000000000000

000000000 16300000000 00DO0O00ODO0O0DODO0O0ODOO00ODODOO0ODODOODOOOO
00000000000000000 Sprague-Grundy O 5000000 1000000000000
000 (0000 1000000000nim-sumd 3e2e5=4000000SGU 50000)0

0000000000000 100 bamboostalkl OO D 000000000 OOOOOOOOOO
000 1000000000000 000000Doo0oo00ooDoooo0ooDooooDoooooo
gboboobooobooboboobboobobooboooboo

s 000000000 DOOD0OO0OD0OO0OO0O0OO00OO0GOLODOOGOUOODOODO xOOOOdH,OH,OO0
00 Sprague-Grundy D OO0 OO0 (D0O0OO0OOOO)00000002000000G;=Gyx:H O
G, =Gyx:H)Gx:HjOOOOO GUOUO xOOO H{jOOOODOODOoooooooooooooooo
00000)00000000000000200000 G1,G,0000 Sprague-Grundyi OO OO0
000000 1640 2000000 sumO OO0 OO

G0 G000 Sprague-Grundl 000000000 02000000 sumO Sprague-Grundyl O
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0164

0000000000000 D0000o00dsumG;+G, 0 POOODOOOOOOO

00002000000000 Gi+G, 0000000000 O0OODOODOOODOOODOODOOO
0000000000 100 GUO0O 100000000000 000000000O0 GOOoOOoOO
0000 (00000 U0U0o0o0UdU00 HO HOODODOUOODODOUOUOODDOODOOOO HyO Hy
O000o00oO0)§boooooooOdo0oUd00 H O H,O0000000000000000H, 0 HO
Sprague-Grundy 0000000000 O0OH; O H, O Sprague-Grundy 000000000000
goodoboooooboooooboooobobooobooob b oo oo b0 ooooboooo
ool m

163 0JU0O0O0OOO0OOOOOO Green Hackenbush

gogoobooboboboboboboobooooooooodgooooooooooooooooooooon
0000000 16500000

O 1.6.5

400000000000000000000000000000 nimOOO0O0OO0O0000O0NnmOO
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0000000000000000nNnmO0O000000000000000000000000000
000000 (thefusionprinciple) 0000000000000 0O0O0 200000 1000000
O00o00oooooooodooodoooooooogooologooooooooooooooo
O000000oooooo 1.65000000000000

GreenHackenbush OO 0OO0O0O0000 (1000000000000 O0)000000000OO0O0O

m 0000 00000000000 Sprague-Grundy 00 000000000000

0000000000000 000000000000000000NIMO0O0O0000000000
O00000000ooooooooo 1leS5000000000

000000000000000000000 2000000000 (OOO0OO0O 10000000
O000000)0O0D00000O00 1000000000000 000000000000O0O0O00O00
0000000 300000000000 100000000000000000100 nimOOooO0O0O
0000000000000 nim-sumO000 100 nimOO0OO0OOO00O0O0O

O 1.6.6

00doo0oooboo0oooOoO0 1000000 0bOooOo000ooO00D 10000000 oDooOooo
O0000000ooooo 16500 00000000000 4000000000000 100000
0040000 100000000000000000D00D000O0O00L00 NnimO0OOOOOO0O
00000000000 100000000000000100000000000000000 (OO
0000)0 SGU 3000oooooond

O 1.6.7

016500000 SGU 4000000000000000 1.65000000000 Hackenbushl
goooobooooboooo
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0000000000000000000000000000WinningWaysDO 700000

1.6.4 Exercises

1. (Richard GuyJ OO FarGameéJ OO UO) 0O 1.6.800000 SGUOOOOUOOODOOOODOO

O 1.6.8

O0000D0OO00O0O0O sSGOODOODO0DO0DoO0oDOoDO0oo0ooDOoDOooooDoOooDooGg
goboobooobooboboonoobg

O000O0O0oono sGod 20
000 2000000000000000000

O000o0oOooono sGod 30

000 2000000000D00C0000O0000
000000000 sGoOo 20
goooobogoboobboooboobon
O000oO0Oooono sGod 50



64

0000000000 sGUO 23@2e5=60000000 N-OOODOOOODOOOOO
0000000 SGU 50000 3000000000000 2000000008GO 3000
gooogon
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21 O0OO0OOOO

0000000000000 00000000020000000000000000 John von
NeumannD D0 O0O0COO0COO0O0O0O0O0O0O0O000OEmile BorelD ONeumannd 000000000
0020000000000000000000000 192800000000 Neumannd OO Ovon
NeumannO OO0 O OOOO0O0O OskarMorgensteral D 0 0000000000000 O000O00OO
0 019440 O Theory of Game and Economic Behaviofl 0 000 000 OO O O O Guilliermo OwenO
Game Theory(1982) Philip D. Srtdfin 0 Game Theory and Strategey(1998p 00000000000
goodoooobon

von Neumanrd Morgensterrd 000 02000000000002000000000000000
goodoobobboboboooooogooobbob oo b booooooooooDoooo
ggodooooboboboboboobbobooobboddddoooooooobboboboboboboobooboo

211 00O

00000000000 000ooo0o0002000000000000000DOOO0O000OO0
0000000ooooooooo0U0oooooDoOoo0ooOoUooOoo LOoooo

m Definition1l 200000000000000000000 (X,Y,A O 300000000000O0OO

(1) X0DODOO0O0O0O0O00000000000004
(2 YOOOOOOOOOOOOOOOOOOOOO
(3) ADOXxYOOOOOOOOOOOOOA(XxY)OOOOO X>xYsydOOOOO0O

0000000000000 0000000DO00O00O00O00O0DO0O0O0D00D00O0 xeXOO
O000000000yeYOOODOOOOODOOOODODOOODODODODODOOOOO Axy)ooooooooo
O00000000AxY)DODOODODODO0O0ODOD0O00O00000000000 AOODOODOOOOO
00000000000000 Ax,y)DOODOOODOODO0DO0O0O0O0000000O0

000000000000 00000000000000000000000000 0 Otic-tac-toed O
gobobooooboboooobboooooboboooooboboooobobboooobLbOooon
gogooooooobbbboootodddooooooooooooooooooobbbobobobobbobo
0000000000000 00o0o0ooolo0oooooo0ooooDoooDoooDooooooog
goooobodoboboobbooboooboobboobooobooboboobboooboobo
0001000000000019970 0000000000000 Gary Kasparov] 00 0O Deep Blue
00000000100 0000000000000000000O000ODO0DOXODooooDoooooo
gboooobooboboobboobooobooboboobooobooboboobbooobooboo
0000000000000 000000000000000000000OtictactoeD00O0O0O0O
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gobbooooboboooobbbooobobboooobobodoooobboooobbbooon

goobooooboboobobobobobobobobobOobOobooooooooboon
O00000000000000000XOYODOOO 200000000000000000000

O00000000000dd-or-Everd 000000000 ooOnO

2.1.2 00 Odd-or-Even

000000000000010 200000000 1000000000000000O0ddU OO0
00000000) 00000000000 EvenQOODO0OO0O0OO0O0O0O0O0)000O0O0O00OOOOOO
0000000000 0000000000000000000000000D0D00000 X,Y,AQOO
O0000000000000X={1,2,Y={1,2200A00000000000

O (even) y
1 2

1 (-2 +3
O (odd)  x "
2 (+3 -4

A(xy)=00000=00000

O0000D0000o00oOo00oDo 1000000000000 o0o00oDoo0oooooooooo
goooobogoobooooa

0000000000000 00ooo000DooOo00oDooo0ooool100o0o0g 3500200
000 25/5000000000000000O0

1.000010000000000000 3502000002/50 3000000000000
—2(3/5)+3(2/5)=000 (00DO0O0DO0OO0OOO0OO0OO0O0O)O

2.000020000000000000 350300000250 40000000000000
3(3/5) - 4(2/5)=1/5000

godood0ooOoO0bOOo0dU0obOoO0OooOO00DOOoU0ODOOOdObO 100d0Oo0oOoDoOOooOooooo
0200000000000 2000000000000000000D00O0000ODOOOOOOO0O
goooobooobooboboobboooboobobo0oboooboooboobbooobooboo
gboboobooooooo

pld0O0OOOD 10000000000000 10 200000000000000000000
000000 p0000O00000100000000000000000 -2p+3(1-p 0000 20
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O00o0o0odUou3p-4(Q1-pUO0UlUooooDOoOpOOUOO0OOODOOOOO
-2p+3(1-p)=3p-4(1-p)
3-5p=7p-4
12p=7
p=7/12

0000 7120000 1120000 20000000000000003 0 -2(7/12)+3(5/12) =
1/120000 8%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000000000000000000000000000000000000 (equalizing strategy)d
oo

doodooooooooooooooobooooobooa S%DDDDDDDDDDDDDDDDDD
d0d0oo0oooooobooboobooo0ooooooboobooo0ooooooooooooooooon
agono

/120000 1000000

5120000 2000000

0000 1000000000000 -2(7/12)+3(5/12)=1/1200000000 20000000
ooooo 3(7/12)-4(5/12)=1/120 000

000000000000 000 y1200000000000000000000 /1200000
0000Yy1200000000000000000000000000000O00O0O0O0O (optimal
strategqy) 000 000OCO0OO0O0O0O (minimax strategy) 00 O O

oo ooouoooooooon
odooooooooooaa 8%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
0do000o0ooooboooooooooooooooooooooon S%DDDDDDDDDDDDDD
doodoooooooooooooooboooooooao 8%DDDDDDDDDDDDDDDDD8%
goooooooooooooooo

213 ODO0ODOOOOOO

0000000000000 00000000o0000oooo0O0 XoyYoooooooooooo
000000000000000000000000000000000000O0dd-or-Evera0O00O0O
0000010200000 7120 5120000000000000000000000000O00O0O0O
0000000000 xeXOOUOO 10OOOO xOOOoOooooooooooooogooo

gboobooobogooboobbooboooboobbooboboooboooboobbooboon
gobooobooooboboooobooboobooboooboobooobboobobooobooobooo
000000000000 000000000000000000000oOoOos00Do0000o0oooon
0010000000 2000000120 000000000000000000O0O0O0OOOO0OO0O
O0000000ooooogs00000oooooOouoOooD 10000000DOo50000000 200
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goooobogn

000000000000000 (utilitytheory) 00000000 Al0000000D0DOOOOO
goooobodoboboobbooboooboobboobooobooboboobboooboobo
gboogoobogoobooboooboooboobboobooobooobooboooboobo
gbobooobogboboobboooboobobuoobbooboooboobbooboooboobn
gboooobooobooboboobboobooobuoooboooo

gooboooobobobooooobobboooobboooooboboooobbbooobobobooo
2000000000000 0000D00C0O00000D00OO0O000D0O0ODOOO00O0O0OOooOoOOOOn
0o0od0o0ooooo0ooooooo0ooooooO00ooooooOOogUooDoooDOoo200
goooooooooboobobobobobobobbbbd0oooooooooooob bbb bbobobobo
gboooobogbobooobooooboonboobo

0000000000000 00000 (000000 0D00o0oO000O000000O0)0oD0O0OO0O
dooooboboobbbooboo0ooouobbooooooobooboboooooooobooDbboon
Odd-or-Ever0 OO0 0000000000000 0OO0O0O0OOOOY1200000000000000
O0000000712=35600 00 0000000000000000 000 3%0000000n0ooan
000 1003500 600000 2000000

214 OO00OO0O0OOO

20000000 (XYAODDODDODODODOOD X,YOOOOOOOOOoooOOOOdvonNeumann
O00000000000000000Odd-or-Everil D00 O0O00000O0O0OO00OO 2000000
goooobooboog

00000000 0O0O02000000000000
(hoooooooooo voooo
(2000000000000 0000000000 VOOOOOoooooooooo
RUuUooooo0o0o0o0ooooo0oo0oo vVoooooooooooooo

000000000 00o0o0o0oo00ooo00ooooooUoD 10oooooogovaoao
O00o000o0oooooo0UooovVooooooooooooooooooooooooovooooo
oooooboooboobobooboboooo

2.1.5 Exercises

1. Odd-or-Ever] 00000000000 0OD0OOO0OOOOODODOOOO (UODOOODDODOO
00000 A000D0D0D0D00D000000oooooooooooooooooooooo
goo
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AOO0OO0OO0ODOCOOOOO

O (even) y
1 2

1 (-1 +2
O (odd) X
2 \+2 -4

00100000000 poobOCO0ODOODO

—-p+2(1-p)=2p-4(1-p)
2-3p=6p-4
9p =06
p=2/3

10 23000020 1/30000000000000
0000000-1(2/3)+2(1/3)=000000000000000

.00000000000000oon 8000000000000 O0OOnOoonD 2000 7000000

gbooboobogoboobboobbooboooobuoooboobbooboooboobo
gbbogobogoboobbuoobboobooobuoobboobboooboooboobn
OO0 (@O0O0 10000) 00000000000 oo0o000000ooooo000ooooooo
0000 ADOODOQOOO0OOOODo

O y
07 02
oA [+1 -2
O X
08 | -7 +8

gobooobooooboobb phbo0obboobobOoo

P-2(1-p)=-7p+8(1-p)
3p-2=8-15p
18p = 10
p=5/9

000000 59000000 804900000000000
00000005/9-2(4/9)=-1/3000000000000000000000

. Sherlock Holmes] OMoriarty 0 0 0 00 0000000000000 OOOOOLondonO O

Dover0 0000000 OOMoriartyJOOOO0OO0O00OO Doverd HolmesDUOOOOOOOO
O00O0O0OOHomesDOOOO Canterbund DO 000000000000 OOOOOOODOO
O00000Moriarty 000000000000 CanterburyJ 00000000 0Ovon Neumann
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0 Morgensterid 00 0000000000000 4000000 MoriartyOOOQOGOO (DOO

Ooo0o)d
Holmes
Canterbury Dover
_ Canterbury 100 =50
Moriarty
Dover 0 100

HolmesO Moriaty 0 000000000000 COOO(OOOOOArthur Conan Doyled The
Memories of Sherlock Holmes O O The Final Problentl WatsonO O O 0O O 0 0O 0O 0O O OHolmes
0 Canterburyd 0O 0O 0O OO Moriarty 0 Doverd0 00O O)

Moriarty 0 CanterbunOD OO OO0 pUdQdoooooooOO

100p — 50(1- p) = 100(1- p)
150p — 50 = 100- 100p
250p = 150
p=3/5

50000 Canterbund 000250000 DoverD OO QOOOOOO

00000 00100(35) - 50(2/5) = 400

. 00000000 John Williamsd The Compleat Stratetyst 0 D00 000000000000
O000000o0o00o0ouooDooooooon 100oo0d

0000000000000 AexOOOOMMOOO 100 2000000000 100000
0000000 1000000000000 200000000000000000 2000000
OO000000ooOo0ooo 1000000000000 ooooooooo

Oaf0000 0000000000000 00000U0O0DoOooOUOUODOooOoOooooOgd
O0000000MmMsSS000000000000000000000000000D000O000
0000000000000 42000000000000000000000000000O000
ggad
Of00d00CU00OCU000O0U0OCOO0OO0U0U0DOCOUOOO0OO0OOUO0OOOUOOOOOd
00o0odoooooooboboobbbobb0 oo ooo

0000 A0OD0OOo0OOoOoooon

Alex y
1 2
1 [—13 +52]

Olaf X
2 |+52 -68
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Olaf0 1000000000 pO0ODOOOOOOOOO

-13p+52(1- p) =52p-68(1- p)
52-65p = 120p - 68
185p =120
p =24/37

24370000 1000013370000 200000000000
0000000-13(2437)+52(1337)=364/370000000000000000000 Olaf
ooooooon
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22 00000 -00

000 (XY,A)OOO 20000000000000 ADDOOOOOOOOO0OOOO0000000
O0000X={X,.Xnt O Y={y,...Vn) 0000000000000 0000000000000C

agood
;1 ... QAin

A=| : aj = A%, Yj)

m ... Qmn
gddbododooooododoooooooooooooououoooooooooooooao
oo oooooououooa
0000000000000000 1000 mO p=(pLp2..pm)0000000000O0O000
p=(PLP2...Pm) 0000000 jO0D00000000(QO00)000 ¥, pa; 0000000
O000D0000000D0O0NnO q=(0h,0,...0,) 00000000 qOODO00OO0DO0i0D00000OO
DDDDZinzla;jqjDDDDDDDDDDDDDDDDDD p0O00000O0qUOOoooooo (@ao
0)000 p'Ag= 3T X0 pajq 0000
0idd000O00O000oo000000o0DOoo0O0i0bo0oo0on0 l00b00bOOoo0o0o oonooooon
DDDDQDDDDDDDDDDDDjDDDDDDDDDDejDDDDDDDDDDDDDDDDD
0000000000000 o000DO00o000oOo00bO0o0oo0oo0oDOOo0ooOOo0nD 1000000
0000000000000 oooooooooooooooooooood

2.2.1 Saddle points

0000000000000000000 ADOODOO &0

()y;0i0000O000000

(Qa; 0 jODD0O0OODOOODO

00 a; 0 saddle poin0 00000000 g; 0 saddlepoin0 000000000 iI000000O00
O000000ooo qpuooooooooodooo j0o000ooooooooooog a; oo
gooddddg0o0o0o0o0o0daoo

Example 1
4 1 -3
A=[3 2 5
01 6

000020000000000000000000000saddlepoin0000000020000
O00000000000000020000000000000000000000000 200(0,1,0)
gboooobogbbogoboooboobboon
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mxnO0O0000000000 saddlepoin0 0000000 10 1000000000000000OO
goooooboboooboooobobooboobooboobooobobooboo0oooOooobooOoooOooboboOoooOoo

row min row min
3 2 1 0yO0 3 1 10yO0
A 01 2 0|0 B 01 2 0} 0
1 0 2 1|0 1 02 1|0
312 2)1 312 2)1
coomax3 2 2 2 coomax3 1 2 2

00 AU000000O0C0OOCOO0O00000000D0o000000OOsaddlepoinn 00000 ooooOn
ap, 020 100000000 BOOOOUOOD 4000000002000000000000bg0O
saddle poin0 O O O

222 000 2x200000000

0000 2x20000000000000

(3 ?)

00000000 (00000000000 00000000 1000000000000)00000
goooooogn

1. saddlepoinD 0000000
2. 00 saddlepoinn D0 000000CO0O0O0O0OO0OOOOOOOO

saddlepoin D0 0000OCO0U000O0O0OO0OOOOOOO21200000000000000000
oo0ooooono

saddlepoin0 0000000000 a>b000b<cO000 (0000000 bO saddle point O
O)Ob<cOOUOc<dOOOUUOOUODO(UUOUOOO cO saddlepoin0O0)00O0OOoOoOoonO
OOOd<aa>b000000000000000000 a>bd000a>b<c>d<alddonooano
O000000000000000 a<bOO0OD0a<b>c<d>alO0O0OO0OO0OOOOOOO

00 saddlepoinn D0 0O00Oa>hbb<cc>dd<alla<bb<cc<dd>al00000000
000 (2.1),(2.2),2300000000000 2x2000000000000000000 pOooQ
01000000000 (ooo (p,l—-poon0)idn0 l2000000000000000000
googogo

ap+d(1-p)=bp+c(l-p)

pO0OD0OO
c-d

P a-n+c-9 @1)
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saddlepoinD 00 O000(a-b)0 (c-d)0 0000000000000 0000000OO0<p<1
goooobooboboobbooobboooboooboooo

ac-hd
a-b+c-d
000000QqO01000000 (00 (g1-qU000)000 1000 2000000000000
gooooooooboboooooo

v=ap+d(l-p) =

aq+d(1-q) =bg+c(1-0q)

ogoodo b
c—
= - 2.2
g a-b+c-d (2:2)
saddlepoini 00 0000<g<l000000000D00COOOO0OO0OO0OODOOOOCOOOOO
ac- bd
aq+b(1—q)—m—v (23)

goooobooboboobboobbooobooboboobbooboooboobboobboOon
00000 (0000000000 00000000000000000000000)0

Example 2
—4-3
P=53-a-3- 12
-2 3
Az( 3 _4) g = same
8-9
i e
Example 3
2-1
=——=1/11
0 -10 P=0v1052-1 Y
(3 7%)
2+10
q_O+1O+2—1_12/11

O0000qO0O 000 100000000000000000000000000000000 saddle point
0000000000000 0000U00U0U0U0oo0o0ogug saddlepoinnD00O0COoooooOoO
0000 (J.D. Wiliams The Compleat Strategyst Revised Edition, 1966, McGraw-Hill, page56) O O
0 saddlepoin00000000Op=0,q=1000000000v=10000

223 000OO0ODOOOOO

gobooobogoobooboboobooobooobooboboooboooboobbooboon
0000000000000000 (00000 2x20000)0
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m Definition 00 A=(g)0 0000000 jO000 & 2a;000k0000000000000
AD jO000000 jOO00 & >a&000k000000000000000000AD jO000
aj<ax(@ <a)0D00kOOD (0)ODDODOOODOOO

gobooobogooboobboobooobooboboobbooboooboobbOooboOon
gboooobogoobooboooboooboobboobooobooobobooboooboobo
goooobooobooboboobbooobooobobo0oboooboooboobbooobooboo
O00000000000000000000000000 (Exercise00) 000000000000
000000000000000000000000000000000000 (00000 10000
0000000000000 O)Y§0oooooOo0oO00O0O000000D00000D0D00Doooooo
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2.2.5 Latin Square Games
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Ooobooooooooooooooon

AX,y) = AX",y) TyeY=X =X’
AXY)=AXYy) TyeY=y =y’ (2.29)
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00320 x 0OOOO0O0OO0OO0O0O0O0O00000O0
0032000000 ¥ 0O0gO x000OO0O0000OXx =g(x)00000000000000000
000 (2.26)000000000

AxY) =A@, 9(y)  "xeX'yeY (2.26)

00 gO00g(x)=0(x)000000000000000 X0000000O
A(x1,Y) = A(9(x1), 9(¥)) = AG(%2). 9(¥)) = A%z, Y) (2.30)

00 (229000000 yeYOOOO x4 =%000000009g0000 gloogigX) =
g(g}(x)=x00000000000000000000000000000000000000000
000000000g0000000000 X0000000O

mlemmal 0000000 G=(XYADODOgOOODOODOOGODOO gto0oDDOODOO

m00 000 xeXOyeYDOOOOOAXY) =A@QKX,9y)DDOOODODOOO0OO xOydooOoooO
O000yDglO0OxO0glOo0D000000000000000000 xeXO0OO0OyeYOOO
O AQYX.gNy)=Axy)000DD0D0D000GO glo000000D0D00000Dm

mlemma2 0000000 G=(XYAOD20000000 g,,00000000GOO0
%oi(Y) = (o)) 0000000000000 gug 000000000

m00 OO0 xeXOyeYOOOOOAXY) =A@:(X,01(y) 0000 xeXOyeYDOOOOO
AXY) =Al(X),ge)DoDooooooooo

A% Y) = AG2(01(), %2(0:(Y))) = AQ2(02(%): B201(Y)) "y €Y. xeX (2.31)

O0000go 000 GOOOOOOOD0ODDOm
goobooboooboobobooboobg

QROi=00 00 gl=g? (2.32)

000000000000000YOOOOOcclassgOOOOODOOO0OO0O0O0O0OO0 00000000
OO0 eld0J0O0DYeYODOOODOOO ey)=y0OOOXOOOODOOOgoOOO ¢gO0O0O00OO
000000 xeXO0OOOOOOO ex)=x00000 (2.32)DD§D gUoooouoooooboaoog
000 indistinguishable D OO0 0000000

oo uooobogoo ED gubouoooobggoo

m Definiion 3.3 00000 G=(X,YA)OOOOOgegOOO0 (226)00000000000 G

gooooooooooon

000 gO0O00O0O0ODOO00DOOOO0ODOOO0OOODOOO0gOOOODOODOOO0ODOOO000mMO X
O000OnO YOOODODOOOO
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m Definiton 3.4 00000 G=(XYAODOYOOOODOOO ¢g000000000000000
0000000000 g=(q(l),...qn)0000000000 6000000000000

qoy) =ay) ‘yeY'geg (2.33)

000000000000000000 p=(p(1),...p(M)0000000000 (00 ¢g)0000

00000000 ~
PE)) =p(x)  ‘xeX’'geg (2.34)

YO 20y, 0y, 009(y,) =y, 0000 geg00000000000000OODODODO00000
00000000000000000000000000O00O0O00O000O0O0O0O0O0O0O0OOOOOOO
0000000y 0Yy,0000000000000000000000000 q00000000000
0000000000000000000000000000000000000000000 power
00000000000000

m Theorem34 0000000 G=(XYAUDOD UOODODODODODODOODDOOODODDOOODOOOO0OOO
goooobogoo

(00 0OO00O0O0OO0OOOCODOOOODOODODOOOOOOODOODOODOODOOOOOVOOOOOoo
Oo0oOo0ooOoOdooOd g Oooboogooooo

S AxYGH <V YxeX (2.35)
yeY

000000000000 qUOO000000000000000ON=|Gg|00 0000000000
googn

Q) = 5 > aE) (2:36)

geg

(ODODDOOO0ODO0U00D0O0D000D0O000OD0O0O0O00000000000)§gUO0O00 geqgn OO
gooo0obooboooobooooo

a(g'(y)

IR CL)

9€g

=3 a ) = &) (237)

9€g
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00000000000000§0 (3500000

> A I = 3 AT Y a (@)

yeY yeY geg

ST A YA ()

geg yeY

SIS A@0. gar (g (2.38)

geg yeY

ST AG. DT )

geqg yeY

%ZV:V

geg

IA

]

matching pennie§ 0O X =Y ={1,2}0A(1,1) = A(2,2) = 10 A(1,2) = A2 1)=-10000000
G=XYAUODDedODDODOODO g={eg0000000D0O0QgOO0 g(1)=29(2)=100
00@D)00 (g1),q2)00q(l)=q2 00 ¢000000000q(1)+q(2)=10000000
gl)=q(2)=1/20000000000000100000000000000000O000O0OCO0O0
O000000000000p(1)=p(2)=1/20000000000000 10000000000000
gdoooooooooon

00000000000 g=1{e0,¢%,900)=000,9000)=00,900)=00 00000
00000000 l10o0oooodoooooDooooooooooooooooooooooooog
300000000

m Colonel Blotto Games 0000000000000 00000000O0T Tukey(19490 000000
OO0 BlottoGameds ] DO 000000000000 00O0D0000O00DO00OO0O0OD0O00OOOO0OOOOO
0000000000000 webOOOOOQOO
httpy/www.amsta.leeds.ac.iqomt6jrp/personablotto.html

00 00O O Williams(1954), Karlin(1959), Dresher(1961)0 O O O discrete versiom O 0 0 O O

ColonelBlottoO D20 00000000000 400000000000 LieutenantKijeDOOOO
000000000 3000000000000 00000000000O00000000O000O000O0O
doo0doooddoodoooonodooooooodoodooooooooooooo 1oo00oo
doo0oo0ddddooooboddddo 1ooo0Db l1o00ddddooooo0ooooo 1000
dooooooboooooboooobooooboooonog

ColonelBlottoD 0200 0000000000000 0D0OO0O0O0O0O0OODOOOOOOODOOOOODO
000000 50000(,n)0MmO0O0O0O0O0 100000000 OOOOOO 2000000
000000000000X={(40),(3,1),(2,2),(1,3),(0,4)} 0000 LieutenantKijeD O 400000
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00000Y={(3,0),(21),(1,2,(0,3) 0000000000
3.0) (21) (1L2) (03)

4,0) ( 4 2 1 0
G| 1 3 0o -1
22| -2 2 2 -2 (2.39)
w3)| -1 o 3 1
©04 \ o 1 2 4

000005x400000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000 g={eg0
00O

9((3.0)=(0,3) 9((0.3)=@3,0) 9((21)=(12) 9((1,2))=(21)

000000000000000 g=1{gg0000
9((4.0) = (0.4) 9((0.4)=(40) 9((3.1))=(13) 9((1.3))=(B.1) 9(22)=(22)

(0000000g 0 (300 (020g 0 (2,1)0 (1,2)00000000000 400000 ¢
{601,0,0:0} 000000000

0:1((3,0)) = (0,3) 9:((0,3))=(8,0) w((21)=(21) al((1.2)=(12)
%2((3,0)) = (3,0) 6((0,3))=(0,3) 3(21)=(1.2) ((1.2)=(21)

00000000000000G@000000000000)

Kije 00O0OO{3,0),0,3)}0 {(21)(L2} 000000000 qO00O4g((3,0) =q((0,3)),q((2, 1))
q((1,2) 0000000000000 BlottoO OO0 O{(4,0),(0,4),{(3,1),(L3),{(22y000000
O BlottoO OO pO0O p((4,0)) = p((0,4), p((3,1))=p((L,3)c00oooooon

KijeOOOOOO 2000000000000000000
(3,00: (3,000 (0,3) 00000 120000000
(2,1: (1,20 (2,)00000 20000000

OO0O0OBlottoDDOOOD 300000000(4,0)0: (4,000 (0400000 120000000
(3,1)":(1,3)0 (3,1)0 0000 120000000
(2,2): (220000

doodooobooooonoooooooooooooon

G0 @1y

4,0y ( 2 15
@JY[ 0 15] (2.40)
2,2) | -2 2

000000000000 00000000000000000000000 Blottod (4,000 (0,4)0
0000 1/20000000Kie 0 (3,000 (0,3)00000 1/20000000000000 (14)0 4
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00000000 y4000000000000C0000000400004,00400000000000
020000

O0000000000000 (24000 0000000000000000 100000000000
0000000000 (0000000000000 00)Y 0000000 ooooooooooo
000 2x2000000000000 (8/9,0,1/9)0 BlotoO OO O OOOOOOOOO (1/9,8/9)0
KijeOOOoOoOOOoOOooooovV=14/9000000

2.3.7 Exercises

1.

-2 2 -1
OO0 1 1 1|00000o0oood
3 0 1

(@UU00000 saddlepoinb 00O 0O Ooon
0200300 1000000000000000000000 saddle pointl 00O

(ooooooooooogo

1 -2 3
1
DDDDDDDDAUA‘lzg 2 1 1|00000AAl=AlA=E0OOOO0OAlOAD
-3 6 -4

gboboooogooooo

(cboo0OoU0ooOoo000DOo0ooooOoOOooooon

AODOCOOO0O0000000032000V=1/1"A'1=100000000000 g=VAl=
(2/5,4/5,-1/5)"

(000000 (21600000000 DO0OOOOOOOO0O

.00 (A18)pooopoooooooood

(00000 100 0000000000000 0OOOO
00000 1000000000000000 saddlepoin0 00000000000 00000

(MOOooOOo0100000000000000000000000oOoo0oO0O00
d>000000000I000000000000000000DODO0O0O0OOOODOOOIOO
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000000000ooooooo0o0U00ooooDoOoo0o0oO0oUooOoooD oDoOoO

(cboooUoO0oUoooOo00ooDoUoooooOooO0n
000000000000000000000000V=pd(i=1.m0O000

000000000 je{l,23,40000000000000000000000000000
DDDDDDDDDDDDDDDDDDDDDDjDDDDDDD@DDDDDDDDDDDD

goboobogoboooboboonoobg

goboobbooobooooboonoo

A W DN P
O O o N B
o o O N
O 0o O O W
o o o &

16

0000000000000000000000000000 1/2+1/4+1/8+1/16= 15/160
00V=16/150000000000000p=q=(8/154/152/16,1/16)0 000

.000000000 jef{l,2340000000000000000000DODOOOODODOOO
00000000 1000000000000000000000000C00O0O0 120000000

gboboobobooobooboboobbuoobobooboooboo

goboobboooboooboooo

O
1 2 3 4

1(1 0 0 O
So2|y2 1 0 0
3112 12 1 0
4\12 12 12 1
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0000000000023400000000

P1+P2/2+P3/2+pPs/2 =V
P2+P3/2+ps/2 =V
P3+pPs/2=V
Ps =V

pL=V/8 p=V/4 p3=V/2 p=V

>pi=1000V=8/1500p=(1/152/154/158/15)0 000000 qOO

i} =V
Qi/2+ O =V
Q1/2+02/2+ g3 =V
O1/2+02/2+03/2+0s = V

=V ®=V/2 gz=V/4 qu=V/8

Yq=1000V=8/1500q=(8/154/152/151/15) 0000 p0 qUOIDOOODOVOOO
00000p,qU0000000DN000000N00N0NONDN0ONnO

5. 000000000 je{l,2,.,nf000000000000000O0O0OCOOO0OOOOOOOO0O
l100000000DO00C00D1000000DO00O00DOO0O0CO0OOooO0oDOooogooooon
oo

gooooboobobooobooooo

g

1 2 3 4 5 n

1(1 0O 0 ©O 0
21-1 1 0 O O 0
3|]-1 -1 1 0 O 0

o 4(-1 -1 -1 1 O 0
51-1 -1 -1 -1 1 0
n{-1 -1 -1 -1 -1 1
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000000ooboooo234000o0o00o
pi—p2—...—ph =V

Po—...—pn =V
pn:V
000 pr=nV..,pp=VOOOOOOOooo pDDp:(pl,...,pn)(pi:%)DDDD

gooooooo qbo
o1 =V
—Q1+02 =V
—Q1—02+ O3 =V

—1+0o—...+0n = Vv

000 h=V,Gp=2V,....0h=nVO OO0V = Op,q0000000C000O0O0O000O0

coooooooo

nin+1)

6. 000000000 je{l,2,.,n,n>20000000000000001€{,2,..,nf000O0O
0000000000000000000000M0O00I=j000o000000>j0000
0000 b<10000 000000000000 iI<j00000000000000O0DO000

1 (=)
000 :A=()000000000000000000 A t=@"),a'={ -b (i=j+1)

0 (@Oon)
000000 320000

gobooboooboooobooooo

]
1 2 3 4 5 n
1 1 0 0 0 0 0
2 (bt 1 0 0 0 0
3(b2 bt 1 0 0 0
O 4|b3% b2 bt 1 0 0
5 1 0
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000000ooooo AZ0000CC0O00000ooooDooo

1 0 0. 0
b 10 .. 0
An_1= 0O b1 ..0
0 00 ..1

0032000V =1/1"A, 1 = 1/(nb+n-b)IpT = VITAL = ((b+ 1)/(nb+ n—b), (b + 1)/(nb+
n—b),..,1/(nb+n-b))T0q = VA1 = (1/(nb+n—b), (b+ 1)/(nb+n—b), ..., (b+ 1)/(nb+ n— b))
gdddpqbibbbbobbobbdddoooooooo

. PascaOD OO OO

00 nO PascaD 0000000000 b; 0 nxnO00 B,OOOO

B.0iODDOO(x+y) 0OODOODODODOODODOOOOOCalD Velleman(19930 0B, 0000
0 & =(-1)*b; 00000 A/D000000D0000000000000 A 0000000
0o0ooooo

S I IR

8. 0000O00OOOOOOO

2 1 1 1
1 -1 -1

@ [o 2 1] ® |1 9 5 1
0 0 3 43 1
1 1 1 54

2 00 2

© |03 00

00 4 3

1101

()00000000234000000000V=3/700p=(3/7,3/7,1/7).q=(5/7,1/7,1/7)
O0p,q000000000000000000000000000

(Ooooooo000 -l000000000o0oo0o00

1.0 0 O
0 Y2 0 O
0 0 VY3 0
O 0 0 V4



ooooooooooUoooUooUoooo vooooov =1710000p =9 =
(1/10,2/10,3/10,4/10) 00000000000 OOOO V=11/100000

9. Another Mendelsohn game

10.

200000000000 100nh>5000000000000000000000000
00000000000000000 100000000000000002000000000
000000000 200000000000000000010000
(0000000000

000000000000000000

1 2 3 4 5
1(0 -2 1 1 1
212 0 -2 1 1
3|1-1 2 0 -2 1
41-1 -1 2 0 -2
51-1 -1 -1 2 O

(h)OODOODi=1,.,50000 p>00000000000i0000 p=0000000
00000000 pO00 (00O0DOO0O000 pi=ps,p2=ps00000000000000
000)00000000000000000000000
00000000000000000O00000000000000

2p2— P3— Pa— ps=0
-2 +2p3— pa— ps=0
P1—2p2 +2ps— ps=0
P+ P2—2ps +2ps =0
P+ P2t P3—2ps =0

0000000 pr=ps pe=ps00000p = (1/16,5/16,1/4,5/16,1/16)0 00000000 0
00000000000 0000O0pOO0O000O0O00O0O

Silverman Games(R.T.Evans(1979)Huuer Leopold-Wildburger(1991)y 0 0)

200 0000000000000 000O0Medelsohngames D 00000000 O0OOCO0OO
0000000000 O0OoUoOooooooOoOoOoSivermangames 00 OO0O0O0' OOO0OO
0000000000000 00o000o0dU0oOo0 00000000000 Oo0oOoOon 300
0000000000000 000D001000000030000000000 2000000
dooooooooon



104

(0000000000000 0000000000 3x300000000000000

gooooboobbooobooooo

1 2 3 4 5
10 -1 2 2 2
211 0 -1 -1 -1
31-2 1 0 -1 -1
41-2 1 1 0 -1
51-2 1 1 1 O

(b)ooo
3000045,6,.0000000000300004,5,6,.0000000000003x3000

goobooboooboooo
0O -1 2
{ 1 0 —1J
-2 1 O

O00000000ooooooooogooooooooooood

P2—2ps =0
-pr + p3=0
2p1—p2 =0

p=9=(1/4,1/2,1/4,0,0,..) 0000

11. 000

0 1 -2 0 1 2
@ | -1 o 3 ® | -2 01
2 -3 0 1 -2 0

1 4 -1 5

4 -1 5 1

© | -1 5 1 4

5 1 4 -1

2 2 2 2

(0000000000000000000000000000p=q=(1/21/3,1/6)0000

(b)oOOOOOOOO
—2p+ p3=V

P1 -2p3=V
-2p1+ P2 =V
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13.
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V=-1/30000p=(1/3,1/3,1/3)0000q0000000000q=(1/3,1/3,1/3)0000C
p,q0 0000000000000

http;y/www.math.ucla.edi-tormygamesolve.htmll Matrix Game Solver] 0 0O O Blotto 0 0O 0O (39)
0000000000000 D0DOo000o0UooOU0oooooooooooooon (3,10
4000 0000000000000 0OOO0 (B 0000000000000 00O0OOO000
0doooooooooooooooon

Matrix Game Solverl 0 0 (2.39)0 0000000

The value is 1.55556.

An optimal strategy for Player | is:
(0.44444,0,0.11111,0,0.44444)

An optimal strategy for Player Il is:
(0.03333,0.53333,0.35556,0.07778)
ddodooooooooboobobobobobbobooboooooogd

(2000000000000 0BlottoD] 20000Kije0 10000000000000000
BlottoO OO OOO X ={(20),(11),(0,2}0000Kije000000Y ={10),0,1)}000
000000000000000000000

(1,0) (0,1)
(2,0) ( 2 0
(1,1) [ 1 1 ]
0,2 | 0 2

200001,30000000 2000000000000000000000002x2000
00000000V =1p=(1/20,1/2),q=(1/2,1/2)0000

(200000000000 0OOBIottod 30000KIje O 20 0000000000000 0O0O
BlottoD O DD OO X ={(3,0)(21),(12),(0,3)} 00Kje 000000 Y ={(20),(L 1),(0,2)
oo00oo0o0obooooooooooooooooo

20 (11) (02

(3,0) ( 3 1 0
21 | 1 2 -1
L2 | -1 2 1
©0,3) \ 0 1 3

00000000000 g={egj000O0O

9((2.0)=(0.2) 9((0.2))=(20) 9((1.1))=(1.1)
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000000000000000 g={6g0000
9((3.0) = (0.3) 9((0.3)=(3.0) 9((21)=(12) 9((1.2)=(21)

Kile 00000{(2,0),(0,2)},{(1,1)} 0000000 Blotto 00 000{(3,0),(0,3)},{(2 1), (1,2))
00000000000000

(2,0): (2,000 (0,2)00000 /20000000

(1,1): (1,)0000

(3,0): (3,000 (0,3)00000 /20000000

(2,1 :(2,1)0 (1,2)00000 /20000000

00000000000000000

(20 (1.1)
@0 (32 1
@21 | o 2

0000V =4/50000(2/5,35)0 Kije0ODOOOO(4/5,95)0 BlottoOOOOODOO0DO0O00O0O
00 p=(2/51/10,1/10,2/5),q = (1/5,3/5,1/5)0 000

14. () 0000000 300000000000Blottod 40000Kijed 30000000000
00000 (0000000 4x300000000000000000000000 2x2000
0oo)o
000000 Blotto0 000 {(4,0,0),(0,4,0),(0,0,4)}, {(3,1,0),(3,0,1), (1,3,0), (10,3),(0,3,1), (0, 1, 3)},
{(2,2,0),(2,0,2),(0,2,2)}, {(2,1,1),(1,2,1), (1, 1,2)} 0 0 0 Kije 0 0 0 O {(3,0,0), (0, 3,0),(0,0,3)},
{(2,1,0),(2,0,1),(1,2,0),(1,0,2),(0,2,1),(0,1,2)}, (11,1} 0 0000000000000
(4,0,0) : (4,0,0), (0,4,0), (0,0,4) 0000 30000000
(3,1,0) : (3,1,0), (3,0,1), (1,3,0), (1,0,3), (0,3,1), (0,18 000 /60000000
(2,2,0) : (2,2,0), (2,0,2), (0,2,2) 0000 30000000
2,1,1):(2,1,1), (1,2,1), (1,1,2) 0000 30000000
(3,0,0)" : (3,0,0), (0,3,0), (0,0,3) 0000 30000000
(2,1,0) : (2,1,0), (2,0,1), (1,2,0), (1,0,2), (0,2,1), (0,121 000 /60000000
(1,1,1):(1,1,)0000
00000000000000000

(30,0 (21,0 (1,11)

(4,00 ( 4/3 2/3 0
(3,1,0¢ | 1/3 1 1
2,208 | -1 4/3 3
1,1y \ -1/3 1/3 2

4000023000000000 200000000000000000200001,3000
000000 y2000000000000000D0O0000D200001300000000
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023y30000000000000000000000DODDO0OOO0O0OO0OOOO

(30,0 (1,1,1)
(4,0,0) 4/3 0
0000000000V =3/400Blotto00D0000 (34,40Kije0D00000O (916,716)
goog

(MOO0DO0DO00DO00400000000000BIottod 40000KijeO 30000000000
00000 Gbx300000000U00UU0O0ODO0OOO0OUO 4x30000000000 0 Matrix
Game Solvetl OO OO O)0O
O00000O0BIottoO KijeOOOOOODOOOOooooOO
(4,0,0,0)* : (4,0,0,0), (0,4,0,0), (0,0,4,0), (0,000 000 YAODOOOODOO
(3,4,0,0)*: (3,1,0,0), (3,0,1,0), (3,0,0,1), (1,3,0,0), (0,3,1,0), (0,3,0,1), (1,0,3,0), (0,1,3,0), (0,0,3,1),
(1,0,0,3), (0,1,0,3), (0,0,1,3) 0000 /120000000
(2,1,1,0)*: (2,1,1,0), (2,1,0,1), (2,0,1,1), (1,2,1,0), (1,2,0,2), (0,2,1,1), (1,1,2,0), (1,0,2,1), (0,1,2,1),
(1,1,0,2),(1,0,1,2),(0,1,1, 20000 120000000
(2,2,0,0)": (2,2,0,0), (2,0,2,0), (2,0,0,2), (0,2,2,0), (0,2,0,2), (0,0,2,2)0 00 /600000 ODO
(1,1,1,1): (1,1,1,1)0000
(3,0,0,0) : (3,0,0,0), (0,3,0,0), (0,0,3,0), (0,008 000 YADOOOODODO
(2,1,0,0)*: (2,1,0,0), (2,0,1,0), (2,0,0,1), (1,2,0,0), (0,2,1,0), (0,2,0,1), (1,0,2,0), (0,1,2,0), (0,0,2,1),
(1,0,0,2), (0,1,0,2),(0,0,1, 20000 Y12000000OO
(1,1,1,0): (1,1,1,0), (1,1,0,1), (1,0,1,1), (0,1,1A)Q 000 /40000000
doooooooooooooooo

(3,0,0,0)° (2,1,0,0)* (1,1,1,0)

(4,0,0,0)" 1 1/4 ~1/2
(3,1,0,0)" 1/2 3/4 1/2
(2,1,1,0)" 1/4 1/12 32
(2,2,0,00 | -1/2 1 2
(1,1,1,1) 1 0 1

3000045000000000 1/2000000000000000000000D000O0O00O
00 Matrix Game Solve OO0 0O 00O OOOO

The value is 0.6.

An optimal strategy for Player | is:

(0,0.8,0,0.2)

An optimal strategy for Player Il is:

(0.53333,0.4,0.06667)
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15.

16.

Battleship( O)

00000 (savo0 0 00)002000000000 (0000 10x10)00000000O00O0O
0do00odoooboooooboooooooooooooooooooooooooooooooa
0000 (0000 100000 httpy/www.kielack.déggamegdestroya.htnD OO0 000000
Oooo)o

00003x3000000000000000000 (OO0 200)000000000000
dodo0oooboooooooooooooooooooooboooboooooooooooon
O0000oUoooouooouooo(Ghi)yDooUoOo (mss)DOOD0ODO0DOOO0OO0OO0OOOOOO
oo oooooooooga
0000000000000 100 9000000000000400

1

0000000000000000000000000000000000 12000000000
0000000000000020000000000001,2),[2,3],[3,6].[6,9]1,[8,91,[7.8].[4,7].[1,4]
010000000000 1800000000 [1,2]* 00[2,5][5,6],(5,8],[4,5|0 100000
00000 400000000 [2,5*0000000000000000000 2xmmO00
000000000000)0000000000000000000000000000000
00000000000

Dresher’s Guessing Game

00o00o00ooooooo 4,2,.,n0 10000000000000D00D00DOO0DOO0DOO0OO
000000000000 oo0ooobO0oo0oooO000ol1lo00o0oo00 100001000
0doooooobooooboooobooooooooooooooooooooooooooa
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2.4.5 Description of the Pivot Method for Solving Games
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2. Two Guesses for the Silver Dollar
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4. A Forgetful Player
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5. The Kuhn Poker Model(H. W. Kuhn(1950))
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(Beasley(1990),Chap. 6.)
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Example 1. The Inspection Game(M.Dresher(1962))
0oddnOO0OO0OD0O0O00O0O0O0O0OD0ODODOO0000000o0ooooooDoDbObOOoO0 nDbOobOobOoOn
ggodgooooooooobbobobbobboddddooooooooooboboboobooobooboooo
00 1000000000000 00000D0000000D0000O000DoO00oDoOOoDOn
00 G, 00000000 oooonooodoo G=100000000000o0oooon

act wait
_inspect [ 1 0 B
Gn = wait ( 0 Gn—l) for n=23,...
gooooooooon
Val(G;) =1
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Example 2. Guess it!/(Rufus Isaacs(1955), Martin Gardner(1978))
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ignore call
n 1 n
honest mGn__l,m + 5 mGn_]_,m
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00000 targetcardd 0000 0000000000 O0O0OO0O0O00OO00 000000000000
ooo

O00m>1,n>100000000000000000000000000000000000000
00000000000 m>1,n>1000000000000000000000000000000
000000000000 00000000m+n+1000000000000000 1/(m+n+1)0
00 (QO00000 (n+1)/(m+n+1)0 100000000 m/(m+n+1)0200000)00000
0000000000000 0000000000000000000000000000000000
0000000000000000000000000000 1/(n+1)00000000000000
0000000000000 0000000000000000000000000000000000
000000 IY(m+1)00000000000000000000m/(m+1)>1/2>1/(n+1)0000
0000000000000 000000000000000000000000000 n000000
00000 (n-10000000)0000000000000000000000 /(n+1)0000

(23)0 300000000000000000mM>1,n>100000

ignore call
honest { -Gp1m+ = =G
— el oN=lm™ ppg peon-1m

0000 2x2000000000 (21)000000000000000Gpm10 Grin0O00000

3/4 1/4
(220000 U0UDO0G,UDODOODODUOODOODUODDOODODDOOO Gl,lﬂljlj[ (/) i ]I:IEJ

0000000000 1200000000000000 (23,Y3)(000000 Y30 blufoOoO)O0O
000000000000 (Y2,2)0000

000'm>1Yn>10000000000000 saddlepoin000000000000000000
00 ValGmp) D mOOUOODOO0O0OOONOOO0OO0OOU0OO0O0OO0OOO0O0OO0D (UOOOOOUOO

b
DDDDDDDDDDDEVWFAMGWQDDDDW{a d]:@mwmﬂauhb—@DDDDD
C



O00000oooo0oOm>14L,n>1000000000

%1(1(1— Vioim) + 75

_ 1+n(1-Vi1mVam1

Vn,m—l)

1 + (n + 1)Vn’m71

goooobogooboobbooboboobbooboboo

gooodmdngboooboobbooboooboobboobobooobg

m\n 1

2

3

4

1

5

Fnl (1 - Vn—l,m)

6

0.5000
1 | 0.3333
0.5000

0.5000
0.2500
0.5000

0.4000
0.2000
0.4000

0.3750
0.1667
0.3750

0.3333
0.1429
0.3333

0.3125
0.1250
0.3125

0.6667
2 | 0.5000
0.3333

0.5556
0.3333
0.3333

0.5111
0.2667
0.2889

0.4500
0.2143
0.2500

0.4225
0.1818
0.2301

0.3871
0.1563
0.2055

0.6875
3 | 0.5000
0.3750

0.6250
0.3750
0.3250

0.5476
0.2857
0.2762

0.5126
0.2361
0.2466

0.4667
0.1967
0.2167

0.4411
0.1701
0.1984

0.7333
4 | 0.5556
0.3333

0.6469
0.3947
0.3092

0.5966
0.3134
0.2634

0.5431
0.2511
0.2342

0.5121
0.2122
0.2118

0.4749
0.1806
0.1899

0.7500
5 | 0.5714
0.3333

0.6809
0.4255
0.2908

0.6189
0.3278
0.2566

0.5810
0.2691
0.2284

0.5389
0.2229
0.2062

0.5112
0.1917
0.1885

0.7714
6 | 0.6000
0.3143

0.6972
0.4410
0.2834

0.6482
0.3488
0.2461

0.6024
0.2808
0.2236

0.5704
0.2362
0.2028

0.5353
0.2003
0.1854
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l1<nm<6000000000000C0O0OCO0ODOOO0ODO0O0ODOO0OOOODOOUODOODOOODOO

buf COD0OO0D0D000000O00000D0O00O0000000 calODOODOOOOOO

263 000000 e00O0ODO

gooboobooboboobboobboooboooboobboobooobOoobDboobboon

goooobooobooboboobbooobuoobboobobooobooobooonoo

o

G 1
1 0
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00000000ooooooDooCo0o000 1000100000000 00oDDoDoDo0ooooooooDoOo
0o0odO0o0ooU00oooU0O0oooU0OoooO0O0oDoO000ooOooUOooOoDO0 GoUoOooooooOooo
O00o0o000ooOo0ooOo0bOoOO00ooOoOooo00ooOdO0 1000 100oDo00o0oooooooo
0000000 QUUOOUDOooooooooOOoo
1
°=(7 o)

0000000000000 000000000000000000o0oO00ooooooGUOUOO
00 QUUIDDODOOODODUUDNDOOD1ID0O0O0O0D00UU0NDNDODODDOOoOOoOoOOooooooO
goo

00 20000000000000000000010000000000000Q=100000 1
O0000000000000D000000000 1000000000000000 Q<1000000
0000000000 100000000000000000000000000000000e>00
000000000 1-e00000000CO00O00OO0ODOCOCDOO0O0O0ODOODOO0O0O e0O0OOOO
O000000000e-00000000000000000000 (L-€e)(00 1-e0100000 €
0200)00000000 «-00000000000000000O0O00O0O0O0OO0O0O0O0O 200000
000000 QUDOO0O0O0 00 1000000000000 D0O0OUODOoOoDOoooDoOoOOoooo
O00o00d0ooooo0dU0OoD 20000000000000OOO00 200000000000 000O0OO
1.-1-e+0-e=1-e000000000000O000O00OO0 GOOOOOODO 1000000000

0200000000 Q=100000 100000000000000000 Q<l10000000
000000 (- 000 e-000000

oooooooooooon
(Go 5
GO_(l 0)’Q

o0o0o0oO00O0O0O000O0 QUUUODODODOD Q=100010000000000O00O0O0OO
0000 1<Q<50000QU0000oD Q=5000050000Q<100000000 100
O00000000000000 GUOOOO0OO0OO0 GoOoooooooooo (oo (Y2,y2)0000
0000) 00000000 Q<500100000000000Q>5002000Q=500000
goo

00000000000 0DO00000O00000O0DO00oO0Do00oD0GynOoOooDoOvoo
gboodvOobooobooobooboboobooobooboboovbooobooobboo

v 5
v_VaI( 1 0)

Oo0000o0oo000ooOo00ooo00oDooo00ooo0oDoogOol<vsS500000O00O

OvOoOooooo (ooooo)d
gobooboooobogvbooobooboboobooooboobboovboobboobooo

gbobooobogbboobobooboobobuoobbooboooboobbooboooboobn
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0000000000000 ooo0oD0ooD QUUUDDODoUODoOOoDUOoODLDOoOoDOoOoDO
000000 Everett(1957)1 O Milnor O Shapley(1957p 000000000

Example 3
G 1 0
G=|1 0 G |,Q
0 G 1

Oo0ooo GooovoOdo

v 1 0
v=Vall| 1 0 v :1%\/
0O v 1

000000000000 v=120000000 QUDO0D000OO0O00D0OODOOOOO0O
(1/3,1/3,1/3)0 0000000000000 0000O00Oooo0oO00oon

Example 4

Dare0 00 00CU0O00ODOO0OO0O0ODOCOOOOODOO (DOOO)0DDO0OOOOD(UOOOOO)
O00O00Opass dare0 00000000 pass0O0O000000 0000 (DOOOOOOO)ODOO
OO0 passUO 000 dared 000000 10000000 dared 00 passD OO 0000 30000
00000 dare0 0000000000 0ODOOOOOO0 (DDOOUOODOOODOUOOOOOUOOOOO
O000000000000) 0000000000000 000000000o0O dareC00oOoOoOO0O
00000 0000U0DOoO0DOoOoOooOoooog

pass dare
G _Pass 0 1
“dare\ 3 -GT

-G' 0000000000 O00o0oO0ooooooo (bCoooooo GDDDDDDDD)D—GTDD
ooGUoOoooooo

O0vO0O GOOOO0OO0OD0OO0OD100000v>000000000-G'0 -vOOOOODO GOOO
O0saddlepoinD DOO0O0O00O00O0

3 v/ 4+v

v:VaI(o 1) 3
0000200 V+4v-30000000000000000v=V7-2=.64575.- 00000000
000 ((5- V7)/3,(V7-2)/3)000000000 3- V7, V7-2)0000
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Example 5
00 300000000000000
(G, O (G 1 (G 2

Gl‘(o Gg) G”« 1 o) G“« 2 0
0D000000000000000000 QOOOO0O00000000000000VW; =Val(Gy),v, =
Val(Gy),vs = Val(G3) 00000000000 (1Y2,42)000000000000000v; > 0,vw >
0,v;>000000000000Ww<1,vw<20w<10000000 saddlepoindi0000000
00000000000

VoV3 1 4

V1= ) Vo =
Vo + V3 2-V;

O00200000000000000000000

V1 + 4vq _ 4
2—V1 4—V1 B (2—V1)(4—V1)

5v;2 - 127, +4=0
(Gv1-2)v1-2)=0
0<w<10000O00D0O00 v =2/50000000YQU0000

Game value OOD0O=00000

Gi 25 (16/25,925)
G 5/8 (98,38)
G3 109 (59.49)

264 0J00OO0ODOOOODOOO

gooboobooboboobboobboooboooboobbo0oboooboobDboobboon
O00000o00ooDoo0o0oo0ooooooooooooG,,...G,00ooooop,.p0000 1
000000000000 GoOO0O0 p(i=1,.,M0000000000000O0O0O0O0O0OOOOO0O
00000000000 pGL+..+pnGn 00000000 0O0ODOOOOO0OO0O0O zOODOO1x100O
(000000 z0OODODODOO0O0DO0DO0D0DO0O00O0O000000O000000000000000 GO
gooooboogboooboooboo SDDDDDDDDDDDDDDD%Gl+%(3)DDDDDDDDD

Example 6
0000 GO0 G, 000poopoooooon

Gl:(%ez+%w) 1) Gzz(gel+§@2) 0
2 0
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O00000d0uooooooooUoU (O 10)uooooooooooooooOooooooooo
000d0000oo00ooDo00oo0o0oOoO0 1000 1000000000000 ooooooooog
00000000 -20000000000000D0000000DOODOO0OO0O0OO0O0OO0O0OODOOOO0OO0
000000000v =Val(G)(i=1,20000000<w<1-1<w<0000000000000
0 saddlepoinD 00O O0O00COO

1
_ §V2 1 _ 4
v1_VaI( 2 0 6-v,
2y _é 0 )__2(1—v1)

0 -1 5-2v;

w

Vo :Val(

oood
4 2(5— 2V1)
Vi = =

- 2(1-vy) —
6+ 5_—2\& 16— 7vy

000200 7V42-20v,+10=00000000000 vy = (10— V30)/7=.656--- 0000V, OO
0000D0000000D0O0w =-(2V30-10)/5=-.191.-- 00000000000 02000000
00000000000000000000

Example 7

00 2/30000000000000000000000000DOO00DODO00DOO00DODOO00OO
00000000o00ooooooooooo l0b0ddbo4p0p00poooooooooooonog
godoodogooooooboobooobbobobbobtbddddoooooooooobobobobooobooboooo
ggodoooooobobobooobobooobbtbddddoooooooobobbo bbb bboboobo
00000000ooooo Qoood

GUOOoOOOoooooooood

o-(Iogicen Fusi0) )
£0)+3(4) 5(-G")+3G

vioodooooooogad

1y 2
V=Va.|( 34 :i )
3 3V
v>200000000 saddlel000v=2/30000000000v<20 saddled00OO0O0O0OoQgnO
oooogogg
8+ V2
V=

5 O Vv -18v+8=0

200 000000000000
v=9- V73= .456...

googoooogbooobooooboo

13- V73 V73-7

( 6 6

) =(.743--- ,.256--)
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gboooobod

11- V73 V73-5

( 6 6

) = (.409--- , 591 )

0000000 QUOooOogoo

265 00O0OOOO

0000000000000 00000000000000000000000000000000
D0000000D0000000D000000000000000D000D000DO000nooon
D00000000000D0000000000000000000OFilarO Vrieze(1997) Maitra O
Sudderth(1996 O OO O0OCOOOO0OO0OO0O Shapley(19530 000000 00O OO OO Raghavan et
al(1991)0 00000000000 Kuhn(1997)0 0000000000000 000000 Shapleyd
Dooooooo

D00000GUDOODODOOD {4,2,.,NJOODOOODOOOO starting positiord 0 00 0O
DO00D000000GW O starting positior] kDD OODODOODODODOO kOODOODODOODOODOO
D00 AW =@l 0000000000000 kooooooooooooooooooo AWOO
000§, j00000000002000000000010000000000000000000 &;®
000000200004, ,Kk000000000000000000000000000 (000000
000)00ooooooooooood s;®ooooooooloooooo P®)oooov,jk
DO000O00O0DOo

N
Sj(k)+Z:|:>ij(k)(|):1 (2.5)

I=1
ggodoooobobobooboooboboboobbdoddddooooooooobb bbb bboboo

000ddoooooboboboobbboboboodddstbdddoooooooon

S=mwsﬁ”>0 (2.6)

I’J’
0000000000000 ooDooooD0oooo0ooooooooooooooooooMO

0000000000000 (M=maxkla;®)00000000000000000000000O0
0000000000000000000000000000000000Oooooon

M+(1-9M+(1-9°M +...= M/s (2.7)

gooooooooboobobobobobobbbobbbbbbbiddoooooooo oD b o
gboooobogoboobobooobooobooboboon

N
G(k) = a”-(k) + Z Pij(k)(l)G(l) (28)
1=1
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000000o0o0o00oo0oooo00D 10000000000 ooooooooooo Sj(k)IZIDDDD
gooboooboobooootboobobobobobobobobobobobobobobobobDOonDO
goooobodoboboobbooboooboobbooboooboobDboobboooboobo
goog

gboobogobogbboobooboboobobbooboobboobobooboboobboob nb
gooobooboonbObO0OO0ObOOOCODOO0ODODOOO0ODOODDODOObODODODODDOUODDbDOObOObDOD
gooooboogoobooboonboobbOo0obboobooboobboooboobDboobboonboo
gboooobogoboobboobooon

0000000000000000D00D0000000000000O0O0D0 starting positiord 000
000000000000 000000000000000000000000000000o00O G
000000000 n0O0O0O00000000000000000000000000O0O0 (stationary
strategies)D 000 0000000000000 O00OO0OOOOOOOOOO0O

m Theorem 1(Shapley(1952)) 0OOOD GW OO vwKODOOOOOOODODODOOOOOOOOOOO
Dooooo

N
v(K) = Val (au,-(k) > Pij(k)(l)v(l)) k=1..N (29
=1

000000000000000000 koOoOoOoOoO0ooooooooo0ooooooooon

N
AV () = (ai i+ Z Pi j(k)(I)V(I)) (2.10)
=

vOoOOoooov=(vl),..,vN)DoOoOo

00 (29)00000000000000000000000000000000000000000
0000000000000000000 (28)00000000000000000000 Appendix 2
00000000

Example 8
0000000000000 l100000ooooooo Ggooooo

o[ 1+@/EG 3+(1/5G )

"\ 1+ @56 2+ (256

0000000000001 000 20000000000 00002000 10000000 OOOO

O00obooooooooooobooooooboooobooooooooooooboooon
000000 actveD0O0OOCOUO0OO0O0ODO saddlepoinD D000 O0000000OOCOOOOOOO
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0000000000000000000000000000000
1+ (3/5Vv 3+ (1/5Vv
1+ (4/5Vv 2+ (2/5Vv
_ (X+4/5v)3 + (1/5)v) - (1 + (3/5V)(2 + (2/5)V)
1+ (4/5Vv+3+(1/5Vv-1-(3/5Vv-2-(2/5V

v:VaI(

=1+v-—(2/25\°

oooooo
(2/25\ =1

00 20000000020000 v=++252=+(5/2)V2000000000000000+000
gdododoooooooooo V:(5/2)\/§:3.535|]DDDDDDDDDDDDDDDDDDDDD
oooooo

1+ (3/2)V2 3+(1/2)«/§)

1+2+2 2+ V2
D000000D000D0000000 p=(vV2-1,2-+V2)=(414.586)0 0000000000000
g=(1- V2/2,v2/2)=(293.707)0000000000000000000000000000000
DDDDDDDDDDv:(S/Z)\/EDDDDDDDDDDDDD

266 O0O0OOOOO

000000000000000000000000 (90000 1000000000000000
000000000000 00000000000000000000000000000000000
000000000000 10 Shapleyl 00000000 OO0ODOOShapley iterationd O 0 O

00000 vo=(Vo(l),...%(N)) 00 000000000000 00000000000000000
0000vw=0=(0,.,0)0000000000000 v, 0000000000000000 Ve OO
0Dooo

N
Vni1(K) = Val|a;® + Z Pi; ©()va(l) k=1..N (2.11)
1=1
Vo OOV ODOODODODOOODOOOOODOv(KODOOOOOOO0O0 nd00000000000
0000 KkOOOODODOODOOO0000000000000 KkOoOOO vi(k)=Val(A)OODOO

00 100000wK O KkOODOODODODOOODOO0OO0O00OvwkDOOODOOOO0O00o0O0200
0000000000000001000000000000000000000000 (1-9"000
0000000000000000000000 (Appendix200 1000)02000000 n+100
D0000000000000NO00Nn+100000000 (1-9)/s000000000 (Appendix 2
00 2000)0

20000000000000000000000000000 GY,GRPoooDoDOo0O0O0O0nn

oo
G(l) _ 4+ SG(]') 0+ 4G(2) G(z) _ 0+ SG(]') -5
| 1+.4G6@ 3+ .5GW a -4 1+ .5G@
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00000000 ve=(0,0)0000000000000v;=(2,-2)00000

vl(l):VaI(i' g)zz v1(2):VaI(_o4 _15):—2

oooooooo

.6 -8

v2(1)=VaI( P

1 -5
)_ 20174 v1(2)_VaI( _4 0 )_ -2

goboooboooobooon

v3(1) = 2.0210 V3(2) = —1.9983
va(1) = 2.0220 va(2) = -1.9977
vs(1) = 2.0224 v5(2) = —1.9974
ve(1) = 2.0225 Ve(2) = —1.9974

D00000000 .5000000000000000 (5)'0000ve000000000O0.00020
ooo

O00D00veOOOOODDDDODODODOOOoODOoD GYoooooooooono p® = (.4134.5866)
O0D000O0DD g@ =(.4995.5005)0000

2.6.7 Exercises
1.000000000000
(0 G (4 3 (0 6 (0 -2
o=(q &) &=(5 1) e=(s 1) &=(5 7
000GL,G,,G 000000 vi,Ve,va 00 00000000G; 0 saddlepoind 0003000
vi =30G,,G3 0 saddlepoinCb 0000000

0-6+1-5 0+2+0+2
ooooooooGoooooon
Gz(g —31)
GO saddlepoinD 00000000 vOOOOODOOODUOUOOO pO0000CO0O0OOOOOOq

gooogno
v=10/7 p=(4/7,3/7) q=(4/7,3/7)

2. The Inspection Game
GmnOOONUDUOOOOODOOOD mMOOOODOOOO inspectongam& 00000 (DOOO
1<n<mO000 Val(Gmp)=100n>100000 Val(Gey) =)0 00000000000
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ooooon
l<m<nO0000000C0OO0

act wait
G _inspect { 1 Gm1n-1
mn _Walt 0 Gmn_l

0000 1< Gmnt < Gman1 000000000 saddle poin0000000000Vm, =

Val(Gn) D Oooo
an—l
1-Vm1n-1+Vmna

an =

3. A Game of Endurance

000000 102000000000 n00 00000000 0DODOODODOOODOODOO
010 200000000000000000000000O0O0O00000000O0O0OOOOO
0do00odoooboooooboooooooooooooooooooooooooooooooa
0000000 lo00uG,UU00000000U0U0U0UOUOUO0n Go=(1),6:=@Q)0
O00o00o00O0oo00oooO0U00oO0 (oo00oooU0U0ooOO0o00O FpOOOOoOoOo
0oo)o

doboooooboooooooooboooon

1 2

Gn_l (1+Gn_1 Gn-2 )

- 2 Gn_l 1 + Gn_2

gboogoobogobog

Val(Go) =1
Val(Gy) =1

Val(Gy) :Val( : ;)z 3/2

_ 52 1) _
Val(G3) _Val( 32 2 )_ 7/4

4.00000000 Gg,Gy,...,0000

3 2 n+3 n+2
Go_(l G)G(l i )

O0000O0oooooooooo oooooo
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5.(@)000 guessith Giy(m=1"n0000000000000000000 1/(n+2)0 bluff
000000000000
0 (2.4)0 G, 0000000000

ignore call
n ~ 1 n ~
honest m(.;n__l’1+ﬁL mGn_]_,]_
bIUff Gn’o 1

(b)G1,, 000000000000 000000 Vin(G,a00)00O00000000 callO0O
ooooooon

6. 000000

(000 G-=

2 QUoono
1 9

0000000 200000000000000OOO000DODOOQ=00000Q>2000
00 2000000000000 1000000000000D0 20000000<Q<2000
OO0 QUDOOO0oOOoooooooooO

V_v2_v
“\0 1) v-1

O00000oov=02000000000000000000 100000000000000
Ooo00100000og

G 1 1
(b)ooo G=] 1 0 G |,QUuUuOO
1 G O
0o GooOovooo
v 1 1
v=WVall 1 0 v
1 v O

7.00300000000000000O

(G 1 [ Gs 0 (G 1
@-(T ) (T 2) =T 5
0000000000000000 QOOOO0OO
vi = Val(Gy), Vs = Val(G,),vs = Val(G3) 00000000000 (1/2,42) 0000000000
0000O0w>0,%w>0,v>000000000000000000000

-1 2V3 -1

Vi=—, Vo= ——, V3 =
Vo — 2 V3 + 2 \
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10.

gobogoo

_ -5+3v5

_ 465+93V5_ _13+3+5
2 — =

Vi V2= 7305 Vs= 737

.0030000000Do000o00gog

G, G, Gg

G, O G, 1

Gi=| G, G3 G GZ:( 01 2) ng( 2 )
Gs G G

000000oUooooooooo QUooooO

000000 1000000000 o0o0ooo0ooooooooooooooogoooon

00000000 20000 highDlowDOOOOOOOO0O0O 20000 nearfall 00000
gbooboobogoobdoobboobooobuoobboobo

near far
high .8 .5
low .6 7

gboboobogoboobbuoobbooboooobuoobboobobooboooboobon
ooooboooooboboooboooooooobbobobobobobobobobobobobobobobooboboon
gooooboogobooooo

gbogoobogbobooboboooboonoobooo

near far
_high (.8+.2(—GT) .5+.5(—GT))

C=low |6+.4(G") 7+ 3(-G")

gbooggbvoobood

v=VaI( 8-2v 5-5v )

6-—.4v 7-3v

0000 saddlepoinE 00 0000000000000 Ov=14270000000000000
0000 p=(1/4,3/4)00000000000000 q=(1/21/2) 000000000000
0000000000000000000vO0O0O0O00O0O0000000

000000000 pO000000O0000O0O0000k=1,2.,0000000 k00000
0000000000000 0000000000000000000000000000000
00000 kOOODODOOO0O0OO0OO0OO0O0O0000000000000000000000000
00000000000000000000000000000000000000000000
000000000000

(p=1/20000000000
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(bYpOOODODOODOOODODOOOOOD 0000000 p>100000000

11. 000000000000
G_( 4 1+(1/3)G )

0 1+(2/3)G
D00D0D0vOOMOOO saddlepoinl 000000000000 MMODO00 V2-4v+12=
00000000000 0000O00Od

12.00 2000000000000000
G(l) _ 2 2+ (1/2)G(2) G(z) _ -4 0
0 4+ (1/2)G?@ -2+ (172G -4+ (1/2)GM
(@0 v(1),v(2)Dooooo (9oooo
(b 000000000 DOO0DO Vo= (0,000000 Shapley iterationl D00 (@0 00000
DO0o0o00o0ooo
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2.7 Continuous Poker Models

0000000000000 0000000000000000000000000000O0 [0,2]10
gooodooooobobobobobobbobobbbtbddddoooooooooobobobobooobooboooo
ggooooobon

0000000000 200000000000000000Boreld von Neumanrid 00O 00O
O00BorelOO0O 19380 0 0"Le jeude pokerl] 5000000000 00000 Von Neumann
000000000000 00000OTheory of Games and Economic Behavior by von Neumann and
Morgenstern(19440 0 0 0000000000000 OO0OOOO0O 190000000000 0O000
0o0odooooobobobooobbbobobooddddoooooooooooooooooooo

O0000000xOO0O 0100000000000 0000O0O0O0ODO0ODO0O0O0ODO0O0O0000
xe[0,1]U0000000000U0UOXx0O000O [0ljloCUUU00O00UUUO0ODOO0UOUODOOO
O000o0ouooo [oll0000UDUU00UO0dy0000OU0ODODOO0ODO0UOOODODDODOOOOO
00odooooooboboobobbbooboboodoooooooo

xO0OyOOOOOOOOOOOoooooooooooooooooooooooooooooooouo
0000000000000 (U0oo0oU0U00oOoo0UUO0oOoo0UOU0O0OoOoOUUOUOoOoOooOOoOooOoo
O0000000000000000000000Sakaguchil Sakai(1981) 000000000000
0000000000000 00(@O000000000000oo0oooo0ooooooooooooo
O0000)oooUUUoUooo (UUUUUoOoooO)0oU0d openddnd)d

ggodoooobobobooboooboboboobbdoddddooooooooobb bbb bboboo
0o0oodooooooobooobobbobobbodddddoooooooooooooboobooooooo
gooboodooobooooooooooboooboooob oo oo b0 oooooboooon
ggooobbbbooooodoooubobtbbooooooouobb bbb oooobboo
Ponssard(1973) 00 000000 SorinO Ponssard(198Q) D OO O0OOCOOOO0O0OOOOOOOO

0o0odooooooooooooooboobOo0oooooooo o000 o oooooo
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000000 (WOOOOOoOoOO0o0oo0O(u,v) 00 (GWOooooooooo (000000
000)o
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1.S0000 (0,0),(0,1),(3,0000000000000 (0,0)0000000000000000
-1/30 (0,1)00 (3,0)000000u-v=cO00000000000000 -1/3000000
0000D0O00(0,000 (LWOODODODODO0-1/30000000000000000 (3/2,1/2)
000000000000000000O0NTUOOOOO

O 344

2.NTU-DDOOO0O0ODD0O0 S={(xy): (x-2¢+4y-1?<8 00000000 (u,v)=(21)0
00000000 342000000000 (x-2)(y-1)0000000 (xy)eSOONTUDODO
00000000 1++V2)00 (2+2v2,1)00000000000000000000000
00000000000y-1=+2-(x-22/4000000(x-2)(y-1)=(x-2)y2- (x-2)?/4
000000 x€[2,2+2V2]000000000002- (x=22/4— (x—22/4~2— (x - 2)2/4
0000000 00D00000000 (x-22=400002+20000x€([2,2+2V2]000

x=4,y=20000000000000 LW=(42000000NTUODOOOO
3.NTU-0D0D0OO0O0000 34.1(@000000000000 (3.1)000000000000000
0000000000000 0000000000000000000000000000000
000 (0,0)00000000000000000000000000000N0NO00NONoonn
0000000000000000000000000000
[ 4,3) (0,0) (0,0 ]

(22) (L4) (00
(0.0) (0.0) (0.0)

(3.9)

0000 3.4.1000 NTU-OOOOOOOO0OO0O00000 (u,v)=(0,00000000000
000000000(L,4)00 (43)000000000000000-1/300000000000
0000000 /30000000000 (43)000000000000000 (1,400 (4,3)
00000000x-y0OOOOOO (xy)JODOOODOO0OO0OONTUOOOOOO (4,3)0
ooo
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The Lambda-Transfer Approach

0000000000000 000000ooodLoydShapleygd 00 NTUOOOOOOO 100
000000100000 000oo TUooooooooon2000040000000000000
0000030000000 0000000D000DO0D000DO0D00DODO0o0DOoD400000
O00000000000000000 (0,0) 00000000000 0ooooo00oooooooon

NTUOOODOOODODOOODDOOooodooooooooooooooooooooooooooTU
0000000000 DOTUOO NTU-OODO0OO0OO000D0D00D000000000000 NTU-OO
0000000000000 0D00D0D00DoD0o0DO0ooOooDo0O0oDOooDOooONTUDOOODOO
00000000000 TUOO NTU-ODODODODODODODOODOODOooOooooan

d00o0dddoooodooooddooDoOodooob0doooOo0o00ooD 1000ooooa
0000000000200 000000o00o00oooo0oooo0 A>00000000o0ooao
O000000000ooooooo0oooooooon (ABooocoooooo (AABODOOOTU
000000000000 0o00ooA00000O000oUooooooooooooO a-transfer
gamel 0003420 0000000 Atransfergamél TUO O OO OOOO @A) = (e1(1), g2(2)) O
oo

() + 6(1)
—

o () - 6(1)

¢1(4) = 5

@2(A) = (3.10)

o (1) = maxj{la; + b} 006(1) =Val(lA-B) 0000000 ¢(A) 0 NTU-ODOOOOODDOO0O00O
O0000000000000NTUOOOOOOOOOO A0 NTUDO OOoO0oOoOoooooooo
oooA000000oooooo

00000000000 D0O0U0UUDOOUUUOOOOUOUOn ValRA-B)OOooooooo
0000000000 A-BOOOUOOOOOO saddlepoinD 00 O0O0O00O0COOOO (ABYOOO
0ddddd000dd0d0OoOoOoooNTUDODODOOoOoo0000dooooooooooooooooo
doooddooodooooA0d00DOddDooOO0o00oDDOd00oooooD AA-BOODOOOoooO
00 saddlepoin0 0000000000000 O0O0OO Atransfergam@ 00 000A000O0O00O0O
0000000000 (3.10)0000000000ADO -BOOODOOO saddlepoinb0O0O0OO0O0O0O
gooooao

00000 ld0d0oo0oooooooooooooo

(-11) (L3)
A1
((0,0) 3 -1) (3.11)
. -1-1 aA-3
Al -BOOOOOOO saddlepomDDDDDDDD/lA—B:[ 5 - 1]|:||:||:||:|[| A>00
+

00000000000 saddlepoin0 000000 (0,0)00000000000O0OOONTUOOOO
00000000 x=y0OOO -1000 SO00000A00000000x00000000 (OO
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00000000SO00000000 -100000000000)Y00000000000(0,0)00
0002000000 A*00000 SO00O0O0000oooo0oooopDoo NTUoooooo
gooooboooboobooon

O0000A=2000NTUDO (L2525 0000

000000 A-transfergam@& NTUOOOOOOOOOOOOOOOOO0OO0OOOOOOOOO0OO
00000000000 00000ONTUODODDOODODO SO00OD000Oo0O0o0oD A*00o0ogoooo
O0000000000000000A*000 SO00000000000o0ooDooon

3.4.4 End-Game with an All-In Player

goboooboobobooboboobboooboooboobbooboooboobbooboboon
gboogoobogoobooboooboooboobboobooobooobooboooboobo
gboogobogbobdooboboooboobobuoobbooboooboobbooboooboobo
dooo0obooobooooo

gobobobooooobobooooobobbooooobobomboooooobobboooooboooon
gboooobogoobooboooboooboobbooboooboobobooboooboobo
gbbooggbogbboobobooboobbuoobboobooobuoobbuooboooboobo
gooooooooobobobobobobobobbbboboooboooooooooooobbbbobbbbobo
gboooobogoobooboooboooboobboobooobuooboboobooobooboo
gboooobogoobooboooboooboobboobooobooobobooboooboobo
oobooooobobooooobobooobobboooobobb0oooUbDbbooobDbbooOoo
gobooobodoboboobbooboooboobbooboooboobDboobboooboobo
gboogoobogoobooboooboooboobboobooobooobooboooboobo
gbbooobogboboobbooboobbuoobbooboooboobbooboooboobn
gdo0ooobooobooooboooo

000000000000000000 End-Gamd&d D00 0000000000000 0OOOOO
gboooobogoobooboooboooboobboobooobooobobooboooboobo
00000DoOoo00oOooopoS000oo000oooo00oDo400000000DODOOODOO
0000000000000 00o0oo0oO0oo0D0oo040000000000DO0ODO0OODODOO
gboooobogoobooboooboooboobbooboooboobboobboooboobo
gogooooboobooboboboobbtbodooooooooooooooooobbbobbobDbobobo
0000000004000 00000000000000D000000DO0O000DOO00OOO0ODODOO0

OO00000oOd0ooooodooAQOODOODOODOOODOOOpOO0ODOODOOODOODOO
0000000 (p000000O0O0O0O0O0O0O000O0O0O0O)IENd-Gaméd OO0 ODOOOoOOOO0O
00000000ooOooO0 BOOOOODOOODODODODOOOOODOOOO0DODOoOoDoOOODODOoOoOoOooooOo
0000000000 AODODO0ODOO0DODOO000O00D0D0O0 AOODDODO0ODOOoODODoOoooooooo
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gboooobogoobooboooboooboobboobooobooobobooboooboobo
00000o0ooU00ooo0O0oooU0ooOoO00oDOooOU0U0ODU0O0 A+BOOODOOOOOOOO BO
goooobodooboobbooboooboobbooboooboobboobboooboobo
00oO0oO0oO0O0ooO0o0bO BODODOODOOOOOO A+BOOOOOODOODOOOUODOODOOOO
O00o00d00oDoo0o0o00oooooO00ooDoOoo00U0O0DooOoD000ooOoOoODOOoO0oOnD ADODOO
gboooobooboboobboobooobooboboobooobooboboobbooobooboo
O000o000ooO0d0DoOo ADOOoOoooooooooo

BasicEndgam@ 0 0000000000000 0000O00O0O0O0O0OO00O0OO0O0ODO0O0O0OOOOO
00 20000000000000 (honest)D 0O OO (bluf)D0D0ODOODOODOOOOOOOOO 20
000000000 (callooooO (foldyDOOO0DO0OO0DO0OO0ODOOOOOOOOOOOO300000
000000000000 2x2000000000

call fold
honest ( p(A+B),-pB+(1- p)A0) (PA (1 - pP)A, O))
bluff  \(p(A+B)-(1-p)B,—pB+(1-p)(A+B),0) (pPAO,(1-pA)

OOCOAO BOOOOODOUOOUOpOOOO0OOODODDOODODODOOOD 300000O0O0OoOODOO
00000o00ooo00oDo00oooo0oDoo0ooDo000o0Do0000D0OdA=100B=10,p=1/10
gboooobooboboobobooboooo

call fold
honest { (1189,0) (10,90,0)
bluff (2,98,0) (10,0,90)
0003000000000 000000d00UUUUUUUUoooLooooooooooooooon
goooooooooboooobooodoooooooooouoooooooooooooonooon
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gooboobogoobdooboboobooobuoobbooboboooboooboobbooboon

call fold

honest( (1189) (1090))

bluf | (298) (1Q0) (3.12)

000 1000 2000000000000000020000000002000 10000000
000000000000000000 (10,90)0 (0 10,0 20)0000000000000000
000000000000 0000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000
oooo

000000000000 0000000000000000000000000000000000
000000000000000000000000000000000 (1090,0)000000000
00000000000000000000000000000000000000000000000
000000000000

0000000 20000000000000000000000000000000000000
00000000000000000 1-pp0000000020000p<1/99000000
(Exercise 7(@)) p=1/990 0000000 (10,894, ¥ 00000000000000000000
0000000000000 0000000000000000000000000000000000
000000000000 0000000000

0000000000000000000000000000000p=1/99000000000
0000000000000000000000000000000000000001000000
000000000 p=1/9000000000 2000000000000000000000
11(8/9)+2(1/9) = 1000000 pO 19900 /9000000000000 O00 100000000
000000000000000000 10000000000000000 1000000000000
00000000000 200000000000

side paymeni 00 0000000000000 O000O00C0O0O0000O00C0O0O000O000OO0O
000000000 NTUDOODOOOOOOO00000000000000000000000000
ONTUDODODOOO000000000000000D0 (102,89:,00000 (Exercise 7(b)) 0 00 00
0000000 100000000000000000 560 100000000000000000
000000000000C0O00000000000000000000000000000 60000
5000000 (000000000000000000000000000000000000000
1/54000000000)0
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3.4.5 Exercises

1.0000000000000ONTUO TUODODDOOOOOOO0DO0OOoOoOoOooooooo

ol &8 £3) olE3 &)

(4.0) (23)
@)

(0,4)

" (4,0)
NTUOOOOOg TUoooogoog
JOooNTUOOOOoOOoOOooooooooo (2,3)D (3,2)DDDDEIDDEIDDDDDTUDD

00000000ooooD (2,3)0 (3,2200000 -100000000000

(b)

3.1)

~ (3,0
NTUOOOOOO TUoOooooo
O0OOONTUOOOOOOOOOOO0O0O0O (4,20 3,)ooooo0o0o00oooooTuon
DDDDDDDDDDDD(3,1)DDDDDDD—1DDDDDDDDD

2.3.4.10 3.4.20 (3.1)0 (3.2)000000TUOOsidepayme 0 0000000000000
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0o

3410 (3.1)0000000000000O

( (4,3) (0,0) )
(22) (L4

OO000000O00DO0o0dbDe=70000000 <4L1>00000000000000000

0ooooooooo
1 0)

A‘B:(o -3
0100 200 0O SaddlepoinDDDDDDDDDDDDDDDDD
p'=(10)7" g =(01)r

00000000 6=00000sidepaymentl 000 TUDOODOOOOOOOO
¢ =(7/2,7/2)

O0ooooo b*=(Dy5,D) 000000000
Dl*:Dz*:O

0000D'00 ¢* 000 49 000D*000000000

3.4.20 (3.2) 0000000000000
( (5,3) (0,-4) )
(0,0) (36)

0000000000000 =90000000 <22>00000000000000000

0ooooooooo
2 4)

A‘B:(o -3
0100 100 20 saddlepoinb 00000000000 O0ODOOOO
pr=(L0)" g =(0)

00000000 §=20000side payment 200TUDDOOOO0O00O0
¢" =(11/2,7/2)

Ooooooo Df=(D.5 D)0 00ooooon
D=5 D," =3

-2000D*00 ' 000 481000D* 000000000
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3.00 Exercise 255 00000000TUOOsidepaymeni 00000000000 O0OO0OOO
()0 00O OO O httpy/www.math.ucla.ed-tonmygamesolve.htmll O O Matrix Game Solverl O O
gooood

(-3-4) (2-1) (06 (L1
@ (200 (22 (30 (L-2
(2-3) (51 (-1-1) (1-3)
(-43) (-5 (@12 (31

0000000000000 =60000000 <1,3>00000000000000000
ooooobogoo

1 3 -6 0
2 0 -3 1
A-B=l 5 6 0 4
7 7 -1 -4

000 MatrixGame Solvel 0 000 00000000000
The value is -0.42857.

An optimal strategy for Player | is:

(0,0,0.57143,0.42857)

An optimal strategy for Player Il is:

(0,0.07143,0.92857,0)

Oo0oddooboooooooooon

p" =(0,0,4/7,3/7)" g =(0,1/14,13/14,0)"

00000000 6é=-3/70000sidepayment] 3700TUDOODOO0OOOOO

" =(39/14,45/14)

0000000 Dr=(Dy5, D) 000000000

D;" =-27/98 D," = 15/98

Dy -Di* =g~ =3/7000D'00 o' 000 45 000D 000000000

©o0 (-1 (11 (10
-11) (@1 (20 (00
(| 1.0 (-1.-1) (©-1) (-11)
1.-1) (10 (-1 (00
@1y (@0 (-1-1) (00
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0000000000000 e=20000000 <1,3>,<51>0000000000000
gboobooboobooboooboo

0O 2 0 -1
-2 -1 1 0
A-B=f 1 0 1 -2
2 -1 2 0
0O 0 0 O

3000 100002000 500001000 4000034000 5000000000000
gbobooobogoboobboobooon

p*=(0,0,0,0,1)" g =(0,0,0,1)"
00000000 6=00000sidepayment] O00TUDOODOOOOOOOO
¢ =(11)
Oo0ooooo Df=(D5DY)Y000ooooon
D;"=0 D, =0

Dy —Di" = — " =0000D*00 o' 000 481000D' 000000000

.S={(xy):y>0andy<4-x}0 NTU-OOOODODOOOOO

(@)u*,v*) = (0,0)000 NTUODODOOOO

0O xyDOOOOOO (xy)eSONTUOODODOOOOXxy=x(4-x)000000 xe[0,2]00
0000000004-3% 0000000 0000000000x=4+2v3/30000x¢€][0,2]
0D00(@V) =(2v3/3,2V6/3) 000000 NTUODODOODO

(b)u,v")=(0,1)000 NTUODOOO OO

O xy-1)0O0O00000 (xy) e SONTUDODODOOOOOXyY-1)=x@-x)000000
x€[0,21000000000003-3 0000000 0000000000x=+10000
xe[0,2]000@WV=(1,3) 000000 NTUDODODOOO

.00000oooooo NTUODODODOOoooooooooo

6.3 (0.0) (.0)
1,00 (-1,1) (00
@ a8 @o 0o | oGy o on)
(0,0) (0,0) (0,0 ’ ’
(A0 -BOOOOOOO saddlepoin00000000AA-BOOOOO A>00000000
00000 saddlepoin0 000000000000 (00)0D000D0O0CUU0DOOUOOOOOO
000 -1000 SOoOpooopoopoooA*=3/20000000
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OOOONTUDOO (46)0000

(MAD -BOOO 100 200 saddlepoin0 DO O0O0O0O0AA-BOOOOO A>000000
000 100 200 saddleponD 00000000 100 200 (-1,1)0000000000O
0000000000 -1000 SO000D00oooooA=0000000

y

(_2’ 9)

(_1’ 1)

<Y

0,0 (10

6. 00000000000 oOUOoO NTUOOOOOUoUoooooooo
52 0,0 32 05
("")( 00 §L4§) (b)( o glog)

7. (0000000000000 Endgamel 00000000000 (I-p,p) 00000000
200000<p<1/99000000 (10,90(1- p),90p) 000 D0D0D0OOOOODOD0
10000000000 ooooa p:1/99DDDDDDDDDDDDDDDDDsafetyleveID
O000ooo00ooooo
(b)DDDDDDTUDDDDDDTUDD NTUOOOOOUOOOOOUOOOOoOoOoooo NTU
godoogoogoono
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41 OO0 TUDOOO

0000000000000 000000000000000000000000000000000
00000000000000000000000000000000 side paymentd 0000000
000O0D0O0O00Osidepaymeni 000000000000 0000000O000000O0O0O0000O
0000000000000 0000000000000000000000000000000000
0000000000000000000000000000000000000000000000
000000000000 TUOODOOOOO0O00000000000000000000000000
(Cooo)oooo

411 OO0OO0OOOOO

n>20000000000000000000100n00000O0ONDOOOOOOOOO
N={1,2..,nf000000SONODOOOODscNOOOOOOOOOOO 2000000000
0000000 0000000000000000NOOOOODOOOOOOOO0O
002000000000000000 (n=2)040000 {0,{1},{2,N}000000 300000
00000000080000 {0,{1},(2),{3},{1,2},{1,3,{23,N}0000n000000000000
ooooo 2Nooo2'0o00000

m Definition nO000000000OO0ON={1,2,..nf0000000000OOCONODOOOOCOOODO
DOoo0o(NODOOOO)ooo200000000000000000000vOOO(N,vyOOoO0Od
goo

@) v(0) =0
(i) (00D0D0)00SOTOOOOOOODOO0O0((SNT=0)0WVS)+wWT)<vSuT)OOOO

ndgoboogoooboooboodoobooooboooobbooobooobbooobooooo
000 wWS)OODOO0OO0O ScNOODODOODODO0o0oo0o000o0oo0ooo00000ooooooon soooo
0000000000000 000 ()Ooo0oO0oO0 o0ODOOOO(@()y D 2000000000000
goooobogooboobooobooboboobboobooobooboboobooobooboo
gboooobogoobooboooboooboobbooboooboobbooboooboobo
goo

412 0O000O0O0OO0O

n000000000000000 2n0 (X, X2, .0, Xn, Uz, Up, .., U)) 00 000000000000
goo
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(1)i=1,.,n00000X000000i00000000000
(2)i=1,..,n00000U(X,..x) 00000010 % e€X 000000000 20 X e X, 00
00---000000 n0 xeX 000000000000i0000000000

0000000000000 000O0oDoD Se2NOooOoOoOoo vS)Oooooooooooooo
0000000000000 D0D0D0D0000 Se2Y0000000 SO 100000000000000
000S=N-SO00000000000000SO00000 s Ui(X,...X%)00SO0000000
0000000000000 0000000D0D00DO2000000000000000000000
v(S) = Val()_ (X, ..., X)) (4.1)
ieS
0 v(S)OOsafetyleveD DOOOOOOO0OO0OO0 SOO0000000000SOO0O00000000n
000000000000000 SO000000000000000 1000000000000SO
gboogobogboboobboooboobobuoobbooboooboobbooboooboobo
SO00D000DoO3000000ooooooooooooooooon
0(4.1)0vOoO0O0000000ooooo0oo0o0o00o0oo 000000 ()ooooooooooo
() 0D00DDO00D0000O00sO SO0O0D0VWS)DOODOO0O0D0O00O0to TOOOO wWT)OOO
D0000000000000 (st)0 SuTOOO0ODO0OO0O00 WS)+wWT)ODOOODOOODOO
000000000000 000000000000000000WSUT)>vS)+wWT)0O0OO
goooobnObO0O0bOO0ObOObODbO0ObbOOo0obOOOobDbOo0obDOoOoboobLDbOoobboOon
gbooooobodobbooboooobooboboooboobbuoobbooboobvboobooobo
00oo0oddoodo0ovOooooooOOooooooooooooOoooUooo 1ooooooooDoo
0000000000 200000 Exercise3d 000
godoooboodvOOOoDOoOOOOOoOoDOoOOOOOUOOOOO0OOOO0 10oogoooboOgooo
D000000D0i00000 X00i:X={Se2N:ieS}j000000000O0O0OOOOOOO
0000000 i00000000000ioo00o000o00n SS000000000000001i0
O000000000oooo0o0o0 v{i)oooUooooooooO0oo SOOU0DODoooooooooo
vS§)DDOD0Dooooooooooo wooooooooo

U; (Sl,

Sy = {V(Si)/|8i| ("i €Si.Sj =S) 4.2)

IRV otherwise
ISii0D00 S000000000000000000 SO SO0000000noo0oonooOo soon

0000000000 VwS)DODODODO0D000oooovooooooooooo Soooooooooo
gbobooobooobooboboobbooboboon
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413 0O0O0OOOO

0000000000000 000000000 XgeuX 0000 SienUi(Xy, ... %) =00000
00000000000000000000S=N-S0SO0000000000 SO000000
Sies Ui(X, ooy Xn) = = Dies Ui(Xe, ... X) 000 00000000000000000000000000O
00SOO00D000 SO000000000000SO0000 SO0000000000000000on
0000 SO000wS)+vS)=00000000000000000000000000000000
000000O00000000 cO0000 YienUi(z,...2z)=c0000000000000000000
00000000000000000000000000000000 S0000 WS)+vS)=c=yN)
00000000000000000000000

m Definion 0000000000000 Se20000VS)+vS)=v(NOOOOOODODOOOO
0000000vN)=0000000000000

414 0O

00000000oooooooooOo0o0o0O0OoOo0oooOOOOO 2000000000 30000
googo

001000000 002000000
0 0
1 2 1 2
o 1| (031 (211 o 1| (1,000 (1,11
4,2,3)  (1,0,0) 2| (001  (0,1,1)

O0000vOOOO0ooooooooooooooooooooov@=00000vN)OOOOO
0000000800000 0000N0N0N0N0NON0NONONO0NONOO (L,2)0000000000 v(N)=9
o0oov({l})oooo0oU0o0o0oo (0,0)00000000000000000O0ODODO

@, 0)
1,1 1,2 21 22
o 10 2 4 1
1 1 0 O

0 1
ZBDDDDDDDDDDDDDWHD:W{I.0]:U2DDDD
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v({2),v({3) 000 000000000,0000000000000000,00000000000
00000000000000000000000000000000020000(0,0)0 (21)00
000 v({2)=0000 saddlepoini 000000000000 O0O0OO v({3)=3/40000

v({1,3) 000000000000000000000000000000000000000000

oo
0
1 2
1101 7
@,0) 1,23 1
211 1
222 1

1 7
0020000 2000000000000000 v({1,3})=VaI[3 1]:5/2DDDDDDDDD

00000000000000000000000000000000000000 saddle poinD 000
000000w{1,2)=3,v({2,3})=20000000000000000000000000O0

415 Exercises

1.000000000000000000000000DO00Oo00 2000000000 30
0000000000000 ooooooooooooooo v({L3)=-v({2Hoooooo

ooooo
Oo01000000 002000000
O O
1 2 1 2
o 1 (-2,1,2) (1-4,3) o 1| (-1,-2,3) -4,2,2)
(1,3-4) (10-5,-5) 2| (12-6,-6) (-1,3,-2)

v(0)=00000000000000vN)=00000v{1)00000000(@,0)0000
0000000000000000

@, 0)
1,1 1,2 21 22
o 1/-2 1 1 10
-1 -4 12 -1
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3400000000000 00w{1}) = Vval

1]:—wzmmmmwmmwwnmmmm

goo0oboooo,000b 00000000 bO,0o0b0ooo0bob0ooooooooo
Jo000o0d00o0o0oo00oooUoo00oUdo 1oooo(@,o0)o (L,2uooao
v({2)=-4000 saddlepoin0 000000000000 DOODO v({3)=-22/5000000
oooooooooo00ov({d,2}) =-v({3}) =22/5v({2,3}) = —v({1}) = 3/2,v({1,3})) = -v({2}) = 4
gogd

.0000d0oooooooooO0o0Ooo 30ooooooooooooo

001000000 002000000
0 0
1 2 1 2
o 1| (1,21  (301) 0 1| (-1,24) (1,0,3)
(-1,6,-3) (3,2,1) 2| (754 (321

v(0)=00000300000000000000 (0,0,0)0(2,2,1)00000000v(N) =16
000O0v({1),v({2),v(3) 00 0000000,0000000000000000,00000
00000000000,00000000000000000000000000000000
000000000000 v({1))=1/200000000000000000 20000(0,0)0
(1,2)0 (2,2 00000 v({2}) =2000 saddlepoinE 0000000000000 O000 20
000(,0)0 (1,1)0 (1,2)00000 v({3}) =1000 saddle poinfl 0 0 O

v({1,3) 0000000000000000000000000000000000000000

ooooo
0

1 2

112 -4

(C,0) 12|4 4

213 11

224 4

saddle poinl 40000v({1,3))=4000000000000000000000000000
00000000000v({1,2)=5v{23)=3000000000

.000000 2000000000

0,2) (41)
( 2,4) (54) )

(0000000000000 0000200000000000000000000000
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v(0)=000Vv(N)=90000000v({1)=200v({2))=20000

(MOOoDoDoo0o0O000000000 20000000000000
0000000000 (000000000 o0ooooo00 200000 100000000
000000 (24)00000000000000 40000000000000

(coooooOoO0OO0OD0O0O TUOODO0DO0DU0D0D0D000000000 1000000000 2000
gobooboooooboo
0000000000000 =90000000 <22>00000000000000000
goooobogoo

A—B:(_Z 3)

-2 1
01001000200 100 -20 saddlepoinD 00000000000 O0O0OO0O

=107 g =(0)

00000000 6é=-20000sidepayment —200TUOODOOOOOOOO

¢ =(7/2,11/2)

(d(000000000000000 (4.2)00000000000000000000000
ooooO

000000000000 X={1,NJ0000000000000000 Y ={{2,Nj0000
(000000000000000

(2} N

H}“ZD 22) )
N \@22) (9/29/2)
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4.2 imputation 0 0O 0O

0000000000000000000000 v(NOODODOOOODOOOODOOOOOOOOOO
gooboooboobooootboobobobobobobobobobobobobobobobobDOonDO
00020 TUDOOOOOOO0OO0OO00MO0Oooooo0o0o0ooooooooooovNooooooo
googooobogoobooboooboooboobboobooobooobobooboooboobo
0000000oooooooooOoUd0oooooooooooOoOo00oooooooO 100000
ooooooooobobobobobobbbbbbbbboo0ooodoooooooobooboobobo
gooboobogoooboobboobbooboboobboobboooboa

4.2.1 imputation

000000 x 0000000000000 0bOo00o0o0ooo0oo0obOo0o0o0O0o0oooOooDOoon
000000000 X= (X1, X, ..., Xy) O Oimputation 000000000 Oimputationd 100000
O0000000000000000000000000o0ovNDooooooooo

m Definition OO0O0O000 X= (X, X2, %) D0 X1, % =Vv(N) DO Ogroup rational 00000000
ggd

0000000000000000000000000000000000000000000000
0000000iImputation X = (X1, Xz, ... %) 000000 2000000000000000000i0
D00O0x>v({i)o0000

m Definion 000000 xOOYi=1,..,n0000 x > v({i}) OO O individually rational 0000

imputationD DO O0O000000000000000O0O0O0OOO0OO0OO0OOO

m Definition imputation O Ogroup rationald individually rationalC O O O O O O O O O O imputationd
gobooooooooood
(X= (X X0) 0 > % = V(N), andx > v({i}) i e N} (4.1)
ieN
000 Jimputationd OnO 000 X = (X, ..., %) S.t.7i i > v({i}) ;% = v(N) O O O O imputationd
0D000vOooooooooyL,vi)<vNDDOODOODO0000000000000000 imputationd O
i=1,..,n-10000 >q:v({i})DDxn:v(N)—ZE‘lv({i})DDD X= (X, %,..%) 00000000
O0D0D00000000nO000O0O0DO imputationd 00000 0Oimputationd 0000 X! % = v(N)
0000000000000 00U0Ud x0oo0 x=Vv({i)oooooooooonoUOOoooooo
agood
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0 4.1.4000v({1)) = 1/2,v({2}) = 0,v({3}) = 1,v(N) = 90 0 0 Oimputaton0 000000000

o0od
{(X1, X0, X3) i X1 + Xo+ X3 = 9, X1 > 1/2, X > 0, X3 > 1}

00O0BOOOO0D0D0000200000000000000M0000 (8,0,1),(1/2,15/2,1),(1/2,0,17/2)
00000000000000000 1,2,300000000000 imputationd 000

4.2.2 Essential Games
10000 imputationD 0000000000000 0000OOOOOO inessential 00O

m Definition OOOO0000OOYY, v({i}) =v(N)OO inessentiald 000X, v({i}) < v(N) O O essential
good

0000 inessentab 0000 100 imputationd x = (v({1}),...v({(n)) D OOOOO0OOOOOOOO
0000000000 Oooooooooo0 safetylevelD DO 0D ODO0DO0OO000OO0O0O0CO20000000
0000 inessentiab O O (Exercise 1)

O000U0000O0U0O0OOiInessentialgame 0 0000000000000 SOO0DOO0OOWS)O
v(S) =Y sV{i) DD 0000000000000 D0000Nnnono

04214000v({1)+v({2)+v({3})=1/2+0+1<9=v(N)OODDOOOOO essential 00O

423 00O

00 imputatonx 00000000000 vN)OOOOOOOOOOOOOOOOxO0000O000O
000000000000000000000000 SO0000000 (RiesX <WS)OxOODOOO
00000000000 00000000000000000000000 xO000000 S00000
000000000000 imputationd 00000000000

m Definition imputationx 0 O0WS) > N 00000 SO00000000O0DO0SO000000O0 X
0000 SO000000O0xO0000000000000000000 xO000O0ooooooo

m Definiion 000 imputationd 00 CODOO00000000000000
C={X= (... %) : Y, % =V(N)and > x >V(S),"S c N} (4.2)
ieN ieS
0D000000000000000000000000000000000000000000000
D0000000000001000000000000000000000000000000000
000000000000000000000010000000000000000 essential 000
0000000000000



228

m Theorem1l essentad nODO00O0OO0O0OO0OO0ODOOOOOOOOO

m 00 xO imputationd OO OO0O0O0O essential 000,y V{i) <Vv(N)ODOODOOOO Ox > V({k})
O0000000 kOoODOOO0O0O0O0O0 @OO0O0000 VN) = SienX < Sien V(i) < v(N) OO
000)D00000000000VN-{k)+v({k) =vINNOOOOOOOO g% = Jien X — X <
VIN)-v((k)=v(N- (k) 0OOOxOOON-{(kOO0OO0O0000000000m

424 0O

0100000000000 vOOOOOoOoOooo

V({1 =1 v({1,2}) =4
v0)=0 v({2)=0 v({L3)=3 v({1,2,3)=8
v({3) =1 v({2,3}))=5

imputationO O X + X0+ X3 =8,X > 1L X% >0,X>10000 (X, X%, x) 000000000000
(7,0,1),(1,6,1),(1,0,7) 00000000

0000000000000 0000000000000000000 x1+X%+x3=8000000
008000 3000000000000 00D0U0DOUDNOUDNOOOXx =10 x+x3=30000
000000000 (x=500000)00dUd0imputation0 00 0000COCOOOO

imputationd 00 0000000000000 0 (23/00v({23)=5000000000x%+X<5
0000000 (X%,%, %) 00{2,3)000000000000000 %+Xx=50000000000
(1,2200v({1,2) =4000000000x+%=40000000000000000000000



229

(1,3)00v({1,3)=3000000000x+%=300000000000000000000000
500000000 imputationd 0000000000 000000000000

02 00000 i@ =123) U000 0000000000000 000&; < & < azl0
00000000000 300000000000000000O0O0O0O00O0O 100000000
O0000000v({l) = 000000000 20 30000000000000000000
v({2) =0,v({3) =0,v({2,3) =000000000000 1020000000000000000 a
D00O0vi{L2)=a00000000V({L,3)=a0000003000000000000000
0000 00000000000 0vN=ag00000000000000DO0OO

O0000000000000000 (X, %, Xx) 0000000000

X1za Xi+X=a
X2>0 Xg+Xg>az3 X+ X +Xzg=ag
X3>0 Xo+X3>0

Xo=a3-X-X%<00 %>000000000000000 %»=000000000x; > a0
X3=a3—-x 000000000000C={(x0,a3-X):ap<x<ayj0000O

00000000000 000 3000000 as0000000 xOOOOOOOOOOoooo
000000000 10 xO00O0OO0U00O0O00000 30 xdOoooooooooooooooooo
20000000000000000002000000000000 30 000000000000
goodgagao

4.2.5 Exercises

1.000 200000000 inessenita0 0000000
00000000 OoOv({1)+vwN-{1) =v(NOODDODOODO0ODOODOO0ODOO 200000
N—{l}:{2}DDDDDDDDv({l})+v({2})=Zi2:1v({i}):v(N)DDDDDDinessentiaDDDD

2. 000000000000 imputatonD OO0 O0O0O0O0O0OO0O0O

(42 (L1

(0,0) (24)
00000000000 vwo) =0,v({1}) =8/5v({2}) =3/5v(N)=6000 00000 imputation
OD0000{(X, %) : X >8/5% >3/5X+%=60000000000000imputationd O
ggooooon

3. v(0) = 0,v({1}) = O,v({2})) = -1, v({3}) = L, v({1,2}) = 3,v({1,3}) =2,w({2,3})) =4,v(N) =5000
00000 30000000000 000o00
imputationD OO0 0 O {(Xy, X2, X3) : X1 =2 0,% >-Lxs> 1L X1+ X% +Xx3=5 0000000000
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00000 (5-1,1),(0,4,1),(0,-1,6) 0000000000000 00O00O00O00O00O0O
ooooQ

(5.-1,1)

X1+ X3 = 2
(1,-1,5)

(1,3,
Xo + X3 = 4

(0,4,1) (0,3,2) (0,-1,6)
v({1,2) =3, v({1,3) =2,v({2,3) =40 00000000000000000000000000
DDDDDimputationDDD(DDDD)DDDDDDDDDDDD

4. Defintion V(S) 000000 f0000 SOOO0OODOO0OODOOO WS)=f(IS)0O000
000 vO0O0OOOOOODO000000

(@OooooDacoooov({i)=0v({i,j)=av({l,23)=3000000 300000000
gooooaao
X+X=aX+X3=ax+x3=all0a=20000 1000 (1,1, 1)) 0000000a>20

gooooboogn

()0D00D0 abo0oOOov(i) =0,v({i,j)=awvi,k)=bvN)=4000000 4000
ooooooooood

(0000000000000 0000f(S)=vS)0000000000000000000
00000000000

5.i=1.,n000006=v(N)-v(N-{i})0000X}6 <vN)OODOOOOO0000000

6. 00000 SO0000v{(ijuS)=vS)00000000i00000 (N,vOOOOOOOOO
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OodUoooooodv{il))=00000000000U0UO0OO0OUOUOOOO(@oOoOOoOooD)Oo
0000000000 1000000 (X, X%,..%) 00000000x =000000000
(X1, X2, %) 000000000 YnX =vNOOODDOOOOOOOD 1000000
ODOV(N) = v({1}u{2,..n) = v({2..n) 0000S ={2,..nf000000000000
Dies X 2V(S)=v(N) =Yy 000000x=00000

.0000000 NOOPNQ=00000000O0O0 200000 N=PUQODOOOOOODO
goboobogoboooboboonoobg

v(S) = min{|S N P},|S N Ql}

000 (NhvOOOOOOODOOoOoOO0OO0oooooooooooooPOOOOOOOOOOO
0000000QUUUUODN0NUDUIU0D0ONUNUNUDO0O000NUO PO jOODOOOOQ
OkOOUOOOOUOOODOOUOODOOOUOO0O 10000000000000 mindj,kiO0O0O0Od0O
0oooooooooooboooonoooon

(@Pl=2/Q=200000000000
P={1,2,Q=340000000o0odv{o}) =0,v({i}) =031 =123,4),v({1,2}) =v({3,4}) =
0,v(f{L3}) = v({1.4}) = v({2,3}) = v({2,4}) = 1, v({1,2,3}) = v({1.2,4}) = v({2,3,4}) = V({1 3,4}) =
1,v(N) =20000000Uimputationd 0 0 O O {(X1, X2, X3, Xg) = X1 = 0, % > 0,X3 > 0,%Xq >
0X+X+X3+X%=200000000x+x=1(ePkeQUUiIO0OOOOOOOOO

OIPI=2|Q=30000000 10000000000
P={12,Q=1{3450000000000v{0}) =0,v({i}) =0 = 1,23,4,5), v({1,2}) =
v({3,4)) = v({3,5}) = v({4,5}) = 0, v({1,3}) = v({1,4}) = v({1,5}) = v({2,3}) = V({2,4}) = W({2,5}) =
1, v({1,2,3) = v({1,2,4) = v({1,2,5) = v({2,3,4})) = v({2,3,5})) = v({1,3,4}) = v({1,3,5}) =
v({1,4,5}) = v({2,4,5})) = 1,v({1,2,3,4}) = v({1,2,3,5}) = v({1,2,4,5)) =v(N) =2000000
O OimputationO O O O O {(Xg, X2, X3, X4, X5) : X = O(i = 1,2,3,4,5),Zi5=1xi} Ooooooooon
X+x >11ecPkeQ,u+X+X+x >2(ste Q000000 DODOOONOOODDODOO
(1,1,0,000 1000000000

(000 |P,IQOOC0D0O0DONODODO

200000000 (QUUDOO0 102)00300000 (CUOOO0OO W405) 00000000
000000000200 0000000000000000DOD0O0OO0DODOOOD 1000000
ooooooooo

V({i,k}) =1( =1,2 k =3,4,5)

Vv({i, KN =2 =12 j,k=34,5)

v({1,2,3,4,5)) = 3
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ooooood
imputationd O O O O {(X1, X2, X3, X4, Xs) : X = O( = 1,2,3,4,5),2?:1xi =3)]00000000
X+X%>1i=12k=345).,%+X+x>2(0=12]k=3450000000000000



233

4.3 Shapley O

0000000 nDO0O0O0OCO0100000000000D000O000DODOO00O0O0ODODOO0ODOO0
O0000000000000000100000000iImputaton00000000000O00OCOOO0O
googo

00o0o0000doUoooooooooO00ogoooooooDoooOOOoOoO0oU0O0 l1ogoooooo
000000000000 00000 i 00000000000o00igoooooooooooOoo
00000000000000000000000000000 ImpartAlD 000000000000
0000000000000 000000000000000000000000195300 Shapleyd
0000000000000000000Shapleyd 00000OShapley-Shubiki DO OO00DO000O00O
O00oo00o0OoOd0ooO0d0oDOoO0oOoOO00oOo00DOoD 400000 1000000000D0O0O

43.1 00OO0O00ShapleydOO

00000000D00000000000000000 42400 1000000000000080
00000000000000000000000000000000000000000000000
0000000000020 100000000000000103000000000000000
00000000000000000000000O0O0O0O0O0O0O00OO0

0000 ¢00n0000vOOOO00000000000 nd ¢(v) = (¢1(V), p2(V), ... ¢n(V)) 0O 0O
000000000000 ¢(WOOOOODOvOoOOOODD0O000000i00000000000
00000 ¢00000

moO000O0 Shapley 00O

1.000 Xien¢i(v) = V(N)

2.000 i,j00i,j0000000000 SO000 VWSU{i})=vSU{j)d000d¢(V) = ¢j(V)
good

3.000000 i0D0i0000D0D000D SOO00vS)=vSul{i)iooodOe¢((v)=00000

4,000 uwvdOOOOOOOOOou+V)=0¢W+oe(vyOOODO

00 1000000000000000000000000000Ogrouprationalityd 00020000
0000000000000 L, joooooooi,joooo000dooooo0ooooooooo3o
00000000000 i00000000000000oooo0ooo000oooooooooooonoo
O00i00000000000000000000000 4000000000000000 20000
gboooobogbobdooboboooboobobuoobbooboooboobbooboooboobo
ooooobdduvOooboooobOoooDbOoOvu+vOOOOoOObDOODODDOOOO
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m Theorem1l Shapley0OOO0OO0O0O0O0O0O 10000 ¢0000O0

0 0O0000OO0OOOOOO0O0ScNOOOOOwsOOOOOOOODODOOODOOOO0O0TcNOO

ogodoooooooooon
1 (ScT)

i (4.1)
0 otherwise

WS(T):{
00 3000i¢SO00 ¢i(ws)=0000000 20000,j000 SO00000¢(Ws) = ¢;(Ws) O
000001000 Swndiws) =ws(N)=10000000ieSO0000 ¢i(ws)=1/S/000000
OO0 cOOdO0do0odD ewsOOOOooooooooooooooooono

c/IS| (ie9S)

0 igS) (4.2)

¢i(CWs)={
0000000000 DO0O00OvOOOOUODOOOODODO0OOODOO csOO0O000OV=)genCsWs O
00 4.1)00000000o00000ooo0o0ooooU0 4000000000000 0000O00
O00000oouououoooooooooog
Cs
$i(V) = S (4.3)
ScN
ieS
O00000i00000000 SOO0000000D00DbOO00000 cs00DO0OO0DOOOOnO 40
00000 uvi0OOOO u-vOODOO ¢u-Vv) =¢U)-¢(v) 0D DO00D0O00000000000
(U=(u-V+VWOOOOOOOOOOODOOOOOOOO0O00000000000 csO (4.3)0 Shapley
00000000000 00ooooooouooooooogooosShapleyd000CooonO 100
gooooooooooooooooooo ZDDDDDDD(DDD(4.3)DDDDDDDDDDDD)D
000000 c 000000000000 VO V=gNnCsWsOODOOOOOOc=000000
0000000 TecNOOOO TOOOOOQOUOUUOooOoooo
cr =v(T)- ) ¢s (4.4)

ScT
S#T

OcrO0D00O0ScT,S+#TOOOO csO0O0O0O0OOOODOOOO

D csws(T) = > cs =cr+ Y cs =W(T) (4.5)

ScN ScT ScT
S#T

0000V=YenCsWs DOOOOOm
000000000vOoOOOOOO0OO00OO0OO0O0000O0000
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4.3.2 ShapleyO 0O OO

00 100000000Shapleyd 0000000000000 (44000000000 ¢cs000
00000 (4.3)0000 Shapleyd 0000 O
000000000000000 42400 10000000000

v({1h) =1 v({1,2) =4
vid)y=0 v({{2)=0 v({1,3)=3 v({1,2,3})=8
V({3 =1 v({23)) =5

DDDDDC{]_}:V({l}):1,C{2}:O,C{3}:1DDDDDDDDC{1’2}:V({1,2})—C{1}—C{2}:4—1—0:
3,13 =3-1-1=1C23=5-0-1=4000000000000000

CN :V(N)—C{l’g}—C{1,3}—C{253|—C{l}—C{z}—CB} =8-3-1-4-1-0-1=-2
ddddvooooooooooooooono
V=W +Wg +3W{1,2} + W13 +4W{2’3} — 2W{1’2,3}

ooooobooooa

—1+3421_2_920,41
VRS I T
¢3(v):1+§+§—§:2+g

Shapleyd 0 0 ¢ = (14/6,17/6,17/6) 0000 0000000000000 (00000 200000)0
Shapleyd 000 D0000C0O0000CO0O00O0O0OO0O0O0OOOO0O00O0OOO0O00OOOO00OOOO0
000C0O0OShapleyd 00D 0000000000000 (000 Exercise 1000)0

4.3.3 ShapleyOOOQO OO

O000000000000000 Shapleyd OO0 O00000000000000OO0OOO0OOOOO
gobbooooboboboooobbboooobbooooobobboooobbbooobbboooon
oooooooooobobobobobobbbbbbbbooddooooooooob b o
O000000000000000CShapleyo 0000000000000 00OO0O00OO0OO0OOOOOOOO
gboboogoogooooo

m Theorem2 ShapleydJ i=1,.,n0000000 ¢=(¢1,....¢n) 0000000000

sy = Y B0 yg) s iy (4.6)

|
SN n!
ieS

O000000000i00000000 SO00000oooo0wS)-vwS-{i)oooooooio
00000000000 S-{ij0000000000000000 ¢(vOOODODDODOOOiooooo
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000000000000000000000000i0000000000(S|-1)!(n-|S)!/n! 00
0ooooooo

000000000000000000000000000000 N 000 (00)00000000
0000000000000000000000000000i00000000 SO000000 (0O
00000 S—-{i}000000)00 [WS)-wWS—{i)]ooooon

000000000 S—-{(l000000000000(S|-1)!(n—|S)!/n00000000n000
000000000000 0000000000 S-{i}j000|S/-100000 ((S|-1)!'000)d0
00000000 n-|S|000000 ((h-|S)!000)00000000000000000000
O00¢(v)0OODOODOODDO000000000000000000000000000 0000000
00000000000000000000

00000000000 0000000 42400 10000000000000000 10000
00000 20/3=1/300000 v{1) =1000010 200000 200000000 1/600
000 v(L2)-v({2)=4-0=4000010 200000 300000000 /60000000
v({1,3)-v({3)=3-1=200001000000000 /300000 v({1,2,3})-v({2,3}))=8-5=3
000000000 1000000000000000000000000

1 1 1 1
¢1(V)—§1+64+62+§3—14/6

0000030000000000000000000000000000000 60000000
0000000000000 00000000000100000000000 1,2,3000000000
00000 100v1)=100000000000 200v(1,2)-v(1)=4-1=30000000000
00000 300vN)-v(1,2)=8-4=40000006000000000000 60000000
Shapleyd 00000 600000000000

googno
gd 1 2 3 g
123 1 3 4 8
132 1 5 2 8
213| 4 0 4 8
231 3 0 5 8
312 2 5 1 8
321 3 4 1 8
oo 146 176 176 8

m00 2000 00O (4.6)0 Shapleyd 000000000 0D0O0O0OO0OO0O0OOOODOOO 1000
0¢000000000000DOO0ODOD 1004000000000000000000 2,3,400
0020000000000000000C00000 1000000000000O0DO0DOOOCOOODOO
OvNNOOOOOOO0O0oooooooooooooooooooooooooooooooooooo
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000000 vN)OOOOm

4.3.4 000000 Shapley-Shubik 00 0O

Shapley0 O OO O0O0OD0O0D00000O0O0O0O000O000O00000O00OO0O0OO0OOOOOOOShapley
0 ShubikDODOO 195400 0000000000000 Shapley-Shubik 00000000000

goooooooooobooobobbbbbobbbboboooo0ooooooooooooooooo
gboooobogoobooboboooboooboobbooboooboobboobboooboobo
gogogooooooooboobooboobobbbbooogoggooooooooobooobobobobobobbobobo
000000000 10000000000 0000DOO0O0D0ODO00DODOo0DODDOOoO0ooOOoooDog

m Definition 00000 ScNOODODOWS)=00 vS)=1000000 (N,V)OOOOODOOOOO

000000000000 SO0OVWS)=10000000000wS)=00000000000000
0000000000000 000000000000000v000000000000000000
000000000000 000000000000000000000

000000000000000000000

1 IS|>n/2

(1) 00000000 WS) =
0 IS|<n/2

S=N
(2 00o0ooon vS) =
0 S#N
1 1eS
0 1¢5S

(3) 000000 WS) =

0000000000[wWS)-vwS—{i)]000 00 10000Shapleyd 000 (4.6)00000000
v(S)O v(S—-{i) 0000000000 100000000000000 100000000I0OO0
D000i000D0000000 SO00000000000 (4.6)00 [WS)-wWS—-({i)oooooon
Shapleyd (Shapley-ShubikiO) OO0 (4.6)0000000QQnQ

- 3 (SZDO-S) “n

n!
SO0
S-{iy 0O

0.0gboob0bo0obooboboobooobooboooboobobooboooowoooo
goooobogbbdooqquuobboobooobooobooboboo

V(S) — 1 (ZieSVVi > q)
0 (ZiESVVi < q)
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q=(1/2) W 00000000000000000

00000o0o00o000oo0odo 10,20304 0000000000000 1,234000000000
00000 (B0%00)00000000000000000000 w, =10w, =20,wz = 30,ws =40
0000000 gg=50000000000000000

000000 Shapleyd 00000000000 {2,4),(3,4,{1,2300000000000 (000
01000000000)0i=100000S={1,23000000WS)-wS—-{1))=00000
211! 1
¢1(V)=T=1_2

i=200000S=1{2,4},{1,23.,{1L,24000000wS)-vS-{2))=00000

112! 211 1

e TR TR

O000¢3(v) =1/40000i =400000S =1{2,4},{3,4},{1,2,4},{1,3,4},{2,3,4 000000
v(iS)-v(S-{4)=00000
ta) =20 v 320 = 2
41 4! 12
Shapleyd 0 O¢ = (1/12,3/12,3/125/12)0 00000000 3000000000000000000
000020 3000000000

4.3.5 Exercises

1.(1000000200000000) D0D0O0OO0OOOO0OOOOOOO0O0O0OO0OOOOOOOOO
00000000000 000000000000000000000000 200 300000
0000300 4000000000000000CUUODOUUOOCShapleyocOOOOOOO
000 Shapleyd DD 00 (DD0DO00 42400 2000)0
O000000v({0}) =0,v({1}) = v({2}) = v({3}) = v({2,3}) = 0,v({1,2}) = 30,v({1,3}) = V(N) = 40
O0O0O0i=100000¢(vVOOOOOOoooooao

111! 11! 210!
(bl(V) = ? 30+? 40+ ? -40=25

0000¢(V) =5,¢5(v) =1000000000Shapleyd O ¢ = (255,10)0 000000000
X1+X%>4000000000000000000 Shapleyd 0000

2. 00000000000 Shapleygn 0o odd

v{l) =1  v({L2}) =2
v0)=0 v({2)=0 v({L3)=-1 v{1,23)=6
v({3)) = -4 v({2,3})) =3



239

i=100000¢, (V) 000000000000

0'2I 111! 111! 210! 13
¢1(V) = -1+ 3 -2+ 3 -3+ 3 -3:3

0000¢(V) = 11/3,¢3(v) = 1/6 0 0000000 Shapleyd 00 ¢ = (13/6,11/3,1/6) 000 0

.(av0000000000Shapleyd O imputation0 0000000
MTONOODODDODOOOODO¢MWMOOXxeTOOMWT)(OOWS)OODODOOOO S#T)
00000000 O0OxeTOO VTN OOOOoOooooODOoOoOoOoOQoQ

0000000 n0O0O000 Shapleyd OO0 O0

ISI (1€9)
(@m@S) =
0 (1¢9)

i=1000001eSO000 SOO00OVS)-vS—-{1})=|S|0000000000000
S| - 1)!(n - |S))!
Z( )( )ISI

ScN
1eS

000j=2..n00000LjeSO000 SOO00O0OVS)-WS-{j)=10000000000
ooo

$1(V) =

b= 3 (S-S

ScN
1,jeS

000 Shapleyd DOOO0OO0OO0OO000O0

IS| (LeSOOO 2€S)
(b)V(S) =
0 (@e¢sO0O 2¢S)

i=1000001eS002¢S0O00SO0O00OVS)-VS-{1)=|S|0000000000

oo S 1) S
3 (S-D-s) g

ScN
1e€S,2¢S

i=2000002eS001¢S000SO0O00OVS)-VWS-{2)=|S|0000000000
ooo

$1(V) =

by 3 (SZDIO=S) g

|
ScN n:
2eS,1¢S

000j=3..,n00000LjeSO002jeSO000SO000VS)-VS—{j})=10000
ooooooooo

Z (ISI- D}(n—IS])!

n!

¢i(v) =

. ScN |
1l,jeS or 2jeS
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000 Shapleyd DOOO0OO0OO0OO000O0O0

IS| (1eSOO 2€YS)
©VS) =
0 @¢soO0O0O 2¢5S)

i=1000001,2eS000SO0000VS)-vS—-{1)=|S|0000000000000
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93(V) =35 + 65 + 2% = 50

i =400000{1,2,4},{1,3,4},{2,3,4},{1,3,4,5}, {1,3,4,6}, {2,3,4,5}, {2,3,4,6}, {1,3,4,5, 6},
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4.4 [

n000000000 100000000000000000Schmeidler(SIAM J. Appl. Math, 1969)
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0000000300000 0000000000003600000 —3000000 =60000 000000000
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000000000000 000000000000000000WA) =vB) =wC) =00
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O00000000x00000000000000{L,2}0 {2,3l00000000000000
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5. Exercise 4.3.5.2 000000
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0000D00000(0,92,72)0000000000000 (0,92,72)0000

S \S) e(x, S) 0,4,4) (0,9/2,7/2)
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B (1¢S

@m=3,f(x)=x0000shapleyg00O0CO0O
i=100000000000000

210!
_2—1 2=1
$1(V) 30 K
i=200000000000000
111 !
$o(V) = 11 1+%§-1 1/2

i=300000¢s(v) = 1/200000 Shapleyd (1,3/2,/2) 0000

(bm=3,f(x)=x0O0O00O0D0O0000
Shapleyd O (1,1/2,42)00000000000000000000000000 (1,2,%2)00
0o

(00O mO f(ODOOOOShapleyd 00O0O0O0O0O0OO000O
i=100000000000000

11(m - 1)!
M+ 1)!

2o

i=200000000000000

$1(V) = -fﬂh«?PKm—aKm+DLfQM~~

1! (m 1)!
+1)!

(m+ 1)
D,

i=3,..,n00000000000000 Shapleydo0 0400

bal) = ( )2'(m 2)1(m+ 1)) +-

()ooOooDOo0oOoUDOUDUODOOOOOO

100000000 200000 ABOOODODOOOOOODO 1000000000000 2000
0o CDOD0O0O0ODOODODODODO0O0O0ODOO0O0ODO ABOODOOOOOOO 10,20000 (O
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0000)000000000000000000 CO0O0O000 ADOO 14000000 BO
00 230000000C00000 DO AOQOD 180BO0OO 250000000000
(@oOo000oooooooooo

A0 BOOOOO COOO DoOOOoOoO0oO0OoOoOoOoOoO0oOoDoDoooOoooooooogooo
gboooobogbog

v(0) = v(A) = v(B) = v(C) = v(D) = v(AB) = v(CD) =0
V(AC) = v(ABC) = 4

Vv(AD) = v(ABD) = v(ACD) = 8

v(BC) =3

v(BD) = v(BCD) =5

v(N) =11

(b)Shapleyp OO o QOO
A0O0O0OO{AC}L{AD},{ABC},{ABDL{ACDL,NOOOOOOWS)-WS-{A)=00000

112! 211! 30! 7
¢A(V)=T(4+8)+T(1+3+8)+T6=§
BOOODOO{BC,{BDL{BCDL,NOOOODOOWS)-WS—-{B)=00000
21 310! 11
o(V) = — (3 5)+ -5+ ar 3=€

COOOOO{AC){BCL{ABC,LNOOODOOWS)-WS—{C)=00000

21 310! 5
¢C(V)—— (4+3)+ -4+ TR 3—3

DOO0OOOO{AD},{BD},{ABD},{ACD}L{BCD,NOOOOOOWS)-V(S—-{C))=00000
¢D(V)—— (8+5)+ —1 (8+4+2)+¥ 7=4

0000 Shapleyd O ¢ = (7/2,11/6,5/3,4) 0000
(oooooo

11. Exercise 4.3.5.14(@a nO 000 O0O0ooOoOO (0O :v=(n/21,1/2,..,1/2))0
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Al 0O0O0O0O

O00000000000000000000000000000000000@UOO0Oo00on
00000000 @uoldoiodo0uooUooUooU0Udo0ooUoDUoooooooOgo
0000000 0d0d00oDoD000doooooooooDoooooooOnDoOOdyvYon Neumannd
Morgenstern(1947 0 0D 0000000 OO O 0O 0O O Savage(1954) Blackwell O Girshick(1954)1 Luce
0 Raiffa(1957) 0 0 00 0000000000000 000Owen(1982) Shubik(1984 000 00O
O00000000000000OdOdFshburn(1988p 00000000 0oOo0oOoOoUoooooooo
goooooonog

a,ol000000000000O0000000000D000000OU0O0bODOoOobLOOoOooOoOon
do0dooooooooooooooooooomoooooooboooooobooooooooon
O00000o0DO0oDO0DOoo S00000o0oD0o0o0ooOoUooUooooooooooooDg
000D0000o00o00ooDooo2000000000000000O000D0D0OO00O0O0DOOOOd
0dodo0ooooooooooooooooooooooooooooooobooboobooooboaoo
dodoooooooooooooooooooooboooboooooo@muooooooooon
doodooobooooobooobooooooodoooooooouooooooooooooon
Oo000ddooboooooboooobooooooooooooooooobooooobooooon
do000ooobooooobooooobooooooooooooooooooooooooooooon
gooooao

POO0O0OO0ODOOOCOUOUOUOOPRP,P,O000CCOO0O0OO0 (QOOOPOO)OOOO

m Definiton PO00000C0000000PO0000OO0OOOODOPOOO0O(@MO)0O0O0ODOOOO
ooogono

(d (0O00)P,P,0POOOOOP, <P,000P,<P(000000)0000
(b) (DO DO)P, P, P30 POODOP <P, P, <P;000P,<P;0000

Pi1<P,00 P,<xP,0O000P,P,O0000000000P=P,00000

0000000000000000000000000000000 £00000000000000
0O0P,<P,,P, 2P, 0000000000 P,00P,0000000P,<P,0000P,=P,000
P.O P,OOOODOOOOOOOP, <P, 0000000P, 000 P,00000000000000
ooooooO

0ooo0O0ooo P,000 P,000000000O0O0O00O0CO P,O000P,000000000
0000000000000 000000 3000000000000000000000000000
0000 P,000 P,00000000C000000C0000000C0O000P, 01000000000
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O0O0P,0000000000CO000O0OOCO00O0OO000ODOOO0O0OODOOODOOODOOOOOO
gbooboooboobooboobobobobobobobobobooboobooooooooon

m Definition 000000000 PO0000D0ODOO0O0OO0ODOOODOOOOOO® 0000

(00D0000000000000000000000000000DN)

P,P,,P;000000P, 000 1/20P, 000 1/40P;000 140000000 pO0O000O0OOO
000 ppnpe 0 P*O00000000000CCOO0000 POOD 1000000 pd0oooon
00 POOO0 10000000 POOOOOOOOOPOONONONONONONONONONONONONONONONONOOOOP
0P 00000000000000

pLP J00000<A<10004p+(1-A)p00000000000000000000 A0
000000000000000000 PO0O0O0O0000 mOO0O0O0OOOOO p, 0000000
p+(1-)p00P 0000000000000000000000 10000000000

0MO00000C0O0O0PO0O00O00 " 00000000000000000000® 00000
000000000000000000000O0O

m Definition OO000OOCOLO000O0O0O0OO0O0O0OOO

O000DuP)ODOOD0O0OpeP U000 uwPOOOODDOODDODOODODOOOODDOOOUWO
00000000000 P 000000000000 000p eP O00P,Py..,PkOO0D00OO
A1, A2,... (420,24 =1)000000000000000 pO0O0O0O00OO0O0O0OO0OOOOODOOO

k
u(p) = Y Au(Py) (A1)
i=1

000000 ud0O0oP 000000000000000000
P1= P2 = u(p1) < u(p2) (A.2)

goooobbooobooboboooboobboobog

000000000000000000000000®P 000000 =x00020000000
P O0000O00ODOvuOCOO0ODOOOOODOOODOODOOOODOOUOOODOOUODODODOODODOOO
20000000000000

mAlL p,Lpq0 P 00000<A<100000000000

pL<p2 &= Ap1+(1-A)g=ap2+(1-2)q (A.3)

mA2. 000 pLp.qeP 000000000000

PL<pPr=71>0st. pr<Aq+(1-2)p> (A.4)
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godoooooood
PL<pPr=71>0st A0+ (1—-)p1< P2 (A.5)

O0AlO0DO00D000O000O0D00DA0DO0O0DOO0DOOO0OOO0O0D0O00000 q0O0OO0
O0000 p0 p 000000000 p 000000000 p,0000000000D00000O
0000000 pp0 00000000000 00000D0000000000000000000
0000000000000 00000p, 000 pp00000000000A000D0O00O0DO00
A=101°000000000Ap +(1-A)q0 Ap+(1-A)qU00000000000000OOO
01000000000000000000000000000000000000000 420 10
0000 1420 300 100000 pp 0000000 2000 p,000000000O0qO000OO 50
00 A=1/200000000000000000000000000000000000000O0000
Ap+(1-A)qO0O00 Ap+(1-A)qO 000000000

00 A2000000000000000000000000000 (A4)002=0000 p;<
A9+(1-)p, 0000000000 A0000000D000D0O00DO000000Q000000000
O00000000000000000000000000000p; =100 000 p,=10000 00O
q=0 000 p;=100 00000000000000000000000000 100000000
00000A>00000000A000000001-2010000000000000000000
0000D0000000000 (A4)000000000000000000000000000000
0000000000000000000000000000000 (00000000)0000000
D000000000000000000000000000 A200000000000000000
000000000000000000000000000000000000

mTheoreml £ 000000 <0 AlDA20000000(A2)0000PO0O0O0O0O0O0O0O0O ud
gboobooobogbuddbboobuoobboobobooboo

00 uP)O (A2)000000000000ab>00000000 G(P)=a+buP)000 (A2)0
00000000000000000000u000000000000000000000

00100000000 1020000 P*00000000000000P000000000000
00000D000000000 20000 200000000000000000000000000
00000000000000000000000000000000000000000000000
000000000000000000000

goooobogn

0000000 (oO000000000000000000)00000000000O00O000go
00000000000000000000000000000000000000000000 (A1)
O0000000000000ub0000000uP)=+c000000 pO00O000OO0OOOOOO
gooooobogoo
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PO0D00000 UWP)DOOPL,P,,..0000000000 A3,42..(8%,4,=1)00000 pO0O
000000000 u00000000000000

u(P) = i AnU(Py) (A1)
n=1

uPPOODOO0OUDO0DO0ODO0OO0ODO0OD0OuUWP,) 22000000 P,P,,..000000000OO0
n=12..,.0000002"0 P, 00000 pO0d00dO0O0C0OOOOOOO

u(P) = > 27"u(Py) > » 272" = o
n=1 n=1
000 p0O PLOODOODOODOODOOOOOOOO
bbb oo oouo

goooobogoo

Exercises
1. (Al)D0O0OO0ODO0O0O0OO0O00O0O00O00ALDO A2000000

2.P={P,P,)000A200000 AlO0ODO0D0 P 00000000000

3.P={P1,P,,P3} 00 0ALO0000D0 A2000000 P 0000000O00OO0O
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A2 OJO00O0OO0O0O0OO0

m Definitionl O000 (X, dOOOOOODOOOO XO00O0O00O xy,ze XOOOOOO 400000
000 XxXO000OOOoooodooooooo

(1) VX, d(x,x) =0

(2) Vx#y, d(xy)>0

(3) Vx.y, d(x.y) = d(y, x)
(4) d(x,y) <d(x,2 +d(zy)

m Definition2 0000 (X,dOOOUOOOOOOOO XO00OOOOOoOoOooooooooooogoo
0000000000 X, € X(Ma%smd(Xm, X)) > 0(M—0))000000d(%,X)—>0Nn—-00000
000 xeXOOODOODO

m0 OXx=(X,..,xn)ONODOODODODOOODODOOODO RNOODODOOODODOOOOOOOOOOOO00O
gooboooo

1.00000000 X = VX2 + X2 + -+« + Xn2
2. Ll oog ||X|| = |X1| + |X2| + -+ |XN|
3.000000 (Xl = max|X, [Xal, ..., [Xnl}

O000000000 %,eXO0OOOOOOO 100 (%] — 00000000000 |Ixll—»000
000000000000000000000000 (XdoooO

m Definition3 OO0 T: X > XOOOOO xyeXODODODODODODODODODOOOO0OO c<1(ooooQ

D)DDDDDDDDDDDDDD
d(Ty, Ty) < cd(xy)

m Definition4 0 xe XOOTx=x00000 T:X->XO0O0OO0O0OO0OOOOOOO

000000 000000 (XdOOODOOO TOOOO 10000000000000000
yeXOOOOOOd(TY,x)—0n— 00000

m00 c<10TOODOODOODOOOOOAT?,Ty)<cdTy,y)DOODO0DO0OO0DO000 nOO0O
O d(T™y, T <c"d(Ty,y) 0000000 n>000000000000
d(T™y,y) < d(T™1y, T"y) + - + d(Ty, )
<€+ + 1)A(TyY,y) (*)
<d(Ty,y)/(1-0)
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00O n>mUO00000000DO000O0DOO0O0OO

d(T™ly, T™y) _ cMd(Ty.y)
l-c - 1l-c

d(T™y, T™y) <

O000{TY)000000000000000000TY 5> x(h—>e)0000000 %eRROOOO
% 0O0n—->000000000000000000000

d(T X0, o) < d(T X, T"y) + d(T"y, Xo)
< cd(T™ 1y, xo) + d(T"y, X0) — 0

0000d(Tx,%X)=0000000000z000 10000000 d(X,2) =d(Tx, T2 < cd(X,2) O
d(x,2=000000000 100000000000 ™

m Corollaryl OO0 yeXOODOOODOd(TM,x) <cd(y,%)(xd TOOOO)OOOO
m 00 d(T", xo) = d(T"y, T"Xo) < c"d(y, Xo) =
mCorollary2 000 yeXOOOOOOd(X,TY) < 15d(Ty,y)(%0 TODOO)ODOOO

m00 (x»)000ON—->ood0O000dMX,Y) <dTy,y)/(1-c)00000O0O0O0d(X,TY) < cd(X,y) <

cd(Ty,y)/(1-c)m
DlDDT”yD xoUOOooOoooooooooooao ZDDyDD TyDDDDDDD TyD Xo O OO
gooogoood

s 60001000 ODOOOOOODODODODODOObDOOODbDODbOODOOO

mlemma ABOOOOOODOODOODOOOOOOOOO
[Val(A) — Val(B)| < maxja;j — bj|
ij
m00 z=max;la; -b) 00000000000 1,j0000 by <a;+2z0000Val(A)+2z=
Val(aj +2) > Val(B) 0 0000000 Val(B)+2z>Val(d) 0000000000

m00 1000 TO Tx=yyk=Val(AWX))k=1,..N)DODODODOO0DODODORNOORNOODOO
OARXODOD.600(10)000)0TOOO0DDDOO00 Xl =max{x :k=1.,NO0O0OOOO
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O0c=1-s0000000000C00000O0OODOO

N N
IT X~ Tyl = max|Val(a; ¥ + ; P;;®x) — Val(a; ® + Izl] Pyl

N N
() - (
< Tlaix| Z Pij "% IZ; Pii kvl

=1

IA

P 1% —yil

M=z

max
ki &

[

N
(Y% —
s(rgigx;m Jlix =il
= (1= 9~V

00 (6000000 c=1-s01000000000000000000000000Tv=vO0OO
001000000 vOOO0DODOO0O0O0000000 100 (90000
0000000000000 000000000000000000X% = (P, ..., pn)(pkd O
0D AYVWOOOOO)OOOOOOOO0O0OO000000000000000000000 kOO
00000000000 0000000000000vKOODOODOO0000000000000000
D0ONn0O000000D000O00NIDO000000000000n0000000000000000
000000000 &®O000000hOD0DO0O00000)00000a;®+3,P®0Ov)o0o0
D00x 000000000000000000 vk OOOOOOO0O000000000000000
D0000D0000Nn000D0000D0000000000000

N
v(k) - (1—9)" rmx; PiOv(l) > v(k) - (1 - 9" maxv()

0000000000 (7)0ooo 1-9"M/sO00000000D0000000000D0O0O000O0O
gooooboobobooooo

vk - (1-9" mlaxv(l) -(1-9"M/s
oo nODOOO0O0OO0OOOO0O0O0OOOOO0O0OO0ODOOO0O0O0O00000n V(k)l]DDIZIDDEII:I

0000000000000 0o0ooo0ovkOOOooo0o0o0ooo kooooooooooooooo
gooooboogn
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A3 DU00O0o0oooooobood

LE.J.Brouweld 000 OD0OD0OODODOODO0ODOOOOODOODOODODOOCO COOOOOOT
000000 zeCOOT(=z00TOOODOODOOOOOO

mBrouwer 000000 COOODODOOOOODOODODOODOOOODODOOOOOTDOCDO
O000000000000000000T(@=z20000000 T(2=z000000

000000000 O0KKuga(1974)0 0 O 0O O O Brouwer's Fixed Pint Theorem : An Alternate
Proof(SIAM Journal of Mathematical Analysis,5, 893-897Y1 U 0 0O 0 00 O O O Y.Kannan(1981)1
An elementary proof of the no retraction theorem(Amer. Math. Monthly 88, 264268.Lax(1999)1
Change of variables in multiple integrals(Amer. Math. Monthly 106, 497-50M)0 0 O O

0000.21000000n000000000O0O0CO0O0O0 X,..,.X 00000 (XxO mg>1
00000000000000 X%={1,..m000) 000000 kOOODOOO0O0O0O0OX 0000
ggd

My
X = (P = (Pis o Pom) S P 2 0 (=L, me, D pii = 1)) (A1)
i=1

0000000000000 X = (ig,..in)(Yji; € X)) 0000000 kOOODOO0O0O0O00O00
Uiz, o)k = 1,..,M) 00000000000000000000000 (g, Po)(Pj € Xi*(j =
1,..,n)) 0000000 KkOD00D000000000000 g(p,...pn) 0000000000

my m,
ok(P1, - Pn) = Z e Z PLiy - PrjnUk(iz, .o in) (A.2)

=1 in=1
00000 kO p000000ieX 0000000000000000 kOOOOO0OO0O0O0OO0O00OO
00000 gpe,...pa) 000000000

gk(pla eeey pn“) = gk(p].’ eeey pk—l’éi’ pk+l’ ceey pn) (A3)

§0000100i0000000000000(PL,...Pn)0000000 ge(pe,...pal)0000000

goobogoooo
M

Ok(P1, > Pn) = D PriGk(Pa, - Puli) (A.4)

i=1
ooooooood (pn,.-.p)00000 k=1,.,n0O0ieXO000000000OO0O0OOOOOO

good
9k(P1, > Pll) < gk(P1, --.» Pn) (A.5)

m Theorem O0O0O0O0O0OOONOOODOOOOOOOD100D0OOOOCOOO
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m00 0O KkOOOOOX'OmOOOOOOOO0OOOOO0O0O0O0O00000000000 C =
X x---x X 00Y, mO0O00D0000000000000000000002=(py,...Pn)€CO
0000COO0COO000 T(000000000000

T@) =7 =(py. . P) (A.6)

Pki + Max(Q g(Pa, -, Pali) = Gk(P1s -+ Pn))
1+ 37 max(Q gk(pe, -+ Polj) = G(P1 ---s Pr))

Pei = (A7)

i 2000000000 XX p,;=100000000000000Z7eCO000000000 (2
000 g(P1,-Pn) 00000000000000000Brouwerd000000000T(Z)=200
00000 Z =(0,--0) €eCOD0D00D0000 (A7)000000k=1,.,n0i=1.,m000

gooooooood )
i = ki + max(Q gk(Z1i) - o(Z))
qi

1+ 37 max(Qok(Zl)) - k(@)

(A.8)

(A4 00 g(2)0 g(zl) 00000000 0max(Qu(Zl)-g(Z)) =0000000 g, >000000
D000100i0000(EZI)<g(z)000000000000000 (A8)0 2T max(Qg(Z1j)-
() =000000000000000kiD0O00 f(Z]) < g(zZ)D000OA5) 000000
Z=(0h,..0q)0000000000000000m

mRemark T(700O0000z=(py,...p)00z0 TOOOOOOOOO0O0O0000000000O0O
0000000000000 0000000{z:T@=20000000000000 T(@=z000
00000000000000000000000000000000O0TO000000000000
0000000000000000O0
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